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30 ~ 39 Al 100.0 62.6 26.4 36.2 354 2.0 1.7 0.3
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<2016>
bt = 17.8 62.9 27.1 53 2.7 2.1 10.5
<2018>
bS] = 18.6 63.4 27.2 8.1 3.1 1.3 7.7
T AME 2) 17.2 61.5 27.1 9.7 2.7 1.1 8.0
=0 E(8HE) 253 69.3 27.7 3.0 42 1.9 6.8
et Xt 17.2 59.9 32.1 5.9 23 1.7 9.2
of X 22.8 71.1 16.7 12.9 47 0.4 44
= = 0| st 15.3 71.8 52 13.2 10.8 0.7 1.6
= = 23.6 76.0 9.7 9.4 47 0.9 33
inl = 20.0 65.8 26.0 8.1 25 1.3 8.4
= o & 17.3 54.0 415 6.0 0.7 1.5 10.4
H 2 2 g 16.9 50.1 44.1 6.2 0.6 1.6 11.3
Ab S| 16.0 56.6 43.2 3.8 0.6 1.6 11.2
M Bl A ooy 21.5 63.0 28.5 10.0 1.6 0.9 7.8
= o of 26.9 80.3 18.4 1.4 4.8 1.6 1.8
Il s & =2 19.9 63.9 25.5 8.0 22 0.9 10.0
ot = 18.1 62.9 33.0 5.2 2.1 1.0 8.8
Sl = 18.8 65.5 24.6 7.8 3.4 1.2 7.0
= Bt = 19.1 59.1 222 14.8 4.2 1.7 73
<=3 2>
<2016>
bS] =2 2.1 56.2 41.7 3.2 0.9 1.6 -
<2018>
kS| 2 2.0 48.1 48.0 2.7 0.4 26 -

Bl

21) B OtR=E o o XtEHDJE SAIO BRI &0 A= BRI JALLZ, Tz 40

100%E 82 =& U

rr
=
ke
10
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o

oo
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3-1. JtAF 2EH0l Tfsh Aol
£l 1 %)
2010 | OI0| |ROI0I F2 | ZEEH | B0l | GBO F2 | LEHO
Az = | @mc=z | amm 2 €| F £ | &N | m=mo=
Moo |YEE 2Y 2olT 22| Moo
<2016>
& = 100.0 43.8 43 39.5 53.5 2.7 2.1 0.6
<2018>
& = 100.0 38.4 3.8 34.6 59.1 2.5 1.9 0.6
S ANE 2) 100.0 373 3.5 33.8 60.1 2.6 2.0 0.6
SHE(SHEE) 100.0 43.9 53 38.5 54.0 2.1 1.7 0.4
=4 Xt 100.0 42.7 52 37.5 54.6 2.6 2.1 0.6
0] \; 100.0 342 2.5 31.7 63.4 2.4 1.8 0.6
13 ~ 19 A 100.0 11.2 0.9 10.3 86.0 2.8 23 0.5
20 ~ 29 A 100.0 15.2 0.6 14.6 81.5 33 2.5 0.8
30 ~ 39 Al 100.0 30.0 1.7 28.3 68.0 2.0 1.6 0.4
40 ~ 49 M 100.0 44.5 34 41.1 53.6 1.9 1.4 0.5
50 ~ 59 Al 100.0 49.6 4.5 45.1 47.5 3.0 2.2 0.8
60 Ml O & 100.0 54.4 8.1 46.2 433 23 1.9 0.5
65 M 0 & 100.0 55.8 9.6 46.2 42.2 2.0 1.6 0.5
= ZE 0| of 100.0 46.0 8.4 37.6 52.5 1.6 1.2 0.3
= £ 100.0 37.0 4.5 324 60.2 2.9 2.5 0.4
) = 100.0 383 3.5 34.8 58.5 32 2.5 0.7
& 0 & 100.0 36.3 2.3 34.0 61.7 2.1 1.5 0.6
1008+ O et 100.0 42.6 7.3 353 55.4 2.0 1.7 0.4
100 ~ 2002+ 012+ 100.0 39.6 5.0 345 57.9 2.5 1.9 0.6
200 ~ 3008+ Ojet 100.0 37.5 33 342 59.8 2.7 2.2 0.5
300 ~ 4008+ 0| et 100.0 38.0 3.0 349 59.6 2.5 2.0 0.5
400 ~ 5008HA Ojet 100.0 36.5 32 333 60.7 2.8 2.0 0.8
500 ~ 6008HA O] et 100.0 39.8 2.6 37.2 57.9 23 1.7 0.5
6002t O & 100.0 36.8 2.9 339 60.7 2.5 1.8 0.7

- 55—



3-2. JtAL =&l T

rol

HALEN (19A] 0]4))

(S : %)
" g0o10] g0o10| 2010l =2 | B84olAH | g0l |JH0| =52 | YHO|
A = ¢ ®mo=z | &N |2 g = T | &N |@NoR
oo | HEE =Y C eI = I
< ®H>
<2016>
bS] = 100.0 78.9 24.0 54.9 17.8 3.3 2.7 0.5
<2018>
bS] = 100.0 76.2 21.9 54.3 20.2 3.7 2.9 0.8
S AN(E =2B) 100.0 76.1 21.3 54.8 20.4 3.5 2.8 0.7
sHE(SHR) 100.0 76.6 24.4 52.2 19.0 44 3.3 1.1
19 ~ 29 Al 100.0 51.1 9.3 41.8 44.9 4.1 2.9 1.1
30 ~ 39 Al 100.0 67.5 14.2 53.3 29.4 3.1 2.6 0.6
40 ~ 49 Al 100.0 78.2 18.7 59.5 19.3 2.5 2.0 0.5
50 ~ 59 Al 100.0 79.5 24.9 54.5 16.8 3.7 2.9 0.8
60 Al O & 100.0 77.8 26.9 51.0 17.4 4.8 3.7 1.1
65 Al Ol & 100.0 78.1 28.1 50.0 16.8 5.1 3.8 1.2
7 o 100.0 76.5 21.2 55.3 20.3 3.2 2.6 0.6
A
3 H s = 100.0 74.9 24.8 50.0 19.5 5.6 4.1 1.5
<8 02>
<2016>
bS] = 100.0 79.6 28.4 51.2 17.7 2.7 2.3 0.4
<2018>
bS] = 100.0 77.8 26.9 50.8 19.5 2.8 24 0.4
T AN(E 2) 100.0 77.6 26.6 51.0 19.7 2.7 24 0.4
sHE(SHR) 100.0 78.6 28.6 50.0 18.4 3.0 24 0.5
19 ~ 29 Al 100.0 58.3 15.1 432 35.9 5.7 5.3 0.4
30 ~ 39 Al 100.0 71.8 18.9 52.9 26.1 2.1 1.9 0.1
40 ~ 49 Al 100.0 80.6 27.3 53.3 17.5 1.9 1.7 0.1
50 ~ 59 Al 100.0 80.1 30.4 49.6 16.8 3.1 2.6 0.5
60 Al O & 100.0 79.8 30.9 48.9 16.7 3.5 2.7 0.8
65 Al Ol & 100.0 80.0 33.5 46.4 16.4 3.6 2.6 1.0
Z o 100.0 73.2 23.7 49.5 23.5 3.3 3.0 0.3
Aoy
3 W om = 100.0 82.3 30.1 52.2 15.5 2.3 1.8 0.5
F 1) B2 AD JUs IR(FELEE LE)UA 19M 014 'S '201'0F SEHst
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=) ©= =
4. 222 SHOZF)
(E+9I © %)
JRFE 220 SAHR
=0l
Ao L= 2 ol Z01&D T ("o , | R2dw
A== = eVl 1! = 2
2 yags | guas & A (&0 oS | Fy | T2 e
ME tel) | (e a4 US
<2016 >
| = 100.0 55.6  100.0 8.7 91.3 100.0 12.1 10.0 7.1 68.2 2.7
<2018 >

| = 100.0 582 100.0 8.0 92.0 100.0 12.0 8.1 7.0 69.5 33
S AE =) 100.0 61.6 100.0 7.0 93.0 100.0 114 7.7 7.1 70.6 3.1
SHE(SYR) 100.0 42.1 100.0 14.7 85.3 100.0 16.1 10.6 6.3 62.4 4.6
= \; 100.0 61.0 100.0 8.2 91.8 100.0 12.6 8.6 52 70.2 34
0] Xt 100.0 49.9 100.0 6.9 93.1 100.0 10.1 6.2 13.2 67.4 32
13 ~ 29 Al 100.0 97.6 100.0 3.7 96.3 100.0 8.4 59 10.0 74.4 1.2
30 ~ 39 Al 100.0 95.8 100.0 6.3 93.7 100.0 6.8 6.5 6.9 79.4 0.4
40 ~ 49 Al 100.0 87.1 100.0 8.4 91.6 100.0 12.0 7.3 6.0 72.8 2.0
50 ~ 59 Al 100.0 56.7 100.0 9.9 90.1 100.0 17.1 104 6.3 61.2 5.0
60 Al O & 100.0 13.7 100.0 11.5 88.5 100.0 183 13.0 8.9 434 16.3
65 Al O & 100.0 7.3 100.0 11.3 88.7 100.0 19.8 13.5 10.2 332 233
= & 0| &t 100.0 10.1  100.0 13.7 86.3 100.0 20.5 17.5 7.7 38.2 16.1
= = 100.0 28.2  100.0 12.7 87.3 100.0 18.1 12.3 7.9 53.6 8.2
) = 100.0 62.4 100.0 9.1 90.9 100.0 133 9.1 6.5 67.4 3.7
tH £ 0l & 100.0 79.1  100.0 6.4 93.6 100.0 10.2 6.6 7.2 74.0 2.1
8 2 & e 100.0 80.7 100.0 4.9 95.1 100.0 8.9 6.3 7.9 74.6 24
Al £ 100.0 84.3  100.0 5.7 94.3  100.0 9.0 6.6 6.5 76.0 2.0
MBI A EOY 100.0 67.1 100.0 7.4 92.6 100.0 114 73 8.3 69.5 3.4
= 0o ¢ 100.0 26.1 100.0 30.0 70.0 100.0 29.8 14.9 3.7 423 9.4
sk ' 100.0 58.9 100.0 10.7 89.3 100.0 15.7 10.2 4.8 65.2 4.1
1008+ Of et 100.0 253  100.0 5.7 94.3  100.0 9.7 9.7 9.7 66.3 4.6
100 ~ 2002+ 018+ 100.0 47.3  100.0 10.8 89.2 1000 128 10.0 8.7 64.3 4.2
200 ~ 3002+ 0I8H 100.0 643 100.0 10.5 89.5 100.0 13.6 8.1 7.2 68.1 2.9
300 ~ 4002t 0ICH 100.0 69.0 100.0 7.6 924 100.0 11.2 8.2 5.8 71.0 3.8
400 ~ 5008+ 0I2H  100.0 71.6  100.0 6.6 93.4 100.0 9.9 8.7 6.6 71.5 32
500 ~ 6002t 0I8H 100.0 75.1 100.0 6.2 93.8 100.0 14.0 59 5.0 72.8 2.4
6008HR O & 100.0 75.9 100.0 5.4 94.6 100.0 11.9 6.0 6.6 72.9 2.5

F 1) B2 B B AIROI2IE MED s B

2) JIE A 2
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0" AL L= | Ols E£= o o= 2 [e=]
A 2 el | o v 2 A =€ X4 AAR B
<2016 >
bS] = 100.0 8.8 8.7 2.3 27.5 52.6 0.1
<2018 >

bS| = 100.0 75 7.4 2.3 27.2 55.5 0.1
S AMEs 2) 100.0 7.0 7.1 2.3 26.5 57.0 0.1
=oE(8HE) 100.0 10.9 9.3 23 31.6 45.8 0.1
o Xt 100.0 8.5 8.3 1.2 27.8 54.1 0.1
of Xt 100.0 4.0 44 6.0 24.9 60.6 0.1
13 ~ 29 Al 100.0 1.6 1.5 1.2 7.2 88.5 0.0
30 ~ 39 Al 100.0 3.2 44 1.6 14.5 76.2 0.1
40 ~ 49 Al 100.0 7.2 8.6 2.1 29.2 52.9 0.1
50 ~ 59 Al 100.0 12.1 10.2 3.2 41.9 32.6 0.0
60 M O & 100.0 17.2 12.0 3.9 42.4 23.9 0.5
= & 0| st 100.0 17.7 15.3 5.4 45.1 16.3 0.2
= = 100.0 14.1 10.9 4.0 38.7 31.4 0.9
il = 100.0 7.9 7.8 24 30.6 51.3 0.0
= 0 & 100.0 6.2 6.5 1.9 22.9 62.5 0.0
2 22 100.0 6.7 7.2 22 24.8 59.1 -
Ab (=] 100.0 5.8 5.8 1.5 24.5 62.2 0.1
A OHI A B DY 100.0 6.4 7.4 2.8 26.3 57.1 -
= o ¢ 100.0 24.6 13.9 1.5 35.4 243 0.3
s & 2 100.0 8.8 8.4 2.0 32.7 48.0 0.1
1008+ 0|8t 100.0 6.1 5.8 3.1 17.2 67.6 0.2
100 ~ 2008+ 0| Bt 100.0 7.1 7.0 3.7 26.4 55.5 0.3
200 ~ 3008+ 0|8t 100.0 7.8 6.6 23 24.9 58.3 0.1
300 ~ 4008+ 0|8t 100.0 7.6 7.3 1.7 28.4 55.0 .
400 ~ 5008+ 0] Bt 100.0 6.5 6.8 2.1 32.4 52.3 .

500 ~ 6008+ 0|8t 100.0 7.8 7.1 1.3 31.3 52.7

6002H2 O At 100.0 8.9 10.7 1.9 27.4 51.1

=)0 EHAZ0RE MEH Us NTEY
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= = 5 =
6. 2 S0 Cist Adl
(21 1 %)
IE E 20 2o
22 NED |
A 222|005 | 32| T2 | JIE ad - - o | KAl =
e sl | ME ayy| (g | OS] E 2SI g
Loy | (=20 () | T | o
<2016 >
x = | 1000 186 308 455 51 00 1000 56 45 10 711 177
<2018 >

m = | 1000 194 267 483 57 00 1000 5.0 3710 720 183
T A(E 2) | 1000 188 259 496 57 00 1000 44 36 10 725 185
SOE(SME) | 1000 223 303 419 54 01 1000 7.9 46 10 6.1 174
o X | 1000 190 287 470 51 00 1000 5.9 49 04 702 186
o | 1000 197 246 495 62 00 1000 4.1 26 16 737 180
13 ~ 19 A | 1000 175 325 458 42 - 1000 19 36 13 812 12
20 ~ 29 Al | 1000 192 274 494 40 00 1000 22 25 12 768 173
30 ~ 39 Ml | 1000 173 256 525 47 00 1000 3. 3707 747 178
40 ~ 49 M| 1000 169 245 532 55 0.0 1000 43 3409 735 180
50 ~ 59 Al | 1000 178 246 518 59 00 1000 52 30 09 7.6 193
60 Al Ol A | 1000 250 283 388 79 00 100.0 103 57 13 6l6 212
65 Al Ol A | 1000 249 297 371 84 00 1000 122 62 14 593 209
%= = 0 & | 1000 221 326 371 81 00 1000 111 63 13 646 167
= = | 1000 206 294 441 59 00 1000 5.0 44 13 696 196
n] = | 1000 190 277 481 52 00 1000 42 36 10 712 199
o= o A& | 1000 184 227 537 51 00 1000 3.7 28 09 758 168
1o Jb 7 | 1000 220 315 390 7.5 00 1000 7.6 44 12 676 192
1M O OF T | 1000 237 253 446 63 00 1000 7.4 39 10 673 203
oM Of bR | 1000 177 257 516 49 00 1000 3.5 34 10 747 173
SHICHOI & JF=2 100.0 142 292 50.9 5.8 - 100.0 6.4 4.6 1.1 68.9 19.0
1008+ 0] 8F 1000 234 302 372 91 00 1000 99 56 15 635 195
100 ~ 2008+& 0|2+ | 100.0 21.7 28.8 43.5 59 0.0 100.0 6.6 4.1 1.1 68.3 19.8
200 ~ 3008+ 0|2+ | 100.0 19.9 283 459 5.8 0.0 100.0 5.0 4.2 1.2 702 19.4
300 ~ 4002+ 0|2+ | 100.0 184 26.6 50.5 4.5 0.0 100.0 4.0 3.7 09 73.1 18.3
400 ~ 50009+ 0]2+ | 100.0 17.7  25.7 51.9 4.7 - 100.0 39 34 1.1 74.0 17.6
500 ~ 6002+ O]2+ | 100.0 16.3 235 54.2 5.9 0.1 100.0 3.8 29 0.7 754 17.2
6008+ Of At 100.0 17.9 224 55.0 4.7 0.0 100.0 33 2.5 07 779 15.7

=1) B2 L& MHE JIE, IS B -AISI'JF SEOI0F B0 D 28 X
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7-1. 4H0| D2ISH= 2H| (13~24A))
(49l 1 %)
WP ES JHA 28 - old
o == & Dol
Al AL FMA | o | ZH o= (&, | &g (e ®) DH IEr) 59
2 2T o8 T AEA) ST(HE2H) =
<2016>
b 2 100.0  10.7 48 20 58 42 329 289 2.2 1.6 1.7 52
<2018>
H =2 100.0  10.9 54 1.7 48 49 296 302 2.5 1.8 1.8 6.4
T A B) 100.0  10.9 54 1.8 47 50 297 305 2.5 1.7 1.8 6.0
SHE(SHE) 100.0  10.7 57 14 58 40 290 282 2.6 24 1.9 8.4
et Xt 100.0 7.9 60 1.6 50 54 310 287 24 2.3 2.5 7.2
of Xt 100.0  13.8 49 18 46 43 282 317 2.6 1.4 1.1 55
=PNERE
13 ~ 18 Al 100.0  13.1 40 16 24 58 473 123 45 1.4 24 5.3
19 ~ 24 Al 1000 9.0 66 1.9 6.8 42 149 451 0.8 22 1.3 73
=PNERmEF [
M8 M 100.0  12.0 47 13 39 55 405 205 3.3 1.4 1.8 5.0
- =H0l5t 100.0 172 43 13 1.6 59 443 8.6 6.0 0.7 2.9 7.4
- X 100.0  11.0 36 17 22 48 535 1211 34 1.2 22 42
— CHTHO| A 100.0 9.8 59 1.0 69 59 269 348 1.7 2.0 0.8 43
Il £} 100.0 8.6 69 2.6 6.6 35 6.9 505 0.8 2.6 1.8 9.2
ok = 100.0  10.6 58 07 33 43 343 259 2.7 22 2.0 8.2
= = 1000 114 49 25 55 46 258 349 2.7 1.4 1.3 49
2 o = 100.0 104 54 42 99 85 195 349 0.9 1.3 2.2 2.7
= 1)'E0-SF, S-S 2 0HY 55 ZF
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7-2. M4 001 AR CHAF (13~24AM))
(St : %)
s AR | Arz
=] NS A | C 1)
H a OHX | ol | moy | =2 | OFM| =5 5z JE
<2016>
P = 100.0 24.1 3.5 20.6 5.1 44 .4 1.9 1.8 21.8 0.8
<2018>
S = 100.0 28.0 4.1 23.9 5.1 49.1 1.5 1.5 13.8 1.0
= A(E =) 100.0 27.9 4.1 23.7 5.1 493 1.5 1.3 14.1 0.9
sSHE(SHE) 100.0 28.9 3.8 25.1 53 48.2 1.6 23 12.1 1.7
=t Xt 100.0 26.6 6.3 20.3 4.1 49.0 1.9 2.1 15.1 1.3
03] Xt 100.0 29.4 1.9 27.5 6.1 49.2 1.0 0.9 12.5 0.8
SUSERT
13 ~ 18 Al 1000 337 47 289 42 441 0.8 21 137 13
19 ~ 24 A 100.0 232 3.5 19.7 5.9 53.3 2.0 0.9 13.9 0.8
HAE DSEG
H = AH 100.0 30.7 4.3 26.3 4.6 47.2 1.2 1.9 134 1.0
- =THO|ot 100.0 393 6.4 329 4.3 38.2 1.1 2.4 14.0 0.7
- O 100.0 31.1 3.5 27.6 4.5 46.6 0.4 2.1 134 1.8
— CHXHO| At 100.0 25.5 3.9 21.5 4.8 52.8 2.1 1.3 13.1 0.5
J| Et 100.0 22.1 3.5 18.7 6.3 53.3 1.9 0.6 14.7 1.1
=BROEG
Ot = 100.0 31.9 49 27.1 5.1 46.8 1.2 1.6 12.3 1.1
g = 100.0 25.9 4.0 22.0 5.6 50.2 1.5 1.4 14.7 0.7
=2 ot = 100.0 17.0 0.7 16.3 3.8 55.8 2.6 1.0 17.8 2.0
=) ®S AN I8
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e O = — P
8-1. 2==2l0ll tie! Bl &= - ot Z2E2 SIA adet= el & £ At
(421 1 %)
g s 9o | @moz | 9 g o ot 3 | mmo=
£ o | 529 T T
<2016>
H = 100.0 48.0 9.5 38.5 52.0 29.4 22.6
<2018>
sl = 100.0 56.4 12.9 43.5 43.6 26.3 17.3
T AE =) 100.0 57.6 13.3 443 42.4 25.9 16.5
sHE(SHSR) 100.0 50.9 11.2 39.6 49.1 28.1 21.0
=1 At 100.0 58.9 13.5 45.4 41.1 25.0 16.0
o N 100.0 53.9 12.4 41.5 46.1 27.5 18.6
13 ~ 19 A 100.0 69.5 18.3 51.2 30.5 224 8.1
20 ~ 29 A 100.0 74.4 22.1 523 25.6 18.3 7.3
30 ~ 39 Al 100.0 73.2 19.2 54.0 26.8 18.6 8.2
40 ~ 49 A 100.0 60.1 13.0 47.1 39.9 25.1 14.9
50 ~ 59 Al 100.0 45.6 83 37.2 54.4 31.9 22.5
60 A O & 100.0 34.8 4.7 30.1 65.2 34.4 30.8
65 Al O & 100.0 33.0 42 28.8 67.0 345 325
= £ 0| ot 100.0 393 7.6 31.7 60.7 335 27.2
= = 100.0 523 11.6 40.7 47.17 28.3 19.3
) = 100.0 56.8 12.5 44.3 43.2 26.2 16.9
th = 0 & 100.0 63.4 15.6 47.8 36.6 23.1 13.5
al = 100.0 73.6 20.8 52.9 26.4 18.7 7.7
B 2 & A S 100.0 49.8 9.7 40.2 50.2 29.2 20.9
At =] 100.0 32.8 5.3 27.6 67.2 359 31.3
0l = 100.0 61.9 14.8 472 38.1 24.6 13.5
Tl FHB £
1002+ 01t 100.0 46.3 9.4 37.0 53.7 28.5 25.2
100 ~ 2008+ O] gt 100.0 533 12.5 40.8 46.7 26.3 20.4
200 ~ 300¢H& 0| gt 100.0 57.6 13.3 44.4 42.4 25.5 16.9
300 ~ 400E+& OIgt 100.0 59.5 12.9 46.6 40.5 25.9 14.6
400 ~ 500E+& 0OI8* 100.0 57.8 13.0 44.8 42.2 27.0 15.2
500 ~ 600E+& 0OI8* 100.0 57.0 13.8 43.1 43.0 28.0 15.1
6002t O & 100.0 60.0 15.0 45.1 40.0 24.6 15.4
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8-2. 2= 230 UiStEl = - AE6IX Y= AHHE Jta 4 Lt
(S : %)
o o | @mez | o Bt O o 2t | ™moz
= 9 s 9 s CH gt CH
<2016>
P = 100.0 242 4.5 19.7 75.8 34.5 41.3
<2018>

S| = 100.0 30.3 6.3 23.9 69.7 38.0 31.7
T A(E B 100.0 30.4 6.5 24.0 69.6 38.4 31.2
sHE(SHE) 100.0 29.4 5.7 237 70.6 36.4 34.2
=1 Xt 100.0 31.9 6.7 252 68.1 38.3 29.8
o4 N 100.0 28.7 6.0 22.7 71.3 37.8 33.6
13 ~ 19 A 100.0 36.5 8.8 27.7 63.5 423 21.2
20 ~ 29 A 100.0 36.7 9.5 272 63.3 40.2 23.1
30 ~ 39 A 100.0 38.3 9.2 29.1 61.7 38.1 23.7
40 ~ 49 Al 100.0 31.5 6.1 253 68.5 36.7 31.9
50 ~ 59 Al 100.0 24.0 4.7 19.4 76.0 36.7 39.3
60 M O & 100.0 22.6 3.1 19.5 77.4 37.3 40.1
65 M O & 100.0 229 3.1 19.8 77.1 37.4 39.7
x Z 0| ot 100.0 26.0 4.7 21.3 74.0 38.0 36.0
= = 100.0 29.5 5.7 238 70.5 39.0 31.5
) = 100.0 29.0 5.9 23.1 71.0 37.5 33.5
H & 0] 4 100.0 33.2 7.5 25.7 66.8 38.2 28.6
0] = 100.0 38.5 9.4 29.1 61.5 39.8 21.8
2 X A S 100.0 26.7 5.0 21.6 73.3 37.2 36.2
A} H 100.0 22.7 3.5 19.2 77.3 38.3 39.0
0l k= 100.0 33.7 7.3 26.4 66.3 37.5 28.8

e 287 A5
1008+ 0|8t 100.0 28.3 6.1 222 71.7 36.0 35.6
100 ~ 2008+ D] Bt 100.0 32.0 6.5 25.5 68.0 36.1 31.9
200 ~ 3008+ DJ Bt 100.0 31.1 6.2 24.9 68.9 37.7 31.2
300 ~ 4008+ DI Bt 100.0 29.8 5.7 24.2 70.2 39.8 30.3
400 ~ 5008+ O] Bt 100.0 293 6.3 23.1 70.7 39.1 31.5
500 ~ 600G+ 0| &t 100.0 28.8 6.7 22.1 71.2 40.0 31.1
6008HA O] 4t 100.0 31.0 7.3 23.7 69.0 37.6 314
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8-3. Z= 230l Uist El & - Z=51H XHHE JtHof it
1 %)
s 9 Mmooz oF 2t Bt CH oF 2t Ho2
= 9| = 9 s CH CH
<2018>
bS] = 100.0 69.6 25.4 441 30.4 21.9 8.6
= A(E =) 100.0 67.7 23.6 44.1 32.3 23.1 9.2
sHE(SHE) 100.0 78.3 33.9 44.5 21.7 16.0 5.7
=3 Xt 100.0 72.6 25.7 46.8 27.4 21.0 6.4
o4 N 100.0 66.6 25.1 41.5 33.4 22.7 10.7
13 ~ 19 A 100.0 46.4 8.8 37.7 53.6 35.7 17.9
20 ~ 29 Al 100.0 51.5 11.1 40.4 48.5 31.8 16.7
30 ~ 39 Al 100.0 59.9 14.3 45.5 40.1 293 10.8
40 ~ 49 Al 100.0 67.1 19.6 47.5 32.9 24.8 8.1
50 ~ 59 Al 100.0 81.0 32.3 48.7 19.0 15.0 3.9
60 M O & 100.0 88.2 46.7 41.5 11.8 8.9 2.9
65 M O & 100.0 88.9 48.9 40.0 11.1 8.4 2.7
= Z£ 0] 3ot 100.0 81.1 42.0 39.1 18.9 13.7 5.2
= = 100.0 71.4 30.1 41.3 28.6 20.2 8.4
) = 100.0 70.7 24.5 46.2 29.3 20.8 8.5
H & 0 4 100.0 63.8 18.8 44 .9 36.2 26.3 99
0] = 100.0 51.5 11.0 40.4 48.5 33.1 15.4
B 2 X /U S 100.0 76.4 30.2 46.2 23.6 17.6 6.0
At H 100.0 88.9 47.8 41.1 11.1 8.3 2.8
0] k= 100.0 70.5 24.9 45.6 29.5 23.2 6.3
e 28 A5
1008+ 0|8t 100.0 79.2 39.5 39.7 20.8 154 5.4
100 ~ 2008+ DI Bt 100.0 73.5 30.1 433 26.5 19.1 7.4
200 ~ 3008+ DJ Bt 100.0 70.1 252 44.9 29.9 223 7.6
300 ~ 4002+l 0| Gt 100.0 68.0 23.2 44.8 32.0 23.5 8.5
400 ~ 5008+ 0|8t 100.0 67.5 21.7 45.8 32.5 23.7 8.9
500 ~ 6002+ O] G 100.0 65.6 19.5 46.1 34.4 23.2 11.2
6008HA O] 4t 100.0 63.7 19.9 43.8 36.3 24.6 11.7
Z:2018¢ AR=Z 0t =



8-4. Z&=Z2l0l Cfst Bl = - o=l HSoll = A2iTt

(&9 %)
o £ 9 | @mez | o B o 2t | Hmo=
= 9 s 9 gt Y Bt CH
<2016>
bS] 2 100.0 66.1 19.0 47.1 33.9 22.8 11.1
<2018>

bS] =2 100.0 72.6 23.6 49.0 274 20.0 7.4
T AE B) 100.0 733 243 48.9 26.7 19.8 6.9
=0 E(8HE) 100.0 69.3 20.1 492 30.7 20.9 9.7
=1 Xt 100.0 72.8 225 50.4 272 19.8 7.4
of Xt 100.0 723 24.7 47.6 27.7 20.3 7.4
13 ~ 19 Al 100.0 83.0 38.7 444 17.0 13.1 3.9
20 ~ 29 A 100.0 84.0 35.7 483 16.0 12.4 3.6
30 ~ 39 Al 100.0 82.9 325 50.4 17.1 13.2 3.8
40 ~ 49 M 100.0 74.9 22.9 52.0 25.1 19.0 6.1
50 ~ 59 Al 100.0 65.9 15.6 50.3 34.1 24.4 9.6
60 M O & 100.0 58.2 11.5 46.6 41.8 29.1 12.7
65 M 0 & 100.0 56.4 10.9 455 43.6 29.8 13.7
= = 0| st 100.0 60.5 16.3 442 39.5 26.4 13.0
= = 100.0 68.8 21.9 46.9 312 222 9.0
i} = 100.0 71.5 21.0 50.5 28.5 20.8 7.7
M = o & 100.0 79.1 29.2 49.9 20.9 16.3 46
0| = 100.0 83.0 34.6 484 17.0 13.1 4.0
X e 100.0 69.4 19.8 49.6 30.6 223 8.3
A = 100.0 55.1 10.6 445 44.9 29.7 15.2
0l s 100.0 71.3 20.5 50.9 28.7 21.8 6.9

7o EEHA AS
1002+ O] o 100.0 63.1 16.6 46.4 36.9 254 11.5
100 ~ 2008+ O] B* 100.0 67.9 20.6 473 32.1 235 8.6
200 ~ 3008+ 0|t 100.0 73.8 23.2 50.6 26.2 19.0 72
300 ~ 4000+ 0]t 100.0 74.2 23.2 51.1 25.8 19.0 6.8
400 ~ 5000+ 0] ot 100.0 743 25.0 493 25.7 194 6.3
500 ~ 6002+ 0] ot 100.0 76.6 27.9 48.7 23.4 16.9 6.5
600021 O At 100.0 77.0 29.1 47.8 23.0 17.4 5.6
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8-5. 22230l gt El = - 2E3ME2 SARIEL JFE 2] 2HA It Mol ofF B}
(£l : %)

3l £ 9 Mmooz of 2t BF CH oF 2t HHoZ

= 9 s 9 s CH gt CH

<2016>
S| = 100.0 52.0 9.6 42.5 48.0 36.6 11.3
<2018>
P = 100.0 48.5 8.8 39.8 51.5 38.9 12.6
= A(E =) 100.0 47.8 8.5 39.3 52.2 39.5 12.7
SHE(SHE) 100.0 52.0 10.0 42.0 48.0 35.9 12.0
=1 \; 100.0 50.9 9.3 41.5 49.1 37.6 11.5
6;] Xt 100.0 46.3 8.2 38.0 53.7 40.2 13.6
13 ~ 19 A 100.0 438 7.8 36.0 56.2 42.5 13.6
20 ~ 29 A 100.0 40.8 7.6 33.1 59.2 429 16.3
30 ~ 39 A 100.0 447 7.0 37.7 553 40.4 14.9
40 ~ 49 Al 100.0 45.1 8.0 37.0 54.9 41.8 13.1
50 ~ 59 A 100.0 51.3 9.1 422 48.7 37.5 11.3
60 Al O 4t 100.0 58.1 114 46.8 41.9 33.0 8.9
65 M O & 100.0 60.3 12.1 48.2 39.7 31.6 8.1
x Z 0| ot 100.0 57.8 11.5 46.2 422 33.5 8.7
= = 100.0 51.1 9.4 41.7 48.9 37.8 11.1
i = 100.0 49.7 9.5 40.3 50.3 37.7 12.5
H & 0] 4 100.0 432 6.9 36.3 56.8 42.3 14.5
0l = 100.0 429 7.4 35.5 57.1 423 14.8
B & Xt Y 2 100.0 49.8 9.0 40.8 50.2 38.3 11.9
At = 100.0 59.8 12.0 47.8 40.2 31.3 8.9
0] k= 100.0 51.3 9.8 41.5 48.7 36.4 12.4
e 28 AS

1008+ 0|8t 100.0 54.7 11.4 433 453 353 10.1
100 ~ 2008+ DJ Bt 100.0 51.5 9.8 41.7 48.5 36.8 11.7
200 ~ 3008+ D] Bt 100.0 50.5 10.1 40.4 49.5 37.2 12.4
300 ~ 4008+ DJ Bt 100.0 46.5 7.4 39.0 53.5 40.4 13.2
400 ~ 5008+ 0] ot 100.0 473 8.0 393 52.7 39.5 13.2
500 ~ 6008+ DJ Bt 100.0 459 7.9 37.9 54.1 40.5 13.6
6008HA O] &t 100.0 43.6 7.0 36.6 56.4 42.7 13.7
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= o = =
. AEA 23510 thst oAl
%)
sas HE | pEa 5
A mog e | o2 | oog | Holoh | %2 o A0
<2016>
sl = 100.0 3.8 1.0 2.8 17.7 75.4 42.1 33.3 3.1
<2018>

S| = 100.0 5.4 1.2 4.2 19.9 70.6 43.6 27.1 4.1
T Al(E 8) 100.0 5.0 1.2 3.9 19.6 71.5 44.0 27.6 3.8
SH=E(SHE) 100.0 7.1 1.4 5.7 21.2 66.4 41.8 24.6 5.3
=4 Xt 100.0 5.2 1.2 4.0 20.6 70.1 42.8 27.3 4.1
o Xt 100.0 5.6 1.2 4.4 19.2 71.1 443 26.8 4.1
o & < X 100.0 4.4 1.0 3.4 23.0 64.6 39.0 25.5 8.0
o 2 o X 100.0 3.8 0.9 29 18.5 70.5 43.1 27.4 7.2
13 ~ 19 A 100.0 4.0 0.9 3.1 28.2 52.4 37.1 15.3 154
20 ~ 29 A 100.0 4.2 0.9 3.2 19.1 72.3 43.7 28.5 4.5
30 ~ 39 A 100.0 3.7 0.8 29 18.0 76.5 435 33.0 1.8
40 ~ 49 A 100.0 3.8 0.9 29 17.2 77.2 46.3 31.0 1.7
50 ~ 59 A 100.0 7.0 1.5 5.5 19.9 70.6 439 26.7 2.5
60 ANl O] &t 100.0 7.6 1.7 6.0 21.0 66.8 435 233 4.6
65 ANl O] &t 100.0 8.0 1.6 6.4 21.1 65.1 42.5 22.6 5.8
= ZE 0 ot 100.0 6.8 1.2 5.6 23.7 59.0 38.2 20.8 10.4
= = 100.0 6.7 1.8 4.9 24.3 61.4 40.5 20.9 7.6
1 = 100.0 5.8 14 43 21.1 69.9 44.0 25.9 32
H & 0] 4 100.0 4.0 0.8 3.3 15.9 78.5 46.1 324 1.5

Jimol YEE AS
1008+ 0|8t 100.0 6.9 14 5.5 21.5 63.2 40.3 22.9 8.4
100 ~ 2008+ DI Bt 100.0 6.0 1.5 4.4 21.1 67.8 422 25.7 5.1
200 ~ 3000+ 0| ot 100.0 55 1.5 4.0 21.2 69.6 42.1 27.5 3.7
300 ~ 4000+l 0| Gt 100.0 5.4 1.1 4.2 20.3 71.2 44 .4 26.7 32
400 ~ 500¢+< 0| ot 100.0 4.6 0.8 3.8 19.2 72.5 459 26.6 3.8
500 ~ 6002+ 0| &t 100.0 4.8 1.1 3.6 20.0 72.0 44.6 27.4 3.2
600CHA O] &t 100.0 4.5 0.8 3.7 15.9 77.4 45.8 31.6 2.3
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10-1. Z&0f tiet A3l

HEzED
2 o g oS A ﬂa o%@; SIXl e
et = st PN e S| =
ok 20 | 20F S10] 204
<2016>
= 100.0 51.9 12.5 39.3 42.9
<2018>
& 100.0 48.1 11.1 37.0 46.6 3.0 2.5 0.5 2.3
T Al 100.0 46.6 9.9 36.7 48.1 3.2 2.6 0.6 2.2
sH=E 100.0 55.5 17.1 38.4 39.5 2.5 2.1 0.4 2.5
=3 100.0 52.8 12.0 40.8 42.3 2.2 1.9 0.4 2.7
63| 100.0 435 10.3 33.2 50.8 3.8 3.1 0.7 1.9
g & 100.0 36.3 5.2 31.0 54.8 3.6 29 0.6 5.3
g & 100.0 22.4 2.7 19.7 67.2 7.2 5.4 1.7 3.3
13 ~ 100.0 28.4 3.7 24.6 58.5 4.9 4.0 0.9 8.3
20 ~ 100.0 33.5 5.1 28.4 58.4 53 3.8 1.5 29
30 ~ 100.0 36.2 4.7 314 58.7 3.6 3.2 0.4 1.6
40 ~ 100.0 41.9 5.6 36.3 53.9 29 2.4 0.5 1.3
50 ~ 100.0 55.7 11.7 44.0 40.7 2.0 1.8 0.2 1.5
60 Al 100.0 71.2 25.8 45.4 25.6 1.6 1.4 0.2 1.6
65 Al 100.0 73.3 28.8 44 .4 232 1.7 1.6 0.2 1.8
x = 100.0 62.5 24.5 38.1 30.8 2.4 2.1 0.3 4.3
= 100.0 51.1 14.6 36.5 41.7 3.3 29 0.4 3.9
ni 100.0 45.6 9.2 36.3 48.6 3.6 2.8 0.7 2.2
t = 100.0 44 .4 7.1 37.3 51.8 2.7 2.2 0.5 1.0
0] = 100.0 30.2 4.1 26.0 60.3 5.1 4.0 1.1 4.4
B 2 U S 100.0 55.9 13.0 42.9 41.0 1.9 1.7 0.3 1.1
Ab H 100.0 70.1 28.0 42.1 253 2.0 1.7 0.2 2.7
0] = 100.0 34.5 8.0 26.4 58.0 4.9 4.3 0.7 2.6
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10-2. O|=0 et Aal

(St : %)
. 8 A% 9D 018 Yo
o | VBHNE lgw g90i  oig udals | sth 2 | ste 20| 2
o =i} = T T M - S == ore X == 1"
oh & obEIft  |JI2® ot =0 4~ oC =0 =X
<2016>
S| = 100.0 39.5 9.5 30.0 43.1 14.0 3.4
<2018>

& = 100.0 33.2 7.7 25.5 46.3 16.7 3.8
T A(E B) 100.0 32.0 6.9 25.1 47.3 17.0 3.7
sSHE(SHER) 100.0 39.0 11.5 27.4 42.0 15.2 3.8
=1 Xt 100.0 37.9 8.9 29.0 433 14.5 4.3
63| Xt 100.0 28.7 6.6 22.0 493 18.8 3.2
o & & Xt 100.0 23.5 4.6 18.9 48.4 19.2 9.0
o0 & o0 X 100.0 11.6 1.8 9.7 54.5 28.4 5.5
13 ~ 19 Al 100.0 18.5 3.6 14.9 50.3 19.2 12.0
20 ~ 29 Al 100.0 18.8 3.8 15.0 51.4 24.5 5.3
30 ~ 39 Al 100.0 24.6 4.6 20.0 54.2 18.0 3.2
40 ~ 49 A 100.0 27.9 4.5 234 53.9 16.1 2.1
50 ~ 59 Al 100.0 35.4 6.8 28.5 47.1 15.3 23
60 Ml O &t 100.0 55.8 17.1 38.7 29.9 11.6 2.7
65 M O & 100.0 59.8 19.9 39.9 26.7 10.4 3.1
= £ 0| 3ot 100.0 51.4 18.3 33.1 30.5 11.9 6.2
= = 100.0 36.8 11.0 25.8 40.2 17.0 6.1
) = 100.0 30.5 6.1 24.5 48.1 17.8 3.5
tH & 0] & 100.0 28.2 4.5 23.6 52.3 17.2 23
0] = 100.0 18.2 3.4 14.9 51.1 233 7.4
B 2 A S 100.0 39.7 9.1 30.7 453 13.0 2.0
Ab =] 100.0 56.6 19.7 36.9 29.0 10.3 4.1
0] = 100.0 16.1 2.7 13.4 53.6 28.2 2.1
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10-3. M=0 tiet Aal

-

s ot _ Sl _ 5% =

2 2 B S Al| Bt 200 QHOLOF | BHAI 2=
St _ _ oF (=]3 o2 XAH
U lsorenlz o ¥94% | & g |20 20| 200 | =2
=} stCt
<2016>
& = 100.0 14.2 1.0 13.2 62.3 16.3 12.5 3.9 7.2
<2018>

& = 100.0 12.4 0.8 11.6 64.6 14.9 11.5 3.4 8.1
T A(E B) 100.0 11.8 0.7 11.1 65.6 14.6 11.4 3.2 7.9
sH=E(SHER) 100.0 15.3 1.3 14.0 59.6 16.3 11.7 4.6 8.8
=4 Xt 100.0 15.7 0.9 14.8 64.1 11.4 8.5 29 8.8
o4 N 100.0 9.2 0.7 8.5 65.1 18.3 14.4 3.9 7.4
g & Y X 100.0 11.7 0.5 11.2 67.0 7.3 5.1 2.2 14.0
00 & o X 100.0 6.0 0.3 5.6 76.0 7.7 5.9 1.8 10.3
13 ~ 19 A 100.0 7.6 0.3 7.3 66.5 8.2 6.0 2.2 17.6
20 ~ 29 A 100.0 8.5 0.4 8.2 73.8 7.6 5.6 2.0 10.1
30 ~ 39 A 100.0 9.0 0.4 8.6 72.9 10.7 8.1 2.6 7.4
40 ~ 49 Al 100.0 11.3 0.6 10.6 67.4 15.5 12.9 2.6 5.8
50 ~ 59 A 100.0 13.2 0.7 12.5 62.7 17.8 14.3 3.5 6.3
60 ANl O] &t 100.0 19.1 1.8 17.3 51.8 21.7 15.9 5.9 7.4
65 ANl 0] &t 100.0 20.5 2.1 18.4 492 22.4 16.1 6.3 7.8
= Z£ 0| of 100.0 16.1 1.8 14.4 51.0 20.7 14.6 6.1 12.1
= = 100.0 13.2 0.8 12.4 59.6 15.8 11.4 4.4 11.4
il = 100.0 12.1 0.8 11.3 64.3 15.7 12.2 3.5 7.9
th = 0] & 100.0 11.2 0.5 10.7 71.3 11.7 9.7 2.1 5.8
0] = 100.0 9.2 0.4 8.7 71.0 7.5 5.5 2.0 12.4
B 2 X U S 100.0 13.8 0.8 13.0 63.0 17.1 13.4 3.7 6.1
Ab A 100.0 16.1 2.3 13.8 493 26.1 19.0 7.1 8.6
0] = 100.0 11.2 1.3 9.9 65.4 17.4 13.8 3.7 5.9
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11-1. 2ol tist Adll (19A 014)

XE |20l XHHE 25K
a2301 (A0l EAM0 HHA2 AAGtD A2
A SEe gys | zes M= marol gy | & mERM
5t AICH Do) 2L
<2016>
A =2 100.0 123 189 393 295
<2018>
bS] =2 100.0 10.5 175 39.9 32.1
T AME =) 100.0 10.4 17.7 40.3 31.7
SOE(SHE) 100.0 11.1 16.5 383 34.1
= Xt 100.0 103 17.6 39.5 32.7
Xt 100.0 10.7 17.4 40.4 315
19 ~ 29 A 100.0 8.9 23.6 30.6 36.9
30 ~ 39 Al 100.0 10.3 19.2 425 28.0
40 ~ 49 M 100.0 12.1 159 46.6 255
50 ~ 59 A 100.0 11.7 16.5 41.0 30.8
60 Ml O & 100.0 95 14.2 383 37.9
65 Ml O & 100.0 9.2 13.5 37.4 39.8
= = 0| &t 100.0 7.8 11.2 37.7 433
= = 100.0 9.2 133 374 40.1
Inj = 100.0 10.4 183 38.4 329
o = o & 100.0 11.6 19.5 425 263
0| & 100.0 9.4 21.6 29.6 39.4
B2 X %S 100.0 11.1 17.1 43.8 27.9
At = 100.0 8.6 12.2 37.9 413
0l = 100.0 10.8 10.8 43.8 34.6
H o2 22 100.0 13.0 20.2 42.4 245
At e 100.0 12.0 189 43.8 253
A Hl A B OY 100.0 10.6 18.6 412 29.6
s o ¢ 100.0 103 13.5 374 38.8
5 & 2 100.0 10.2 16.1 39.9 33.9
1002+ 0| gt 100.0 9.7 13.4 35.0 41.9
100 ~ 2008+ 0|t 100.0 10.8 15.8 36.9 36.5
200 ~ 3002+ 0I2t 100.0 11.4 17.8 37.3 33.5
300 ~ 4008+ 0|t 100.0 10.1 17.9 40.0 320
400 ~ 5002+ 0|2t 100.0 9.5 18.4 43.9 282
500 ~ 6008+ 0|t 100.0 112 18.7 4238 272
6002HR O] A 100.0 10.4 20.2 45.6 23.7
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o = O o
11-2. QU= 5t AKX %2 0|7 (1941 014
(S9! : %)
oo THSl | ATHATE R
ool |mmoz ae iy | 2o 0 | SIS e
A | BRES | R0l OB ASIE | O “as 2H | Il e
S PR EE R R EL o= I I EX
<2016>
S| = 100.0 429 16.8 4.1 34 322 0.5 0.2
<2018>

S| = 100.0 44.2 15.6 3.7 34 32.5 0.4 0.2
S ANES 2) 100.0 44 .4 15.7 3.5 33 32.7 0.3 0.2
sSH=E(SHE) 100.0 434 15.3 4.7 3.9 32.0 0.6 0.2
= \; 100.0 46.8 16.0 3.2 3.6 299 0.4 0.1
(0] \; 100.0 41.7 15.2 4.2 32 35.1 0.3 0.3
19 ~ 29 Al 100.0 43.7 15.7 3.8 3.8 32.2 0.2 0.6
30 ~ 39 A 100.0 42.5 12.9 2.6 2.8 38.9 0.1 0.2
40 ~ 49 Al 100.0 40.1 16.9 2.6 2.4 37.7 0.2 0.1
50 ~ 59 A 100.0 46.4 17.0 3.8 3.0 29.3 0.5 0.1
60 Al O &f 100.0 479 15.2 5.3 5.1 25.7 0.7 0.2
65 M 0O & 100.0 49.5 13.7 5.2 5.3 25.2 0.9 0.3
= & 0 dof 100.0 473 16.6 5.5 4.8 24.8 0.8 0.2
= = 100.0 45.5 18.9 4.7 4.5 25.8 0.2 0.3
i = 100.0 43.2 17.9 4.0 3.0 31.4 0.4 0.1
o = 0 & 100.0 44.0 12.7 2.7 3.2 36.8 0.2 0.2
0l s 100.0 45.8 15.6 3.8 3.6 30.3 0.2 0.6
B A A S 100.0 44.0 14.8 3.4 33 34.0 0.4 0.1
Ab =] 100.0 45.1 15.2 5.4 5.0 28.3 0.9 0.2
o] s 100.0 40.2 24.2 4.6 2.5 28.0 0.3 0.2
& 2 2 2 100.0 44.9 12.1 2.8 29 36.7 0.3 0.2
Ab 2 100.0 434 12.5 2.3 2.9 38.5 0.1 0.3
A Hl A EEOH 100.0 443 18.1 4.1 3.1 29.7 0.6 0.1
= O s} 100.0 51.3 12.8 3.8 6.0 24.5 1.4 0.1
N s & &2 100.0 43.8 20.0 4.2 34 28.2 0.3 0.1
1000+ O] 8+ 100.0 46.2 17.4 5.1 4.6 25.8 0.6 0.3
100 ~ 20023 0] Ct 100.0 454 18.1 4.1 4.1 27.7 0.3 0.3
200 ~ 3002+ 0O]St 100.0 433 18.0 3.5 4.2 30.4 0.5 0.2
300 ~ 4000t& 0|t 100.0 40.8 16.6 4.7 2.9 344 0.5 0.2
400 ~ 5002+ 012+ 100.0 449 14.9 3.6 2.6 33.8 0.2 0.1
500 ~ 6000+ O] Gt 100.0 422 13.3 2.4 3.8 38.0 0.2 0.1
6008+ Of &t 100.0 472 10.3 2.2 2.5 37.4 0.2 0.3

X :1) QS A2 M210] §ICHD SEE XY



= S =
12. stmMe o=
TRl %)
A E e | e | BB BEE oo | ogo
U UE>
<2016>
A =2 100.0 48.0 13.6 345 433 8.6 72 1.4
<2018>
A = 100.0 53.1 14.8 383 38.7 8.2 6.7 1.5
T AE =2) 100.0 53.5 15.2 38.3 38.1 8.3 6.8 1.5
=0 E(8HE) 100.0 50.3 12.3 38.0 42.0 7.7 6.2 15
o8 oM 100.0 53.5 17.7 35.8 37.9 8.5 6.8 1.8
of & M 100.0 52.5 11.7 40.9 39.6 7.9 6.7 12
<u=x HH >
<2016>
bS] =2 100.0 432 12.0 31.2 43.6 13.3 11.4 1.8
<2018>
A =2 100.0 44.7 13.3 31.4 41.9 13.3 11.2 22
S AME =) 100.0 44.6 13.6 31.1 418 13.5 11.3 22
SHE(SHE) 100.0 452 12.1 33.1 42.6 12.2 10.5 1.7
o s oM 100.0 46.8 15.6 312 40.6 12.7 9.8 2.8
of s M 100.0 42.6 10.9 31.6 43.4 14.1 12.6 1.5
< WP A >
<2016>
A =2 100.0 73.5 32.0 415 233 32 26 0.6
<2018>
b =2 100.0 76.6 33.6 43.0 213 2.1 1.9 0.1
T AE =) 100.0 76.9 33.4 434 21.1 2.0 1.8 0.2
S E(8HE) 100.0 75.0 342 40.8 22.4 2.6 2.6 -
s oM 100.0 78.1 35.5 42.6 20.0 2.0 1.9 0.1
o & M 100.0 75.0 31.5 43.6 227 22 2.0 0.2
1) - 0S8t e
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S S 7= /S
12. Stuwie OS5 - A&
51: %)
AT R E e | | RS | BRE oy 2
< DALl B >
<2016>
& = 100.0 58.8 22.0 36.7 36.4 4.8 4.2 0.6
<2018>
& = 100.0 61.1 243 36.8 34.0 4.9 4.2 0.7
S AE =) 100.0 61.1 23.9 37.2 33.8 5.1 43 0.8
sHE(8HS) 100.0 61.0 26.4 34.6 349 4.1 3.6 0.5
et =l A 100.0 62.6 26.2 36.4 322 5.2 4.4 0.9
o4 =l A4 100.0 59.5 223 37.3 359 4.6 4.0 0.6
<BmAM 2 SH >
<2016>
) = 100.0 40.7 13.0 27.7 433 16.0 12.9 3.1
<2018>
) = 100.0 47.4 15.2 322 40.8 11.8 9.1 2.8
T AE ) 100.0 479 15.0 32.9 39.9 12.2 9.3 2.9
=HE(SHE) 100.0 44.6 16.4 28.2 45.5 9.9 7.9 2.0
=t El A 100.0 49.2 16.5 32.8 39.8 11.0 8.1 2.9
o =l A 100.0 45.5 13.9 31.6 41.8 12.7 10.1 2.6
<HDEE >
<2016>
& = 100.0 40.9 12.9 28.0 44.6 14.5 12.1 2.4
<2018>
& = 100.0 47.1 14.7 324 41.9 11.0 8.6 2.4
T AE B) 100.0 475 14.6 32.8 41.9 10.7 8.2 2.4
=sHE(SHE) 100.0 45.0 15.0 30.0 41.8 13.2 10.9 2.3
=1 =l P 100.0 48.9 16.1 329 40.7 10.4 8.1 2.3
o4 =l P 100.0 45.2 13.3 31.9 43.1 11.7 9.2 2.5
<EEIROl S ME>
<2016>
) = 100.0 533 17.1 36.3 41.5 5.1 44 0.7
<2018>
) = 100.0 58.0 17.6 40.4 373 4.6 4.1 0.5
T AE ) 100.0 58.4 17.4 41.0 37.0 46 4.1 0.4
sS0HE(SHR) 100.0 55.8 18.7 37.2 394 4.8 3.9 0.9
=t =l A4 100.0 59.2 19.0 40.2 36.2 4.6 4.1 0.6
o =l 24 100.0 56.8 16.1 40.7 38.6 4.6 4.1 0.5
1) & DSaD et
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£r9l: %)
BEDV
AV AU e | x| 2S | Tof | 22 | Ao
< BEBH 200/ MOILOIA >
<2018>
S| = 100.0 17.9 38 14.1 38.9 432 30.1 13.0
T ANE B 100.0 17.8 3.7 14.1 38.6 43.6 30.6 12.9
sHE(SHE) 100.0 18.5 4.6 13.9 40.6 409 27.3 13.6
=4 st A4 100.0 18.0 3.5 14.5 37.8 442 30.4 13.8
o4 st Al 100.0 17.8 4.1 13.7 40.0 422 29.9 12.2
ESSIIMAN k=1 100.0 19.3 5.0 14.3 41.5 39.2 28.9 10.4
Nsstn IHe M 100.0 17.0 3.1 13.9 37.2 45.8 31.0 14.8
1002+ 0] 8t 100.0 14.8 9.2 5.7 40.2 45.0 32.7 12.3
100 ~ 2008+& 0] ot 100.0 14.0 2.8 11.1 38.7 473 343 13.0
200 ~ 3002+ 0O]at 100.0 18.4 4.4 14.1 39.3 423 332 9.0
300 ~ 4008+l 0] o 100.0 15.4 1.6 13.8 39.9 447 323 123
400 ~ 50023 0O]Gt 100.0 15.6 4.1 11.5 434 41.0 28.5 12.5
500 ~ 60023 O] 0t 100.0 24.5 3.7 20.8 32.4 43.2 26.8 16.4
6008+H2 O] &t 100.0 19.9 5.1 14.8 37.9 422 27.2 15.0
< BEE DAY LB AH B26HLIT >
<2018>

b = 100.0 75.5 26.8 48.7 19.9 4.6 34 1.3
T AEs B) 100.0 75.9 27.3 48.5 19.6 4.5 32 1.3
sHE(SHE) 100.0 73.3 239 494 21.3 5.4 4.4 0.9
=1 St A 100.0 73.5 239 49.6 20.8 5.7 39 1.8
o4 st A4 100.0 77.6 299 47.7 18.9 35 2.9 0.7
ESISMAN k=19 100.0 74.8 28.5 46.3 21.1 4.1 3.2 1.0
NESHN HEHM 100.0 75.9 25.7 50.2 19.1 5.0 3.5 1.4
1002+ 0] 8t 100.0 60.4 16.1 44 .4 30.8 8.7 5.1 3.7
100 ~ 2002+ 0] Ct 100.0 69.4 23.6 45.8 254 52 35 1.7
200 ~ 3002+ 0O]at 100.0 73.1 22.8 50.3 21.0 6.0 4.8 1.2
300 ~ 4008+ 0| Gt 100.0 71.7 19.8 51.8 239 4.5 2.8 1.7
400 ~ 50023 0O]at 100.0 74.6 26.7 479 21.0 4.4 3.7 0.7
500 ~ 60023 0] Gt 100.0 81.9 29.8 52.1 13.9 4.2 2.2 2.0
6008+H2 O] At 100.0 82.0 36.7 453 14.5 3.6 3.1 0.5

x:1)E-DSsD e
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sk O I~
13.8t& S| - AS
TSl %)
mED
1
AT AL e e | 28 gh | 22 | &
< BEE Lot 20| B2 >
<2018>
S| = 100.0 259 4.5 21.4 35.7 38.4 26.6 11.8
T ANE B 100.0 26.3 4.8 21.4 35.1 38.6 26.4 12.3
sHE(SHE) 100.0 24.0 29 21.1 39.0 37.0 27.7 9.3
=4 st AH 100.0 24.4 4.7 19.7 33.9 41.7 28.0 13.7
o4 st Al 100.0 27.5 4.4 232 37.6 34.9 25.1 9.8
=&t THsrA 100.0 27.2 4.6 22.6 35.2 37.6 25.9 11.7
NSs et 100.0 25.1 4.5 20.6 36.0 38.9 27.0 11.9
100CHR 0] 2t 100.0 14.9 1.4 13.5 46.3 38.8 32.2 6.7
100 ~ 2002+ O] Gt 100.0 21.5 53 16.2 39.9 38.6 26.8 11.8
200 ~ 3002+ 0O]at 100.0 24.8 4.4 20.4 39.8 354 25.2 10.2
300 ~ 4000t& DJct 100.0 22.1 4.1 18.0 37.7 40.2 29.1 11.1
400 ~ 50023 0O]ct 100.0 20.9 34 17.4 35.5 437 324 11.3
500 ~ 6002+ D]t 100.0 31.2 6.6 24.7 32.6 36.2 20.0 16.2
6002+ O & 100.0 343 4.8 29.6 29.9 35.8 23.8 12.0
<BEE OHX 200 UL HE B0 >
<2018>
S| = 100.0 13.1 2.2 10.9 27.3 59.6 35.0 24.5
T AMEs 2) 100.0 14.0 2.5 11.5 26.6 59.4 35.0 24.4
sHE(SHE) 100.0 8.3 0.9 7.4 31.3 60.4 35.2 25.2
=1 St A 100.0 13.3 2.5 10.8 27.0 59.6 353 24.4
03] =l A4 100.0 13.0 2.0 11.0 27.5 59.5 34.8 24.8
=&t THsrM 100.0 16.1 2.8 13.3 27.8 56.1 33.6 22.6
NESHN HEHM 100.0 11.1 1.9 9.3 27.0 61.9 36.0 259
100CHR O] 8t 100.0 10.7 1.4 9.3 21.9 67.4 37.6 29.9
100 ~ 2002+ 0] Ct 100.0 12.4 3.0 9.4 29.5 58.1 31.7 26.3
200 ~ 3002+ 0O]at 100.0 14.7 2.5 12.2 29.9 55.4 34.0 21.3
300 ~ 4002+& 0]Ct 100.0 9.8 1.1 8.7 29.9 60.3 35.1 25.2
400 ~ 5002+ 0O]at 100.0 9.6 1.5 8.1 28.1 62.3 38.8 23.5
500 ~ 60023 0] Ct 100.0 14.8 2.1 12.7 25.9 59.2 35.7 23.5
6002+ O & 100.0 17.4 3.4 14.0 22.9 59.7 33.5 26.2

F:1) 518

o

fu TH

o

0z

o
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14. A0t £S5
©91: %)
JEX
AT ARG e o | 2E | g | 22 | &3
< L= JH Y AROICH >
018>
& = 100.0 76.7 31.7 45.0 20.6 2.7 2.2 0.4
S ANE =) 100.0 76.6 314 452 20.6 2.8 23 0.5
SHESHS) 100.0 77.4 33.6 43.7 20.6 2.1 1.7 0.3
=1 El A 100.0 76.4 32.7 43.6 21.0 2.7 2.5 0.2
0] =l 24 100.0 77.1 30.6 46.5 20.2 2.7 2.0 0.7
ESEIEMAPY R=lga 100.0 78.9 34.0 449 19.2 1.9 1.8 0.1
NSstu THstA 100.0 753 30.2 45.1 21.5 32 2.5 0.7
1008+ Ol 8* 100.0 71.6 18.4 532 26.2 22 1.3 0.9
100 ~ 2008+ 0|2t 100.0 74.9 28.2 46.7 22.0 32 2.4 0.8
200 ~ 300¢H& Ofgt 100.0 77.3 31.5 45.8 21.9 0.8 0.5 0.4
300 ~ 4008+ O] gt 100.0 73.5 25.0 48.5 233 32 32 -
400 ~ 5008+ 0|8t 100.0 78.5 34.0 44.4 19.4 2.1 1.5 0.6
500 ~ 6008+ O] Et 100.0 78.5 39.4 39.2 16.4 5.0 4.2 0.9
6008+ Ol & 100.0 78.1 345 43.5 19.5 2.4 22 0.2
<L 880 2 ABOID >
018>

& = 100.0 72.5 27.0 45.5 24.6 29 2.5 0.4
S ANE =) 100.0 72.8 26.4 46.4 24.4 2.8 2.4 0.4
SHE(SHS) 100.0 70.8 30.4 40.4 26.0 32 2.8 0.4
= E A 100.0 74.1 27.6 46.5 23.6 23 2.0 0.3
0] =l 4 100.0 70.8 26.3 44.5 25.8 3.5 2.9 0.5
ESEIEMEPY Rl 100.0 753 27.5 47.8 21.9 2.8 2.6 0.2
NSstu THstA 100.0 70.7 26.6 44.0 26.5 2.9 2.4 0.5
1008+ Ol 8t 100.0 752 235 51.7 20.6 4.2 4.2 -
100 ~ 2002t& 0O]8t 100.0 74.5 22.0 52.5 20.5 5.0 4.2 0.8
200 ~ 3008+ O] gt 100.0 74.3 24.7 49.6 253 0.4 0.2 0.2
300 ~ 4008+ O] gt 100.0 67.5 213 46.2 29.8 2.6 2.2 0.5
400 ~ 5008+ O] gt 100.0 74.7 30.3 44.4 22.8 2.5 1.6 0.9
500 ~ 6008+ O] Ct 100.0 74.1 34.7 394 24.0 1.9 1.9 -
6002t& Ol &f 100.0 71.7 29.1 42.6 23.9 4.4 43 0.1

F01) & DD e
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X
N[>,

£Hol: %)
BEDV
AT ABL e | g | 2SS Tgn | % | o# o
<L L XHAION CHOH 2REQI S S J4RID UCH>
<2018>
P! = 100.0 72.0 28.5 434 23.5 4.5 3.6 0.9
S ANE ) 100.0 72.5 27.8 447 23.1 4.4 35 09
sHE(SHE) 100.0 68.9 32.8 36.1 26.1 5.0 4.2 0.8
= &t A4 100.0 73.1 28.8 44 .4 232 3.6 3.2 0.4
03] =l AH 100.0 70.7 28.2 42.5 23.8 5.4 4.1 1.4
ESCISMAN k=1 100.0 74.6 30.6 44.0 22.4 3.1 2.8 0.3
Sshtn TS 100.0 70.2 27.1 43.1 243 5.5 4.2 1.3
1002+ 0] 8t 100.0 67.9 26.3 41.6 27.3 49 35 1.3
100 ~ 2008+& 0] ot 100.0 73.6 29.8 43.8 21.0 5.4 4.6 0.8
200 ~ 3002+ 0| Gt 100.0 67.1 25.8 41.2 27.5 5.4 4.5 09
300 ~ 40023 0OJCt 100.0 72.2 243 479 23.7 4.0 3.8 0.2
400 ~ 5002+ 0] Gt 100.0 77.0 31.0 459 20.2 2.8 1.8 1.0
500 ~ 60023 0] Gt 100.0 71.8 34.7 37.1 24.4 3.8 3.8 -
6008+ O] &t 100.0 70.9 28.1 42.8 235 5.7 3.7 1.9
< LH= L XFAIOl CHGHO! BEESICH >
<2018>

X = 100.0 64.2 26.1 38.1 27.4 8.4 7.1 1.2
T A(E B) 100.0 64.1 25.6 38.5 27.5 8.4 7.1 1.3
sS0HE(SH]) 100.0 64.6 28.4 36.1 27.0 8.4 7.7 0.7
=t st A4 100.0 66.5 27.1 39.5 259 7.5 6.4 1.2
O =l A 100.0 61.8 25.0 36.7 29.0 9.2 8.0 1.3
=5t THsHA 100.0 68.5 29.8 38.7 259 5.6 52 0.4
NEstn THE M 100.0 61.3 23.6 37.8 28.5 10.2 8.5 1.7
100CHR 0] 2t 100.0 53.4 21.8 31.5 36.7 10.0 8.6 1.3
100 ~ 2002+ 0|0t 100.0 66.4 26.3 40.1 24.0 9.6 6.8 2.8
200 ~ 30023 0OJCt 100.0 63.8 23.5 40.3 28.7 7.4 6.2 1.3
300 ~ 4002+ 0] Gt 100.0 63.5 22.4 41.1 28.4 8.1 7.5 0.6
400 ~ 50023 0]Ct 100.0 64.8 27.7 37.2 27.8 7.4 6.1 1.3
500 ~ 6002+ O] Gt 100.0 65.3 31.8 33.6 25.2 9.4 8.9 0.5
6008+ O] At 100.0 64.2 26.8 37.4 27.2 8.6 7.4 1.2

x: 1)z 0SsD HEHY
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o = = = =~ = o
(91 %)
bR == 0z A gxﬂi—\: ?:DLJF il?:.“é'HH S29 | JtAt | EY I B
g | HOA | SERN  AMDEA | =S | ZOH
<2016>
S| = 100.0 53.7 46.3 100.0 53.6 2.2 13.5 18.1 9.4 1.1 2.0
<2018>
S| = 100.0 56.2 43.8 100.0 54.5 3.3 14.2 17.4 7.6 1.3 1.7
S AMEsS 2) 100.0 58.3 41.7 100.0 55.0 3.2 15.5 16.0 7.5 1.2 1.6
SHE(SHER) 100.0 46.9 53.1 100.0 53.0 3.6 9.6 22.4 8.1 1.3 2.1
=1 N 100.0 61.7 38.3 100.0 62.0 2.8 18.5 5.4 7.8 1.4 2.0
0] Xt 100.0 51.0 49.0 100.0 49.0 3.6 11.1 26.3 7.5 1.1 1.5
13 ~ 29 Al 100.0 77.7 22.3 100.0 39.7 2.8 44.0 2.8 3.6 2.0 5.1
30 ~ 39 Al 100.0 73.9 26.1 100.0 50.0 2.6 28.6 5.3 7.2 2.6 3.7
40 ~ 49 A 100.0 64.5 35.5 100.0 50.6 3.2 26.9 9.7 6.8 1.2 1.6
50 ~ 59 Al 100.0 50.8 49.2  100.0 59.4 3.5 10.9 16.6 8.1 1.1 0.5
60 Al O &t 100.0 32.2 67.8 100.0 56.8 34 2.7 26.4 8.4 0.9 1.4
65 A 0 & 100.0 28.8 71.2  100.0 54.1 3.5 1.6 293 8.9 0.8 1.8
8 2 2 2 100.0 79.2 20.8 100.0 53.9 3.0 22.4 8.0 8.2 1.3 33
At 2 100.0 74.0 26.0 100.0 52.7 2.7 23.6 7.7 8.6 0.8 39
N "l A B Of 100.0 55.9 44.1 100.0 533 2.6 19.9 15.4 6.8 0.6 1.4
S 0] o 100.0 29.9 70.1 100.0 58.1 34 34 23.8 9.0 1.3 1.1
Jl s & =2 100.0 47.8 52.2  100.0 60.4 3.3 16.1 11.5 7.1 0.8 0.9
F2AHOEL
Of = 100.0 67.0 33.0 100.0 53.2 3.8 15.1 16.6 8.5 0.8 1.9
= = 100.0 52.9 47.1 100.0 54.7 3.1 13.9 18.1 73 1.2 1.7
= Of = 100.0 40.2 59.8 100.0 56.0 2.9 13.6 16.8 7.2 2.1 1.5
It EEBEA AS
100CH 0| St 100.0 29.2 70.8 100.0 53.1 3.2 35 27.7 8.2 2.4 2.0
100 ~ 2002+& 0|t 100.0 44 4 55.6  100.0 57.2 3.6 9.4 18.3 8.5 1.5 1.6
200 ~ 3002+ Dot 100.0 55.2 448 100.0 57.3 3.8 14.5 14.9 7.0 09 1.6
300 ~ 4008+& 0| ot 100.0 60.8 39.2  100.0 53.7 3.1 20.6 14.9 6.2 0.6 0.9
400 ~ 5008+& 0| Gt 100.0 64.1 35.9 100.0 54.6 2.0 20.8 12.4 7.6 0.6 2.0
500 ~ 6002+& 0| Gt 100.0 67.7 32.3  100.0 50.1 2.3 22.1 12.8 8.8 2.0 1.9
B600CHA O] &t 100.0 72.8 27.2 100.0 493 4.1 21.7 13.7 7.7 0.8 2.7
F 1) M (EEN, MM ZE)0| O JF2& Y
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StAHTD =1 o A=
16-1. 9| J|Ulol= us &
(&2l %)
- nESD theH(@) WEm! Ve Ve
Ol 8 | (49H 0B | (49H O1&) | (KA R
<2016>
| 2 100.0 3.0 12.1 64.7 11.2 9.0
<2018>
S| 2 100.0 4.0 132 61.9 10.6 10.2
T AE B 100.0 4.0 12.6 62.3 10.4 10.6
=HE(ESHS) 100.0 4.1 17.6 59.5 11.8 7.0
ot Xt 100.0 44 13.5 61.8 9.9 10.4
ol Xt 100.0 3.6 12.9 62.1 1.5 9.9
ESE-Bn=S| 100.0 8.3 14.5 64.1 5.0 8.1
ot Xt 100.0 9.7 14.1 64.7 3.4 8.1
ol Xt 100.0 6.9 15.0 63.4 6.7 8.0
EIPAIY 100.0 - 10.8 59.3 16.6 133
ot Xt 100.0 - 10.9 58.6 16.9 13.6
ol Xt 100.0 - 10.7 60.1 16.2 13.0
FENDSE
o = 100.0 3.9 12.7 61.4 10.7 11.2
2 s 100.0 4.1 14.4 62.4 10.6 8.5
2 o = 100.0 44 122 63.4 10.2 9.8
Ao B8R AS

1000+ D] 2t 100.0 0.8 9.6 64.5 14.4 10.7
100 ~ 2008+l O] 100.0 5.9 17.9 51.9 13.9 10.4
200 ~ 3000+ O|Q 100.0 6.7 16.2 61.3 7.9 7.9
300 ~ 4009+ O] g 100.0 42 15.7 62.6 8.5 9.0
400 ~ 5000+ 0| g 100.0 44 12.6 65.3 10.9 6.8
500 ~ 6000+ O] g 100.0 1.1 11.6 70.4 6.4 10.5
6002HR! O At 100.0 35 9.2 59.4 12.8 15.0

F 1) x, B, 0, UEH (W), HstaA(H-2AD0l s, 58, M==0l &t



= =] — O
16-2. sHd 9| J|tol= us =55
(S %)
Al =E o124
I — o = . = — = L
g Eemwe JOS 1 mso Jamans| OO
9 | S | Jume | asmes | BES
SeHN | ¢
<2016>
S| = 100.0 51.1 38.6 32 4.0 2.7 0.3
<2018>
S| = 100.0 50.8 39.7 2.2 4.6 2.3 0.4
S ANES 2 100.0 50.9 39.3 2.3 4.8 2.3 0.4
sHE(SHE) 100.0 50.5 42.0 1.6 3.0 2.3 0.7
=1 \; 100.0 52.3 37.7 2.3 4.7 2.4 0.6
o4 \; 100.0 49.0 42.1 2.1 4.4 2.1 0.3
= =105 M 100.0 54.0 37.0 2.1 49 1.6 0.5
=1 X 100.0 55.9 35.5 1.8 5.0 1.2 0.5
o4 X 100.0 52.0 384 2.4 4.7 2.0 0.5
CHE Ol & TH 100.0 48.4 42.8 2.0 3.6 2.9 0.3
=1 \; 100.0 50.0 40.2 2.3 3.5 3.7 0.5
6: X 100.0 46.4 46.2 1.7 3.7 1.9 0.1
FUROEE
ot = 100.0 51.2 40.8 1.7 3.9 2.1 0.4
g = 100.0 49.4 39.1 3.1 5.1 2.6 0.7
= ot = 100.0 53.5 34.6 2.4 7.3 2.1 -
Jbno FBF AS
1002+ 0ot 100.0 60.6 31.3 1.8 4.2 1.4 0.8
100 ~ 2002+& 0|8t 100.0 47.2 437 3.0 2.7 3.0 0.3
200 ~ 3002t& [pJet 100.0 55.5 353 1.5 4.7 2.7 0.3
300 ~ 4000t& D|ct 100.0 514 38.1 2.4 5.1 2.6 0.3
400 ~ 5002+& 0O]8t 100.0 52.6 39.5 1.9 4.5 1.0 0.4
500 ~ 6002t O]t 100.0 46.2 41.8 2.6 6.6 2.8 -
6002t O & 100.0 45.4 448 2.4 4.1 2.4 0.9
2 1) THEHD)4EHI 012014 DRS LI st &MY
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=J o
16-3. 229 A4 7|t} w5 £=Z=(30A 0|4}
(EH2: %)
) nE=E-m| Chat(m) et m hste Ve
Al of &t | (43 0I19Y) | (43H 014 (44 A (EFAR)
<2016>
S| = 100.0 1.0 8.1 72.8 8.2 9.9
<2018>
S| = 100.0 1.3 8.0 71.2 8.8 10.7
= A(E =) 100.0 1.3 7.4 71.0 9.2 11.1
SHE(SHE) 100.0 1.4 11.2 72.5 6.6 8.3
=1 Xt 100.0 1.5 7.2 73.0 8.3 10.0
03] Xt 100.0 1.1 8.8 69.5 9.3 11.3
= Z 0 ot 100.0 6.9 21.2 61.3 7.8 2.9
= = 100.0 2.8 18.1 69.0 5.0 5.1
i = 100.0 1.8 13.2 72.7 49 7.3
CH & 0 & 100.0 0.7 3.5 70.4 11.8 13.5
FERROEG
oF = 100.0 0.8 5.6 70.3 10.6 12.7
2 = 100.0 1.6 9.4 72.7 7.7 8.6
= oF = 100.0 2.0 12.5 69.7 5.8 10.0
IO YR AS
1008+ 0] Gt 100.0 5.6 15.7 66.0 5.4 7.4
100 ~ 2008+ O] Bt 100.0 2.9 14.8 65.3 5.7 11.3
200 ~ 300¢+& 0| ot 100.0 1.8 11.6 73.4 5.7 7.6
300 ~ 4008+ 0| ot 100.0 14 10.9 72.7 6.5 8.5
400 ~ 5008+ O] Bt 100.0 1.2 7.9 74.7 7.8 8.4
500 ~ 6008+ 0|8t 100.0 0.7 4.6 73.4 10.2 11.1
600CHRA O] &t 100.0 0.5 2.4 66.6 14.3 16.3
F 1) E,E,D,IHBHI), CHBHA(A-BEANO TS, S8 HAZ0l JEIt Us 222
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=J (=]
16-4. £20| Al 7|0 DS SH(304 014)
S %)
AAOIL | ES HAS | [ o Ly | 28 T | 2201 ET
| mes | el | JOSSU ews | gans | e
571 <l ah gstM | T TEEE | NaE e A
<2016>
P = 100.0 6.2 46.7 39.2 7.0 0.5 0.3
<2018>

X = 100.0 6.6 41.9 44.6 6.2 0.6 0.1

T A(Es B) 100.0 6.6 41.5 449 6.2 0.6 0.1

SHE(SHE) 100.0 6.6 439 42.6 6.1 0.6 0.2

=t Xt 100.0 7.2 429 42.8 6.3 0.8 0.2

63} \; 100.0 6.0 40.9 46.4 6.1 0.5 0.1

= £ 0| ot 100.0 7.4 56.4 26.1 6.7 34 -

= = 100.0 5.2 52.9 29.9 6.6 5.4 -

i = 100.0 6.5 46.4 40.0 6.0 1.0 0.1

H & 0 &t 100.0 6.7 37.9 48.9 6.3 0.1 0.2

FRAMOEC

ot = 100.0 7.7 38.0 48.1 5.6 0.4 0.2

g = 100.0 5.9 442 429 6.3 0.7 0.0

= oF = 100.0 4.6 49.3 36.4 8.2 1.2 0.4
JIPo WA AS

1008+2 0] Gt 100.0 8.2 48.2 39.8 3.2 - 0.5
100 ~ 2008+ O] Bt 100.0 5.1 47.9 40.8 52 1.0 .
200 ~ 3008+ 0| ot 100.0 6.3 43.8 42.5 6.6 0.8 0.0
300 ~ 400Ct& 0O|Gt 100.0 7.4 43.4 414 6.8 0.8 0.2
400 ~ 5008+ O] Bt 100.0 6.1 40.6 46.2 6.3 0.7 0.0
500 ~ 6002t O] Gt 100.0 6.2 422 45.6 53 0.3 0.4

6008HA O] &t 100.0 7.0 379 48.2 6.3 0.5 0.1
F 1) RHEAES 'S (@) (AEHDIRH 014 DEAIDIHD 6te 22
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-

B A Yo o
1 %)
H Y Xl o< o X 8 E 223 ZHHI Ot !
=Y o= ® S=w 2 US

<2016>
bS] = 100.0 36.3 15.3 21.0 25.4 38.3 23.4 14.9
<2018>
bS] = 100.0 36.6 14.9 21.8 26.1 37.2 22.7 14.5
[ s = 100.0 37.6 15.3 22.3 26.2 36.2 222 13.9
= soe 100.0 30.3 12.3 18.0 25.7 44.0 25.8 18.2
o Xt 100.0 37.0 13.6 23.4 25.9 37.1 22.8 14.3
o Xt 100.0 36.2 16.4 19.8 26.4 37.4 22.6 14.8
13 29 Al 100.0 39.5 16.0 23.6 27.3 33.2 19.3 13.9
30 39 Al 100.0 37.7 15.8 21.9 26.2 36.1 21.3 14.7
40 49 Al 100.0 36.2 14.9 21.3 252 38.6 24.0 14.6
50 59 Al 100.0 32.7 13.0 19.7 25.6 41.7 25.8 15.9
60 o & 100.0 37.4 14.1 23.3 27.8 34.8 22.7 12.1
65 o & 100.0 38.6 14.0 24.5 28.9 32.5 21.3 11.2
EMdsNE 100.0 19.5 5.0 14.5 25.5 55.0 32.5 22.5
sH(w)(49 HoleHsE 100.0 32.9 12.7 20.2 28.6 38.5 22.9 15.6
et (4= HolahE 100.0 41.8 16.8 24.9 27.0 31.2 20.1 11.2
HarA= 100.0 73.7 41.6 32.1 16.0 10.4 6.5 3.8
& 2 2 g 100.0 64.6 32.0 32.6 18.4 17.0 10.9 6.1
Ab (=] 100.0 32.8 10.2 22.6 32.5 34.7 20.6 14.1
M oH A =D 100.0 19.4 6.5 12.9 244 56.3 32.6 23.7
= of o 100.0 22.0 5.7 16.3 18.6 59.4 38.0 21.4
s & 2 100.0 23.2 6.0 17.2 24.4 52.4 29.8 22.6
PO FER AS

1008+l 0| et 100.0 23.8 7.5 16.2 32.4 43.8 27.4 16.4
100 ~ 2008+ 0| gt 100.0 26.8 9.5 17.4 28.7 445 27.9 16.6
200 ~ 3008+ 0] 8t 100.0 30.9 11.1 19.8 26.9 422 25.6 16.6
300 ~ 4008+ 0O|ct 100.0 34.5 12.4 222 26.1 39.4 23.3 16.1
400 ~ 5008+ OBt 100.0 35.4 14.3 21.1 25.9 38.7 23.5 152
500 ~ 6008+ 0] 2t 100.0 39.3 16.3 23.0 27.7 33.0 20.2 12.9
6008+ O] A 100.0 50.8 24.6 26.2 225 26.7 16.8 9.9

nz

-84 -

2A40) £= 0l0IAHD ESEXZ S HSS0IL A0 e



— = g
18. Uistl SSZ2 0 &y
1 %)
f24 Hz? AAS
HE)Q (B X2 W&, O st
c Qus =) SO A O
<2016>
S| = 100.0 58.0 10.7 6.4 24.7 0.2
<2018>
& = 100.0 59.7 9.0 6.0 25.0 0.2
T A(E B) 100.0 60.3 9.4 5.7 24.4 0.2
SHE(SHE) 100.0 54.5 6.0 9.1 29.9 0.5
=1 \; 100.0 62.6 8.2 6.2 22.8 0.1
o4 At 100.0 55.7 10.2 5.8 28.1 0.3
tHer(4E Ml 018t 100.0 57.8 11.2 7.3 23.6 0.2
=1 N 100.0 61.3 11.8 7.5 19.4 0.1
o4 At 100.0 52.8 10.3 6.9 29.8 0.3
CH&H(4E Hl Ol Al) 100.0 60.6 8.0 5.5 25.7 0.2
= N 100.0 63.2 6.5 5.6 24.5 0.1
Xt 100.0 57.0 10.1 53 27.2 0.4
ZRNMOEC
ot = 100.0 62.1 7.3 6.1 24.4 0.1
= = 100.0 58.2 9.4 5.9 26.2 0.4
= ot = 100.0 50.9 18.2 6.5 24.4 -
JbRO FER AS
1002+ 0] 2t 100.0 57.6 9.8 5.1 27.2 0.3
100 ~ 2008+& 0] 2+ 100.0 47.5 12.9 6.0 334 0.2
200 ~ 3008+ 0| Gt 100.0 51.4 10.3 7.2 304 0.7
300 ~ 4000+ 0| ot 100.0 52.4 10.2 59 31.4 0.1
400 ~ 5002+ 0] 8* 100.0 65.8 7.5 10.2 16.5 -
500 ~ 6002+ 0|8t 100.0 75.2 5.9 4.1 14.8 -
6008HA O] 4t 100.0 71.6 6.1 3.6 18.7 0.0
Z= 1) (HEHA(SEHA B
2) hatA =010 (&S 2/0|a
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O | _
19-1. w=d[oil thst 214! (30M 014t Jt3)

(21 %)

é\l-/\OH =Nl

= Ct o

A JED); AH | T_° g = AT
o=t | T AgOH| O 2% 2] == _o‘f'u g 2% 3

<2016>
™ = 100.0 33.0 100.0 65.3 27.8 37.5 28.0 6.7 5.5 1.2
<2018>

Sl = 100.0 30.0 100.0 64.4 24.2 40.2 26.7 8.8 7.3 1.5
S ANE =) 100.0 31.7 100.0 65.4 24.6 40.8 26.4 8.1 6.9 1.3
SOHE(SH8) 100.0 223 100.0 583 21.6 36.6 28.4 13.3 10.2 3.1
= X 100.0 342 100.0 63.8 22.9 40.9 27.2 9.0 7.4 1.5
O \; 100.0 17.0 100.0 68.1 31.9 36.2 23.7 8.2 6.6 1.6
30 ~ 39 Al 100.0 22.9 100.0 55.9 17.5 38.4 33.0 11.0 9.6 1.4
40 ~ 49 Al 100.0 67.3 100.0 66.5 24.2 423 25.4 8.1 6.8 1.3
50 ~ 59 Al 100.0 36.4 100.0 64.1 26.7 37.4 26.8 9.1 7.3 1.8
60 Ml O & 100.0 23 100.0 65.1 23.7 41.4 23.7 11.2 7.4 3.9
= & 0| ot 100.0 2.0 100.0 68.2 28.8 39.4 24.4 7.4 4.0 34
= = 100.0 10.3 100.0 71.6 40.4 31.2 18.8 9.6 6.5 3.1
) = 100.0 33.0 100.0 68.7 28.1 40.6 229 8.4 7.0 1.4
th & 0 & 100.0 43.5 100.0 61.0 20.5 40.6 29.9 9.1 7.6 1.5
8 2 2 2 100.0 46.2 100.0 60.4 20.3 40.1 29.0 10.6 8.4 2.1
Al 2 100.0 51.1 100.0 63.2 20.9 42.4 28.7 8.1 6.9 1.2
AN Bl A B oY 100.0 35.1 100.0 67.8 29.4 38.4 26.0 6.2 53 0.9
= 0] foa| 100.0 10.9 100.0 55.9 18.0 37.9 31.1 12.9 11.0 1.9
Il s & 2 100.0 31.6 100.0 67.1 26.7 40.4 242 8.7 7.2 1.5
1002+2 Ol et 100.0 3.8 100.0 69.4 38.4 31.0 20.3 10.3 7.8 2.5
100 ~ 2008+& OJEH|  100.0 15.3 100.0 73.1 38.4 34.7 19.8 7.1 5.6 1.5
200 ~ 300¢H& Ofgt 100.0 24.8 100.0 70.3 31.4 38.9 22.2 7.5 6.0 1.4
300 ~ 4008HA OIEH| 100.0 36.7 100.0 66.4 243 422 25.9 7.7 6.3 1.4
400 ~ 5008+ 0| gt 100.0 48.5 100.0 66.0 23.0 43.0 26.9 7.1 6.0 1.1
500 ~ 6008HA OI8H| 100.0 51.5 100.0 63.2 20.1 43.0 28.6 8.2 7.1 1.1
6008H Ol &t 100.0 54.5 100.0 53.9 15.4 38.6 32.8 13.3 11.0 2.3
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O =
19-2. WsH| £ 2921 (30M 0|& J122F)
(EH2I: %)
_ EESmE=1el bV CI==SUNE P
A" SUEHAS | aay ) | (mg s SR B
<2016>
P = 100.0 30.0 62.1 1.1 6.7 0.1
<2018>
’S| = 100.0 27.8 65.2 - 7.0 0.1
T AMES 2 100.0 27.4 65.9 - 6.6 0.1
sSHE(SHE) 100.0 30.4 59.7 - 9.5 0.4
=1 At 100.0 26.8 66.4 - 6.7 0.1
o:] At 100.0 33.2 58.1 - 8.3 0.4
30 ~ 39 A 100.0 59 92.1 - 2.0 -
40 ~ 49 Al 100.0 18.5 77.5 - 39 0.1
50 ~ 59 A 100.0 47.9 38.7 - 13.2 0.2
60 Al O] & 100.0 65.5 19.2 - 15.3 -
= Z£ 0| vof 100.0 57.7 37.5 - 4.8 -
= = 100.0 44.1 45.1 - 10.8 -
i = 100.0 32.9 60.2 - 6.9 -
H & 0 & 100.0 22.0 71.0 - 6.8 0.2
8 2 2 2 100.0 21.6 71.5 - 6.4 0.5
A 2 100.0 23.6 69.7 - 6.7 -
N Hl A B OY 100.0 26.7 65.8 - 7.5 -
= 6] A 100.0 399 50.4 - 9.7 -
Jl s & =2 100.0 32.9 60.0 - 7.1 -
bR FER AS
1002+ O et 100.0 36.7 454 - 17.0 0.9
100 ~ 2008+ D] Bt 100.0 36.7 55.9 - 7.2 0.2
200 ~ 3002+ D|et 100.0 30.1 62.5 - 7.0 0.3
300 ~ 4008+ DI 2t 100.0 27.2 67.0 - 5.8 -
400 ~ 5008+ D| 8t 100.0 30.4 61.6 - 8.0 -
500 ~ 6002 D| Bt 100.0 21.4 72.5 - 5.8 0.3
6008+ O] A 100.0 21.7 71.6 - 6.6 -
Z= 1) SMTHEDE Qs 30M 014 JIRE = 'K DSHIJF SYAYND S8 Y

2) 201840l A HE &=



L_J — o et — —
20-1. 29| st 2 FHOH ST (30M 0l4) - =S4
TRl %)
A HoE - g g | FUM _
225 | oL B2 ¥ 92 ekl
<2018>
S| = 100.0 42.0 13.0 29.0 234 34.6 21.5 13.1
T AME 2) 100.0 41.8 12.7 29.1 23.2 34.9 21.7 13.2
SH=E(SHE) 100.0 42.7 14.7 28.0 24.5 32.8 20.1 12.7
=t X 100.0 26.1 7.5 18.6 23.1 50.8 28.7 22.1
o4 N 100.0 58.6 18.8 39.8 23.7 17.7 13.9 3.8
30 ~ 39 Al 100.0 46.9 14.4 32.6 26.5 26.6 17.8 8.8
40 ~ 49 A 100.0 393 12.4 26.9 22.0 38.7 233 15.4
50 ~ 59 A 100.0 35.5 9.3 26.1 17.3 472 25.8 21.4
60 A O] &f 100.0 17.6 8.0 9.5 94 73.0 73.0 -
= & 0| ot 100.0 16.3 55 10.8 30.5 53.2 234 29.8
= = 100.0 24.0 14.6 9.5 27.0 48.9 25.5 234
) E 100.0 39.2 12.0 27.2 22.6 38.1 23.1 15.1
H & 0 & 100.0 441 13.5 30.6 23.7 32.2 20.5 11.7
229 FAN OIEL
ot = 100.0 46.6 15.4 31.1 23.1 30.4 19.3 11.1
s = 100.0 38.5 10.5 28.0 243 37.2 233 13.9
= ot = 100.0 34.0 11.0 229 21.8 442 24.8 19.5
RS EE8F AS
1002+ 0] 8t 100.0 332 10.6 22.6 22.7 441 20.7 234
100 ~ 20023 0] Ct 100.0 51.9 18.5 334 18.0 30.1 17.2 12.9
200 ~ 3002+ 0O|at 100.0 34.8 9.4 254 27.6 37.6 24.4 13.2
300 ~ 40002+& 0O|Ct 100.0 409 13.0 279 24.7 343 22.2 12.1
400 ~ 5002+ 013t 100.0 428 12.0 30.8 22.6 34.6 20.5 14.1
500 ~ 60023 O|Ct 100.0 44.7 11.4 333 18.9 36.4 22.1 14.3
6008+H2 O] &t 100.0 432 16.0 27.2 24.4 32.4 20.4 12.0
1) ZS8D WEE A Ys 22
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S| S o = =35
20-2. 229 st 2H FH0H = (30M 0|4 - S5t
CHl: %)
A HoE oo g g | FUM _
a0l He 2% %23 =22 ke
<2018>
= = 100.0 25.3 6.3 19.0 20.8 53.8 343 19.6
T ANE =2) 100.0 24.8 5.9 18.8 20.3 54.9 35.1 19.8
SHE(SHE) 100.0 28.1 8.2 19.9 235 485 30.2 182
o Xt 100.0 14.6 3.7 11.0 19.8 65.5 37.0 28.6
O Xt 100.0 36.2 9.0 27.2 21.9 41.9 31.5 10.4
30 ~ 39 Al 100.0 31.0 10.8 20.2 20.3 48.7 34.2 14.5
40 ~ 49 Al 100.0 25.0 59 19.1 21.2 53.7 34.4 19.3
50 ~ 59 Al 100.0 23.1 5.6 17.5 18.4 58.5 32.7 25.8
60 Al O & 100.0 - - - 33.1 66.9 66.9 -
x & 0 &t 100.0 16.4 11.6 4.8 16.0 67.6 12.7 54.9
= = 100.0 14.6 10.2 4.4 23.2 62.2 34.5 27.6
il = 100.0 22.0 55 16.6 20.9 57.1 36.3 20.7
= o & 100.0 28.5 6.7 21.8 20.8 50.7 32.8 17.9
2RO F2M HEL
ot = 100.0 31.4 6.9 24.5 21.1 47.6 29.6 17.9
] s 100.0 21.4 6.3 15.0 21.7 57.0 38.7 18.3
g o = 100.0 15.9 3.7 12.2 16.9 67.2 36.2 31.0
7o 83 &S
1002H2 0| ot 100.0 16.2 8.4 7.8 10.6 73.2 30.8 423
100 ~ 2002+8! O et 100.0 15.7 2.4 133 20.0 64.3 322 322
200 ~ 30022 0| gt 100.0 21.1 4.5 16.6 22.6 56.3 36.5 19.8
300 ~ 4008+ 0|8t 100.0 21.9 6.1 15.8 22.7 55.4 36.9 18.5
400 ~ 5002+ 08t 100.0 232 7.0 16.2 19.0 57.8 40.8 17.0
500 ~ 6002+ 0|2t 100.0 303 72 23.1 22.1 47.6 27.0 20.7
6008+ 0] & 100.0 33.0 7.6 25.4 19.5 475 30.9 16.6
=:1) S8 MES2 HEHI A= 22
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L_J — o el —_—
20-3. 229 st 2 &0 = (30M 014a) - nSahd
CHl: %)
A HoE - g g | FUM _
225 | oL B2 % = ekl
<2018>
& = 100.0 16.9 43 12,6 21.9 61.2 37.1 24.1
T ANE =2) 100.0 16.8 4.1 12.7 213 61.9 38.0 24.0
SHE(SHE) 100.0 17.6 53 12.3 25.5 56.9 31.7 253
o Xt 100.0 9.9 2.5 7.4 18.5 71.6 40.0 31.6
o Xt 100.0 23.7 6.0 17.7 25.2 51.1 343 16.9
30 ~ 39 Al 100.0 18.0 6.2 11.8 32.7 493 36.2 13.1
40 ~ 49 Al 100.0 17.4 45 12.9 223 60.4 37.0 23.4
50 ~ 59 Al 100.0 15.8 35 12.3 19.5 64.7 37.8 26.9
60 Al O & 100.0 - - - 23.0 77.0 20.3 56.7
x & 0 &t 100.0 4.9 - 4.9 32.8 62.2 25.8 36.4
= = 100.0 7.1 2.6 4.4 8.9 84.1 39.6 44.5
il = 100.0 13.7 3.9 9.8 223 64.0 39.0 25.0
= o & 100.0 20.5 4.8 15.7 22.1 57.4 35.4 22.0
200 2N OEE
ot = 100.0 21.7 5.2 16.5 23.0 55.3 34.1 21.2
2 s 100.0 13.4 3.9 9.5 223 64.3 40.8 23.4
g o = 100.0 10.9 2.0 8.9 15.3 73.9 34.5 39.4
7o g8a &S
1002t2 0| ot 100.0 5.8 - 5.8 13.5 80.7 353 45.4
100 ~ 2008+2! 0ot 100.0 17.3 3.4 13.9 19.0 63.7 33.4 303
200 ~ 3002+ 0| gt 100.0 9.5 0.7 8.8 23.6 66.9 40.2 26.7
300 ~ 4008+ 0| gt 100.0 13.4 3.4 10.1 212 65.3 38.6 26.7
400 ~ 5002+ 08t 100.0 18.4 6.2 122 19.0 62.6 41.7 20.8
500 ~ 6008+ 0|2t 100.0 20.7 4.2 16.4 23.8 55.5 34.1 21.4
6008+ 0 & 100.0 212 6.0 152 24.0 54.8 33.1 21.7
=:1) S8 Wetsel XAEI A= 22
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21. A4 seshofl thst AHall (30A1 0142)

HHRst2 |/dteE 0l
PIE ST E!
_ 2=
1) I}E s ;ﬂ; Q= Q=0 S AL S =t =
o5 - L |a= st S rakel PN o
9 x| oIMZ | 80| | 2HGt= nss| oo Et ==
= = f=3 = = s
grop? | 21N BIRE BE U255 | 2 4
oA 2| 3l A
<2016>
Sl = 100.0 57.4 100.0 19.2 43.0 7.8 4.3 24.6 1.1 0.1 302 124
<2018>
Sl = 100.0 58.6 100.0 13.4 46.0 7.9 33 28.4 0.7 0.3 269 14.5
S ANE B) 100.0 60.0 100.0 14.0 46.3 8.0 3.1 27.6 0.7 03 259 142
SHE(SHR) 100.0 50.8 100.0 9.4 439 7.2 4.5 34.0 09 02 328 164
=1 n: 100.0 55.8 100.0 12.2 48.6 7.2 3.6 27.1 09 03 289 153
0] i 100.0 61.5 100.0 14.5 43.6 8.5 3.0 29.6 0.6 02 249 13.6
= £ 0| ot 100.0 30.3 100.0 5.7 54.8 6.4 1.9 31.2 - - 485 21.2
= = 100.0 37.4 100.0 1.8 33.9 10.4 6.1 45.1 2.8 - 394 231
n = 100.0 50.5 100.0 12.6 41.0 8.9 4.9 314 09 03 325 17.0
o & 0 & 100.0 66.1 100.0 14.3 49.0 7.3 2.3 26.2 0.6 0.3 21.8 12.1
d 2 2 2 100.0 66.4 100.0 13.0 49.0 6.3 2.6 28.1 04 0.6 21.6 12.0
Ak 2 100.0 61.8 100.0 14.9 50.4 7.7 1.8 24.1 0.7 0.5 252 13.0
M Bl A T DY 100.0 59.1 100.0 12.1 459 10.5 3.0 27.8 0.7 0.1 29.1 11.9
= O e 100.0 49.6 100.0 4.6 41.3 53 4.0 44.8 - - 340 164
J s & =2 100.0 44.2 100.0 10.3 439 9.0 6.1 29.6 1.1 - 359 19.8
E eI

ot = 100.0 61.6 100.0 13.3 48.0 7.1 2.5 28.5 03 04 253 13.1
2 = 100.0 55.6 100.0 13.0 43.9 8.8 3.7 29.3 1.2 0.1 279 16.5
= ot = 100.0 57.1 100.0 15.2 44.7 8.3 5.2 25.1 1.0 0.5 29.8 13.1

o 28 &S
1002+ O]t 100.0 43.2 100.0 7.4 57.2 2.8 1.6 28.1 3.0 - 426 142
100 ~ 2008+ 0] 2H| 100.0 48.9 100.0 10.8 373 9.3 2.9 38.8 02 0.7 354 157
200 ~ 3002+ DI8H]100.0 51.4 100.0 12.1 39.3 11.2 5.0 30.0 1.6 0.7 30.0 18.7
300 ~ 4002+ DIBH|[ 100.0 55.4 100.0 14.0 41.6 9.2 3.7 30.4 09 0.1 27.8 16.8
400 ~ 5009+ DI8]100.0 56.9 100.0 11.9 47.7 7.9 3.9 27.9 0.6 - 282 15.0
500 ~ 6002+ DIBH|[ 100.0 62.9 100.0 15.7 49.0 5.2 3.1 26.4 0.7 - 24.1 13.0
6002H& O & 100.0 69.3 100.0 14.2 51.0 6.7 2.0 25.2 03 0.5 20.9 9.8

S8 ZEHIEI A= B2
22 & U4 Rs=S dots AlEY

s 2
o S DDEHZI HOIN'AS
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22. A24HI}
Sl %)
Al Ew, < £ 2 | 28010 | UG L & o <
eS8 EOICH =olCt LEBsCh
<2016>
| = 100.0 47.1 10.2 37.0 37.8 15.1 13.1 2.0
<2018>

o = 100.0 48.8 9.1 39.6 36.1 15.1 12.9 2.2
S AME 2) 100.0 49.2 8.9 40.3 36.9 13.9 12.0 1.9
sHE(8HS) 100.0 46.9 10.4 36.5 325 20.6 17.3 33
= Xt 100.0 52.0 10.6 41.4 35.8 12.2 10.4 1.8
O Xt 100.0 45.7 7.7 37.9 36.5 17.9 15.4 2.5
183 ~ 19 A 100.0 75.7 27.4 483 21.8 24 2.3 0.1
20 ~ 29 Al 100.0 67.2 16.8 50.4 28.3 4.5 42 0.3
30 ~ 39 Al 100.0 58.4 10.1 483 352 6.4 6.0 0.4
40 ~ 49 M 100.0 48.2 6.3 41.9 42.5 9.3 8.6 0.7
50 ~ 59 Al 100.0 42.2 5.0 37.2 43.0 14.9 13.0 1.9
60 Al O #&f 100.0 27.2 2.9 243 36.0 36.8 30.2 6.6
65 M O & 100.0 22.8 2.5 20.3 33.6 43.5 351 8.4
= £ 0 ot 100.0 29.9 8.1 21.8 28.7 414 33.0 8.4
= £ 100.0 453 10.4 34.9 34.5 20.3 17.5 2.7
) = 100.0 48.3 8.4 39.9 39.6 12.1 10.8 1.4
0 £ o & 100.0 57.2 9.8 47.4 36.0 6.8 6.3 0.5
0l = 100.0 65.8 17.7 48.1 28.3 59 52 0.7
B2 O U3 100.0 448 6.0 38.7 40.3 14.9 13.1 1.8
At 2 100.0 19.1 22 16.9 32.0 48.9 39.9 9.0
0l = 100.0 36.0 4.2 31.8 39.2 24.8 19.5 53
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23. AL
%)
FE ALAFGHD| MAN £H(6~8AI2 AN 25 HI| HLAHA
Hl = = = ~
~ otXl o= ot Xl _ ot Xl _ otXl
&t &l & &t 8t 8t
B Tore gy O et O ere U e
<2016>
S| = 100.0 67.2 32.8 77.2 22.8 38.0 62.0 60.7 39.3
<2018>
S| = 100.0 67.3 32.7 77.5 22.5 38.3 61.7 80.4 19.6
T A(E B) 100.0 65.4 34.6 76.9 23.1 39.2 60.8 80.4 19.6
SHE(SHR) 100.0 76.3 23.7 80.3 19.7 339 66.1 80.3 19.7
=1 N; 100.0 65.8 342 77.6 22.4 40.7 59.3 81.2 18.8
o4 At 100.0 68.8 31.2 77.4 22.6 359 64.1 79.6 20.4
13 ~ 19 Al 100.0 63.4 36.6 71.3 28.7 37.1 62.9 83.2 16.8
20 ~ 29 Al 100.0 42.6 57.4 73.1 26.9 36.8 63.2 57.1 429
30 ~ 39 Al 100.0 50.2 49.8 75.9 24.1 332 66.8 77.9 22.1
40 ~ 49 AN 100.0 65.7 343 77.8 22.2 35.7 64.3 85.7 14.3
50 ~ 59 Al 100.0 76.1 239 79.7 20.3 40.8 59.2 86.6 13.4
60 M O & 100.0 90.1 99 81.4 18.6 43.3 56.7 86.2 13.8
65 AN Ol & 100.0 91.9 8.1 81.5 18.5 43.0 57.0 85.4 14.6
= £ 0| ot 100.0 86.2 13.8 79.7 20.3 34.2 65.8 84.0 16.0
= = 100.0 76.8 23.2 75.6 24.4 353 64.7 88.1 11.9
1 = 100.0 63.6 36.4 76.8 23.2 373 62.7 73.0 27.0
£ 0 & 100.0 61.1 38.9 77.9 22.1 41.7 58.3 83.7 16.3
& 2 2 2 100.0 60.1 399 77.0 23.0 404 59.6 91.0 9.0
At 2 100.0 57.7 423 78.3 21.7 39.7 60.3 94.5 5.5
N Hl A DH 100.0 59.6 40.4 74.3 25.7 34.5 65.5 78.9 21.1
= A 100.0 933 6.7 86.6 13.4 25.5 74.5 81.2 18.8
Jl s & 2 100.0 68.7 31.3 78.3 21.7 33.1 66.9 85.5 14.5
0l = 100.0 50.4 49.6 72.2 27.8 36.8 63.2 69.0 31.0
bl < A S 100.0 74.4 25.6 80.8 19.2 399 60.1 86.3 13.7
At =] 100.0 86.4 13.6 77.8 22.2 35.2 64.8 80.4 19.6
0Ol =3 100.0 60.1 399 70.4 29.6 334 66.6 78.0 22.0
10003 O] 8t 100.0 75.2 248 74.0 26.0 34.1 65.9 71.3 28.7
100 ~ 2002H& 0] St 100.0 71.2 28.8 76.6 234 37.4 62.6 76.6 234
200 ~ 3002+ 0] St 100.0 65.5 34.5 78.9 21.1 37.6 62.4 79.4 20.6
300 ~ 4002H& 0] St 100.0 64.1 359 78.5 21.5 36.5 63.5 81.5 18.5
400 ~ 5008+& 0|t 100.0 65.1 34.9 77.3 22.7 38.8 61.2 83.5 16.5
500 ~ 6002H& 0] St 100.0 66.9 33.1 78.0 22.0 39.5 60.5 83.7 16.3
6008HA O] &b 100.0 65.9 34.1 77.9 22.1 44 .4 55.6 86.2 13.8

- 03 -



24-1. 8 Y SA (194 0]4)
(S : %)
A w8V | gy |10l 11~20 | 2004H1 | 9IS |, | BO0E | DEX
= o 3t | JHHI | o & - ngs | ¢ 8
<2016>
al = 100.0 20.8 100.0 514 433 53 79.2 100.0 23.2 76.8
<2018>
) = 100.0 20.3 100.0 53.7 423 4.1 79.7 100.0 22.9 77.1
S AME =) 100.0 20.4 100.0 55.0 41.2 3.7 79.6 100.0 22.4 77.6
sHE(SHR) 100.0 20.1 100.0 47.2 47.1 5.7 79.9 100.0 25.4 74.6
=4 Xt 100.0 37.7 100.0 51.0 44.6 4.4 62.3 100.0 51.9 48.1
o At 100.0 3.5 100.0 81.2 17.8 1.0 96.5 100.0 4.8 95.2
19 ~ 29 A 100.0 19.0 100.0 67.5 30.1 2.4 81.0 100.0 10.6 89.4
30 ~ 39 A 100.0 253 100.0 59.6 38.4 2.1 74.7 100.0 19.7 80.3
40 ~ 49 Al 100.0 25.9 100.0 46.0 49.5 4.5 74.1 100.0 24.5 75.5
50 ~ 59 A 100.0 22.1 100.0 45.7 48.0 6.3 77.9 100.0 26.4 73.6
60 M O & 100.0 12.1 100.0 54.9 40.3 4.8 87.9 100.0 29.0 71.0
65 M O & 100.0 9.8 100.0 59.9 37.2 2.9 90.2 100.0 28.7 71.3
= & 0 dt 100.0 11.1 100.0 554 383 6.3 88.9 100.0 20.4 79.6
= = 100.0 18.9 100.0 47.6 44.2 8.2 81.1 100.0 26.8 73.2
i ES 100.0 242 100.0 49.7 45.9 4.4 75.8 100.0 22.7 77.3
o & 0o & 100.0 19.7 100.0 59.2 38.3 2.5 80.3 100.0 23.1 76.9
8 2 & c 100.0 20.0 100.0 56.4 40.5 3.0 80.0 100.0 25.0 75.0
Ab == 100.0 23.5 100.0 60.3 38.3 1.5 76.5 100.0 26.3 73.7
A oHl A B O 100.0 22.4 100.0 57.6 38.2 4.2 77.6 100.0 19.7 80.3
= o A 100.0 18.3 100.0 42.7 50.3 7.1 81.7 100.0 325 67.5
I s & 2 100.0 353 100.0 45.1 49.5 54 64.7 100.0 373 62.7
RO HEA AS

100 2HA 0] 8F 100.0 15.9 100.0 59.2 36.1 4.7 84.1 100.0 23.1 76.9
100~2002H& 0| Bt 100.0 20.8 100.0 50.8 44.8 4.4 79.2 100.0 23.2 76.8
200~3002+& 0O]8t 100.0 23.4 100.0 51.9 43.9 4.3 76.6 100.0 23.1 76.9
300~4002+& 0O]8t 100.0 22.3 100.0 52.1 43.6 4.3 77.7 100.0 22.4 77.6
400~5002+& 0O]8t 100.0 21.3 100.0 54.8 41.4 3.9 78.7 100.0 23.7 76.3
500~6002+& 0O]8t 100.0 17.9 100.0 54.7 42.4 3.0 82.1 100.0 23.5 76.5
6000t 0 &t 100.0 17.2 100.0 57.5 39.1 34 82.8 100.0 21.9 78.1

F)EADIEY EHI SR
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24-2. Nt 1A S =8 NZ 05 X SHO0| 0122 0157 (1941 012)

(<
20AIE 08 200l o2 01
Aean CEAMEO 2 ) OIZ
A A CH | g o | w? n = |URY IR SHOH D9 Bl
= A0 A MEM S22 H2
<2016>
P = 100.0 50.4 49.6 100.0 55.1 4.9 7.2 32.4 0.5
<2018>
b = 100.0 473 52.7 100.0 52.6 52 8.3 33.7 0.1
T AM(Es B8) 100.0 48.3 51.7 100.0 52.7 5.1 8.4 33.7 0.1
SHE(SHE) 100.0 42.6 57.4 100.0 51.8 5.9 8.1 34.0 0.2
= Xt 100.0 47.6 52.4 100.0 52.8 5.2 8.4 334 0.1
o nN; 100.0 44.6 55.4 100.0 50.2 4.9 72 37.4 0.3
19 ~ 29 Al 100.0 43.5 56.5 100.0 44.6 9.0 6.4 39.5 0.5
30 ~ 39 Al 100.0 47.4 52.6 100.0 65.1 4.9 4.9 25.1 -
40 ~ 49 A 100.0 48.0 52.0 100.0 58.6 4.7 7.8 28.8 0.1
50 ~ 59 Al 100.0 47.1 52.9 100.0 51.8 3.5 8.5 36.1 0.1
60 M O & 100.0 50.5 49.5 100.0 34.1 53 15.5 45.1 0.1
65 M O & 100.0 48.4 51.6 100.0 28.6 3.6 17.4 50.2 0.1
= £ 0| of 100.0 43.9 56.1 100.0 39.2 5.7 12.8 42.4 -
= = 100.0 45.8 54.2 100.0 52.9 3.7 11.6 31.4 0.3
) = 100.0 45.8 54.2 100.0 50.4 5.6 8.8 35.0 0.1
tH = 0] & 100.0 50.0 50.0 100.0 56.8 5.0 6.5 31.6 0.1
d 2 2 2 100.0 48.8 51.2 100.0 56.6 4.1 5.1 33.9 0.2
At 2 100.0 53.3 46.7 100.0 60.4 6.1 7.1 26.3 0.1
N dHl A B 0f 100.0 479 52.1 100.0 54.8 6.4 73 31.3 0.2
= o jou! 100.0 42.0 58.0 100.0 37.4 6.5 15.0 40.7 0.4
l s &£ =2 100.0 45.5 54.5 100.0 57.0 4.1 7.9 30.9 0.1
JbRo AWR AS
100 B+ O] Bt 100.0 46.9 53.1 100.0 399 3.9 11.7 43.6 0.8
100~2002H& O] St 100.0 433 56.7 100.0 48.6 6.1 11.8 335 -
200~3002H&4 O] et 100.0 44.4 55.6 100.0 53.3 4.3 8.4 33.8 0.1
300~4002H& O] 8t 100.0 49.4 50.6 100.0 54.0 4.8 6.9 34.2 0.1
400~5008H&4 O] et 100.0 51.1 48.9 100.0 57.3 6.4 5.1 31.2 -
500~6002H& O] St 100.0 49.2 50.8 100.0 58.8 52 59 30.1 -
6008HA O] At 100.0 50.0 50.0 100.0 53.6 5.8 9.3 31.3 -
) EAJELY S EALY
2) XA D=L BT SO = KLt 1 SO 2OAITE 3HH0| Us AR



O R O RS A
25-1. 8% L SF34 (19AM] o 4h
(St : %)
- o 4 = - o o | DKM
Al == A 7 §1§| E: —75—: —7.5: 49l |HI2= A H| oy | =2
Ol df |2~33] |1~23] |3~43| | OHL no o
<2016>
X = 1000 654 1000 260 297 281 113 49 346 1000 420 580
<2018>
X = 1000 652 1000 257 294 201 111 48 348 1000 456 544
= AE B) 1000 669 1000 261 298 289 108 43 331 1000 468 532
ColE(S0D) 1000 573 1000 231 270 298 129 7.0 427 1000 412 588
Lt %} 1000 774 1000 173 270 336 152 69 226 1000 634 366
o Xt 100.0 534 1000 375 327 227 53 18 466 1000 372 628
19 ~ 29 Al 1000 79.6 1000 284 356 279 64 17 204 1000 413 587
30 ~ 39 Al 1000 775 1000 232 307 328 107 26 225 1000 538 462
40 ~ 49 A 1000 755 1000 243 284 302 130 41 245 1000 507 493
50 ~ 59 Al 1000 641 1000 252 258 278 141 7.1 359 1000 455 545
60 M Ol & 1000 398 1000 280 252 257 115 97 602 1000 429 57.1
65 Ml 0O & 1000 343 1000 298 245 238 111 108 657 1000 424 576
= = o 3 1000 325 1000 287 231 237 126 119 675 1000 400  60.0
= = 1000 489 1000 272 246 247 133 101 SL1 1000 442 558
In) = 1000 688 100.0 252 289 290 120 49 312 1000 451 549
o= o & 1000 750 1000 254 313 305 99 29 250 1000 514 486
0l = 1000 785 1000 270 333 295 80 23 215 1000 441 559
e xS 1000 645 1000 249 279 292 124 56 355 1000 478 522
Al = 1000 273 1000 376 270 220 73 61 727 1000 354 646
ol = 1000 640 1000 204 271 294 152 79 360 1000 523 477
H o2 2 g 1000 764 1000 246 316 304 104 31 236 1000 499  50.1
Al =} 100.0 824 1000 219 313 318 119 31 176 1000 495 505
M oHl A B O 1000 722 1000 242 282 304 128 45 278 1000 456 544
= o o 1000 493 1000 211 199 274 156 160 507 1000 429  57.1
s L& o= 1000 723 1000 194 257 329 147 74 277 1000 495 505
F ) AY1E S0t =2 st & 0l 4 DAL AP
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25-2. At 1d S EF - SF MNEHR XL EHF - SFIH AR 0157 (1941 0]4))
(&2 @ %)
HEQFAE O =ESEES N EERVE
v lao | oo o | AEBA | ASIME|2SE M é'ﬁﬂ' .
A & W T 2| medMd | ddM o
&2 me
<2016>
| = 100.0 26.9 73.1 100.0 41.1 53.1 33 - 2.5
<2018>
| = 100.0 27.3 72.7 100.0 30.4 40.5 1.3 273 0.4
T AME 2) 100.0 27.8 72.2 100.0 30.6 40.5 1.3 27.2 0.4
SHE(SHE) 100.0 25.0 75.0 100.0 29.2 40.1 1.7 28.3 0.7
=t At 100.0 26.3 73.7 100.0 28.6 43.1 1.6 26.4 0.4
o4 At 100.0 29.8 70.2 100.0 34.7 344 0.7 29.6 0.6
19 ~ 29 Al 100.0 22.2 77.8 100.0 22.7 55.4 0.8 20.6 0.5
30 ~ 39 Al 100.0 27.8 72.2 100.0 36.3 36.3 0.8 26.0 0.6
40 ~ 49 A 100.0 30.2 69.8 100.0 34.2 39.9 0.6 252 0.2
50 ~ 59 Al 100.0 28.8 71.2 100.0 30.2 41.8 1.8 259 0.2
60 M O &t 100.0 25.6 74.4 100.0 224 323 3.2 413 0.8
65 M O &t 100.0 23.6 76.4 100.0 20.7 25.7 4.4 49.2
= & 0 ot 100.0 26.2 73.8 100.0 36.4 18.8 2.8 42.0
= = 100.0 28.5 71.5 100.0 30.8 31.7 3.7 32.5 1.3
ni = 100.0 28.3 71.7 100.0 34.2 399 1.5 24.1 0.3
o = o & 100.0 26.4 73.6 100.0 25.8 45.5 0.6 27.6 0.5
d 2 2 2 100.0 25.8 74.2 100.0 21.9 51.3 0.2 25.8 0.7
Ab L 100.0 29.9 70.1 100.0 29.2 48.7 1.1 21.0
A Bl A & OH 100.0 28.1 71.9 100.0 354 38.0 2.0 24.6
= o jou! 100.0 22.2 77.8 100.0 26.0 29.7 3.0 40.5 0.8
Il s & 2 100.0 27.6 72.4 100.0 31.7 42.5 0.9 24.4 0.5
s = 3 4
=1 ~ 23 100.0 25.6 74.4 100.0 26.3 48.6 0.8 23.9 0.4
= 3 ~ 43 100.0 314 68.6 100.0 36.8 32.1 1.8 28.8 0.6
H 9 0 & 100.0 28.1 71.9 100.0 36.5 17.2 3.2 42.8 0.3
1) Y 1E SO E 18] 014 22 Ohal Al
2) K 11 SO ' 13] O/A 22 DA AR Z B2 T 252 AISH A2
zotel s=g

3) 201849 &2



omH= od P AN
26. 78 E, w4 A g (0M 014
(S92l %, &)
ses" R REYs TP YL

2012 | 2014 | 2016 | 2018 | 2012 | 2014 | 2016 | 2018 | 2012 | 2014 | 2016 | 2018

H = 24.1 246 257 275 8.5 8.9 9.2 9.4 0.6 0.7 0.8 0.5

S AME 2) 228 232 242 257 8.1 8.5 8.7 9.0 0.6 0.7 0.9 0.5

SHE(SHS) 304  31.8 328  36.1 9.7 10.3 10.8 10.6 0.5 0.7 0.6 0.4

=] N 212 221 228 249 8.3 8.7 9.0 9.2 0.6 0.8 0.8 0.5

o \; 269  27.1 28.5 30.1 8.6 9.1 9.3 9.5 0.6 0.7 0.9 0.4

0 ~ 9 Ml 262 274 242 200 5.0 4.9 5.0 52 0.2 0.6 0.4 0.5

10 ~ 19 Al 9.8 9.2 8.9 9.8 4.8 4.7 4.7 5.1 0.5 0.5 0.8 0.3

20 ~ 29 A 10.9 9.5 9.8 10.6 5.6 5.6 5.7 5.7 0.6 0.8 0.8 0.4

30 ~ 39 A 13.0 11.4 11.9 14.8 5.7 6.2 6.0 6.2 0.6 0.8 0.8 0.6

40 ~ 49 A 17.6 16.3 17.1 20.1 7.5 7.5 7.2 7.5 0.8 0.8 0.8 0.5

50 ~ 59 Al 297 289 307 314 9.0 9.0 9.2 9.3 0.7 0.6 0.8 0.4

60 A O &t 56.1 59.9  60.2 60.8 11.0 114 11.6 11.7 0.6 0.8 0.9 0.5

65 M O & 609 652 659 676 11.2 11.7 12.0 11.9 0.6 0.8 1.0 0.5
RO B AS

1008+ Ol et 454 517 53.0 569 10.7 11.3 11.7 11.9 0.6 0.8 1.0 0.5

100 ~ 2008+ OB+ 254 293 319 367 9.0 9.3 10.1 10.5 0.7 0.8 0.8 0.5

200 ~ 300eH& 0Ofgt 20.1 204 230 257 7.5 8.0 8.6 9.1 0.6 0.6 0.8 0.4

300 ~ 4008+& 0O]gt 18.9 164 203 219 6.9 7.4 7.6 8.3 0.6 0.6 0.6 0.5

400 ~ 5008+ O B¢ 18.0 17.0 17.1 20.8 6.7 7.4 7.3 7.6 0.5 0.7 0.9 0.4

500 ~ 6008+& 0O]8t 17.3 18.9 19.6  20.7 6.5 6.9 6.9 7.3 0.4 0.6 0.6 0.4

6002t Ol &t 17.0 18.2 16.7 18.7 6.7 6.7 6.7 7.3 0.6 0.7 0.8 0.5

F 1) X 2% Y SOF oMl 014 917 F FYOIL ALDZ OHEE X0l ACHD SEE ARl HIE2



27-1. 2|8 MU| £ PSS

el %)
Al "=l we 2w | FSERE L an | ge
<ESg8dE >
<2016>
| = 100.0 533 19.2 34.1 345 12.2 10.5 1.7
<2018>
bS| = 100.0 57.7 20.6 37.2 31.6 10.7 9.4 1.2
S AE =) 100.0 57.0 19.5 37.5 31.9 11.1 9.8 1.4
sSHE(SYR) 100.0 60.9 253 35.6 30.5 8.6 8.0 0.6
= At 100.0 57.9 20.0 37.9 31.2 10.9 9.4 1.5
o \; 100.0 57.5 21.1 36.4 32.0 10.5 9.5 0.9
<golE >
<2016>
b = 100.0 49.1 12.3 36.8 43.4 7.5 7.0 0.5
<2018>
b = 100.0 54.2 11.6 42.6 38.7 7.1 6.7 0.5
S AME =B 100.0 532 11.0 422 39.4 7.3 6.9 0.5
SHE(SHE) 100.0 58.5 14.3 442 353 6.2 5.7 0.4
= \; 100.0 52.5 10.5 42.0 40.4 7.0 6.5 0.5
o Xt 100.0 55.5 12.5 43.0 373 7.2 6.8 0.4
<FD YR >
<2016>
b = 100.0 49.0 13.4 355 40.8 10.3 8.1 2.1
<2018>
b = 100.0 52.1 15.6 36.6 36.9 10.9 9.1 1.9
S AE =) 100.0 51.7 15.6 36.1 37.7 10.6 8.7 1.9
SHE(SYR) 100.0 55.8 15.5 40.3 30.4 13.7 12.1 1.7
=4 Xt 100.0 51.2 15.1 36.1 38.8 10.0 8.1 1.8
o Xt 100.0 533 16.1 37.1 345 12.2 10.3 1.9
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IS
27-1. 9|2 MH| & BEE - A5
t %)
H e o | o 2 s | x| o
< gtoli(sray ) >
<2016>
bS] =2 100.0 53.3 20.1 33.3 38.5 8.2 7.0 1.2
<2018>
bS] =2 100.0 57.0 17.8 39.2 38.0 49 438 0.1
T OAME B) 100.0 56.0 16.9 39.1 39.0 5.0 49 0.1
=0 E(SHE) 100.0 64.5 24.1 40.4 31.1 44 44 -
et Xt 100.0 57.7 16.8 40.9 37.9 44 4.4 -
of Xt 100.0 56.5 18.6 38.0 38.1 53 5.1 0.2
<2EA
<2016>
bS] = 100.0 61.9 31.6 30.3 31.8 6.3 6.2 0.1
<2018>
bS] 2 100.0 71.5 32.9 38.7 243 42 3.8 0.4
S AME B2B) 100.0 63.3 26.0 37.2 31.9 4.8 4.8 -
=0 E(SHE) 100.0 79.0 39.0 40.0 17.4 3.6 2.8 0.8
L Xt 100.0 71.3 28.3 43.0 224 6.3 6.3 -
o4 Xt 100.0 71.7 36.5 35.2 25.8 25 1.8 0.8
< AF(EAR) >
<2016>
bS] 2 100.0 33.0 8.5 24.5 62.6 45 3.9 0.5
<2018>
bS] =2 100.0 41.6 13.3 28.3 55.6 2.8 2.8 -
T OAME ) 100.0 40.8 13.9 27.0 56.0 3.1 3.1 -
=0 E(SHE) 100.0 46.1 95 36.6 52.7 1.2 1.2 -
et Xt 100.0 41.7 13.3 28.4 54.4 3.9 3.9 -
o4 Xt 100.0 41.5 13.3 28.3 56.9 1.6 1.6 -

- 100 -
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— = o
27-2. 8|l= MH|£& S80S 0157
(S 1 %)
X2 2z s 20l A
e G2l = ozAM | DY |HRoE
D zame | EEin CHOIAIRE | D 2 Heldt | JlE
e T e Y R e I N R T R i
<2016>
S| = 100.0 12.1 24.1 20.1 9.7 19.5 2.5 9.4 2.0 - 0.7
<2018>
| = 100.0 9.5 24.7 21.0 7.9 20.1 24 7.8 3.2 2.9 0.4
T A(s B) 100.0 9.1 25.1 21.7 8.1 20.6 2.0 8.2 2.7 2.1 0.5
sHE(SHER) 100.0 11.5 22.1 17.3 7.0 17.7 4.9 5.8 6.2 7.6 -
= \; 100.0 9.8 23.8 22.0 7.1 20.7 2.6 6.8 4.1 2.6 0.5
0] \; 100.0 9.2 25.5 20.1 8.6 19.7 2.3 8.7 2.5 3.2 0.3
13 ~ 19 A 100.0 8.6 15.7 24.6 7.0 31.6 1.6 6.7 4.1 0.2 -
20 ~ 29 Al 100.0 13.3 25.9 22.3 11.7 13.8 3.8 3.7 2.1 3.4 -
30 ~ 39 A 100.0 10.3 18.9 22.2 9.7 20.3 1.9 9.0 5.6 1.3 0.8
40 ~ 49 A 100.0 10.3 21.8 21.1 8.5 22.5 3.0 6.6 3.6 1.6 0.9
50 ~ 59 Al 100.0 8.5 233 19.4 6.7 24.8 23 102 33 1.6 -
60 Al O &f 100.0 7.0 344 20.0 5.0 15.0 1.9 8.2 1.3 6.9 0.3
65 Ml 0O & 100.0 6.3 34.1 17.9 53 15.8 1.7 8.7 1.5 8.3 0.3
= & 0] of 100.0 8.8 32.3 242 4.1 15.4 0.8 7.4 2.2 4.8 -
= = 100.0 6.3 31.5 19.2 7.4 19.4 2.7 8.8 1.8 2.6 0.3
n = 100.0 9.9 25.5 18.6 6.4 22.4 2.6 8.9 3.0 2.3 0.4
o & 0 & 100.0 10.1 20.0 23.0 10.6 19.4 2.6 6.5 4.1 3.0 0.7
x 1) 92 MHIA 2BETY
2) 20184 ARZ FItE B2



28. ~EH A HE

(S %)
HY L 2 OH ? e )N =N )] N S| o
ol=2 | B g MY | L)X %S
< MEHHOI ME>
<2016>
b =2 100.0 54.7 49 49.9 453 38.9 6.3
<2018>
A =2 100.0 54.4 5.1 493 45.6 38.8 6.9
T AE =) 100.0 55.2 52 50.0 44.8 38.4 6.3
SHE(SHE) 100.0 50.3 4.6 45.7 49.7 40.2 9.4
= Xt 100.0 53.1 4.6 48.5 46.9 39.5 74
of Xt 100.0 55.6 5.6 50.0 44.4 38.0 6.4
13 ~ 19 Al 100.0 423 26 39.7 57.7 452 125
20 ~ 29 Al 100.0 50.4 3.9 46.5 49.6 41.9 7.7
30 ~ 39 Al 100.0 62.2 5.6 56.6 37.8 33.6 42
40 ~ 49 A 100.0 62.7 5.1 57.6 373 33.6 3.7
50 ~ 59 Al 100.0 58.6 6.0 52.6 414 36.4 5.0
60 Al Ol &t 100.0 45.7 5.8 39.9 543 44.1 10.2
65 M O & 100.0 427 5.8 37.0 573 45.6 11.7
< JIEME >
<2016>
b 2 100.0 427 5.7 37.0 573 452 12.1
<2018>
= =2 100.0 40.8 5.6 35.2 59.2 46.0 13.2
T AE B) 100.0 41.0 5.7 353 59.0 46.1 12.9
=) E(8HE) 100.0 39.8 5.4 345 60.2 45.6 14.6
o Xt 100.0 34.8 4.1 30.8 65.2 49.6 15.6
o4 Xt 100.0 46.6 7.1 39.5 53.4 2.6 10.8
13 ~ 19 Al 100.0 29.4 2.7 26.7 70.6 50.0 20.6
20 ~ 29 Al 100.0 31.2 4.0 272 68.8 48.9 19.9
30 ~ 39 Al 100.0 45.2 6.1 39.1 54.8 433 115
40 ~ 49 Al 100.0 46.2 5.8 40.4 53.8 443 9.5
50 ~ 59 Al 100.0 44.4 6.4 38.0 55.6 453 103
60 Al O & 100.0 40.4 6.5 33.9 59.6 46.8 12.8
65 M O & 100.0 39.4 6.5 32.9 60.6 47.0 13.6
0l s 100.0 31.6 3.7 27.9 68.4 49.6 18.8
B2 KA S 100.0 45.0 5.9 39.1 55.0 45.0 10.0
Ab = 100.0 39.0 6.8 322 61.0 44.7 16.4
0l s 100.0 47.7 11.0 36.7 523 39.8 12.5
F ) A 2FY Soto] AEYHA (HEN Us 22
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28. 2EH A HE - AS

(2 : %)
H Sl if] ? e |woaxgs| =0 A A 5
20| =2 B oe mol L)X %=
< EHEAME >
<2016>
= =2 100.0 733 183 55.1 26.7 223 44
<2018>
= =2 100.0 71.8 16.6 55.2 28.2 23.0 52
T AE =) 100.0 73.9 17.7 56.2 26.1 216 45
SO E(SHE) 100.0 62.9 11.9 51.0 37.1 29.2 7.8
= Xt 100.0 73.3 17.0 56.3 26.7 21.7 49
o4 Xt 100.0 69.8 16.0 53.7 30.2 24.7 5.5
13 ~ 19 A 100.0 522 74 44.8 47.8 30.1 17.7
20 ~ 29 Al 100.0 72.0 19.1 52.9 28.0 22.0 6.0
30 ~ 39 Al 100.0 78.0 20.8 573 220 19.1 2.9
40 ~ 49 Al 100.0 77.9 19.6 58.3 22.1 18.7 3.4
50 ~ 59 Al 100.0 72.4 14.6 57.8 27.6 233 43
60 Al Ol & 100.0 54.7 8.0 46.7 453 34.8 10.5
65 Al O & 100.0 47.1 5.4 41.7 529 39.1 13.8
H o2 2 g 100.0 729 185 54.4 27.1 23.0 4.1
A (=] 100.0 77.7 20.7 56.9 23 19.2 3.1
Mol A B OY 100.0 7.2 17.0 55.3 27.8 224 5.4
s o = 100.0 40.4 3.1 373 59.6 45.6 14.0
s & 2 100.0 73.2 15.0 58.2 26.8 21.4 5.3
< StmME >
<2016>
bS] 2 100.0 52.9 8.4 445 47.1 353 11.8
<2018>
bS] =2 100.0 49.6 6.9 42.8 50.4 36.3 14.1
T AE =) 100.0 49.8 7.1 42.6 50.2 36.6 13.6
SHE(SHE) 100.0 48.7 5.1 43.6 51.3 34.0 17.3
= Xt 100.0 44.0 5.5 38.4 56.0 39.1 16.9
o Xt 100.0 56.1 8.4 47.7 439 33.0 10.9
Z-=-10H 100.0 51.9 6.1 45.7 48.1 342 13.9
= Xt 100.0 46.0 49 41.1 54.0 36.9 17.1
o4 Xt 100.0 58.0 75 50.6 42.0 313 10.6
O W ol & 100.0 54.0 8.8 452 46.0 35.4 10.6
o Xt 100.0 48.6 7.0 41.6 51.4 38.5 12.9
o Xt 100.0 60.9 11.2 49.7 39.1 314 7.7
=) A 2= S0o] AEY A W UE S
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Sk =25 ) o
29. AHatof| tist &= S 9 0|7
(St : %)
D:lx“xi Ol/\—l pN| _|. XI X} OlE jI.X‘I g&‘ E$
Ql [=} -/ (=} g 3 | o L = (=} = = =
H CHl oy - 2= | 2 o = |0 | met | 23 | g
oes| 2H | o | =M | D= | =23 | S |
e me
<2016>
& = 100.0 6.4 100.0 35.5 3.1 13.5 9.5 14.2 14.4 4.7 1.5 3.6
<2018>

& = 100.0 5.1 100.0 37.3 3.8 15.2 9.4 12.3 14.1 3.1 1.4 3.5
T AM(E B8) 100.0 5.2 100.0 38.2 4.1 13.7 10.1 11.9 14.3 3.1 1.3 3.2
sH=E(SHER) 100.0 4.7 100.0 323 2.5 23.0 6.0 13.9 12.9 3.1 1.8 4.6
=3 ; 100.0 4.5 100.0 41.2 3.8 16.9 10.8 11.2 10.0 2.7 1.0 2.2
o4 At 100.0 5.7 100.0 343 3.8 13.9 8.4 13.1 17.2 3.4 1.6 4.4
13 ~ 19 Al 100.0 4.4 100.0 14.5 5.4 4.6 0.9 13.1 14.0 35.7 11.1 0.6
20 ~ 29 Al 100.0 5.7 100.0 259 9.0 10.0 24.8 14.1 7.8 3.6 0.7 4.0
30 ~ 39 Al 100.0 5.2 100.0 44 .5 1.7 7.1 15.5 10.0 14.1 - 0.5 6.5
40 ~ 49 A 100.0 5.4 100.0 41.1 2.4 10.0 10.3 11.8 19.9 - 1.4 3.2
50 ~ 59 Al 100.0 49 100.0 49.0 43 13.8 2.2 12.1 14.5 - 0.5 3.6
60 Ml O &t 100.0 4.7 100.0 34.4 2.0 34.5 1.1 12.9 13.1 - 0.1 1.9
65 M 0O &t 100.0 42 100.0 304 1.4 38.0 0.9 13.7 12.6 - 0.2 2.8
= £ 0| ot 100.0 5.8 100.0 28.2 1.9 319 0.7 12.4 13.6 5.4 3.1 2.8
= = 100.0 5.8 100.0 37.5 3.6 20.0 4.2 9.6 10.9 11.1 2.4 0.7
) = 100.0 5.5 100.0 42.6 4.8 11.2 8.3 12.0 14.3 1.9 0.8 4.1
tH = 0 & 100.0 42 100.0 35.0 3.7 9.9 17.4 13.6 154 - 0.8 4.2
= A 100.0 4.8 100.0 44 .8 3.6 8.6 10.6 12.5 15.1 0.4 0.9 3.5

Aol o g
o2 o B o= 100.0 5.5 100.0 28.3 4.1 23.1 8.1 12.0 12.9 6.3 1.9 34
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30. AFS| OHFHOff LBH 1A S

Al E L we ez | TS | =Y | yax
< HUERQI AbS| OHF >
<2016>
™ = 100.0 13.2 1.1 12.1 41.2 45.5 36.1 9.4
<2018>
| = 100.0 20.5 1.3 19.2 48.2 31.3 27.6 3.7
T ANE B 100.0 20.4 13 19.2 48.0 31.6 27.9 3.7
SHE(SYR) 100.0 21.0 1.6 19.4 49.5 29.5 26.0 3.5
=4 \; 100.0 245 1.8 22.7 48.5 27.1 23.9 3.1
\; 100.0 16.6 0.8 15.8 48.0 354 31.1 43
< S 2 (HY Iisd, SHEM S) >
<2016>
| = 100.0 19.8 1.7 18.1 34.8 45.4 36.6 8.9
<2018>
& = 100.0 31.1 32 279 35.6 333 27.3 6.0
T AE ®) 100.0 31.2 32 28.0 35.7 332 272 6.0
SHE(SYR) 100.0 30.9 35 27.5 35.2 33.8 27.9 6.0
= \; 100.0 33.7 4.1 29.6 34.8 31.5 25.4 6.1
\; 100.0 28.6 2.4 26.2 36.4 35.1 29.2 59
< ot THoH (EH A& 5) >
<2016>
™ = 100.0 20.8 1.6 19.1 43.4 35.9 30.1 5.8
<2018>
™ = 100.0 22.8 1.6 21.1 39.6 37.6 322 5.4
S MES =) 100.0 22.8 1.6 21.2 40.1 37.1 31.9 5.3
SHE(SHE) 100.0 22.9 2.0 20.8 37.5 39.6 33.8 5.9
=4 At 100.0 26.1 2.2 23.9 40.4 335 28.8 4.7
O Xt 100.0 19.5 1.1 18.4 38.9 41.6 355 6.1
ASE Y ALE(ED, =L S)>
<2016>
| = 100.0 20.7 1.7 19.0 45.5 33.8 27.9 59
<2018>
| = 100.0 23.9 2.1 21.8 433 32.8 28.0 4.7
T AE B 100.0 234 1.9 215 432 33.4 28.6 4.8
sSHE(SYHR) 100.0 26.4 2.8 23.7 43.8 29.8 25.4 44
=4 \; 100.0 27.1 2.6 244 43.4 29.5 25.2 43
o \; 100.0 20.8 1.5 19.3 43.2 36.0 30.8 5.2
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30. At2] OHH Ol THet Q1A S - A5
el %)
A 8 e | wax | TS | FEY ) yan | g e
<DEAD >
<2016>
Pl = 100.0 10.2 0.8 9.5 39.4 50.4 39.1 11.3
<2018>
S| = 100.0 13.1 0.9 12.2 39.2 47.6 384 9.3
S ANE 2B) 100.0 12.8 0.8 12.0 39.2 48.0 38.6 9.4
sSHE(SHE) 100.0 14.7 1.3 13.4 39.2 46.1 37.4 8.7
=1 At 100.0 14.8 1.1 13.7 39.8 454 36.7 8.7
At 100.0 11.5 0.7 10.8 38.6 49.8 40.0 9.8
< SHU(AHE ZE) >
<2016>
S| = 100.0 19.1 1.6 17.5 51.7 29.1 24.9 4.2
<2018>
S| = 100.0 20.9 1.8 19.2 48.0 31.1 26.6 4.5
T ANE B) 100.0 20.4 1.6 18.8 48.2 31.4 26.9 4.5
sH=E(SHER) 100.0 23.5 2.7 20.8 47.2 29.4 25.4 4.0
= Xk 100.0 233 2.2 21.0 48.3 28.4 24.5 4.0
0] Xk 100.0 18.6 1.3 17.3 47.7 33.7 28.7 4.9
<ONR(BRAE, AEE S)>
<2016>
S| = 100.0 17.4 1.5 159 41.1 41.5 31.9 9.7
<2018>
S| = 100.0 25.4 2.3 23.2 43.4 31.1 25.5 5.7
T A(E B 100.0 24.6 2.0 22.7 43.0 323 26.4 5.9
SHE(SHR) 100.0 29.4 3.7 25.6 454 25.3 20.9 4.4
=t \; 100.0 28.6 2.7 25.8 43.7 27.8 22.7 5.0
0;] X 100.0 22.4 1.8 20.6 43.2 34.4 28.1 6.3
<A OIP(DEI} ES, M BE S)>
<2016>
S| = 100.0 29.3 4.2 25.1 46.3 24.4 19.8 4.6
<2018>
S| = 100.0 37.8 5.9 31.9 43.7 18.5 15.4 3.1
S ANE =2B) 100.0 37.2 5.5 31.7 43.9 19.0 15.8 3.2
sHE(SHE) 100.0 40.7 7.7 33.0 43.1 16.2 13.6 2.7
=t NS 100.0 40.2 6.8 33.5 42.5 17.3 14.2 3.1
O ; 100.0 354 5.0 30.4 44.9 19.7 16.6 3.0
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30. Atel 2ROl Tt Q1A= - A5
11 %)
A o e | yux | TS | =2 | yax 2
< B LoHFBELI0IRA, #2 5) >
<2016>
& = 100.0 11.9 1.2 10.7 36.1 52.0 38.1 13.9
<2018>
o = 100.0 17.5 1.6 15.9 40.0 42.5 334 9.0
S AE =) 100.0 17.2 1.4 15.8 39.4 434 34.1 9.3
sHE(SYR) 100.0 19.0 2.4 16.6 43.0 37.9 30.0 7.9
= At 100.0 19.7 2.0 17.7 39.0 413 325 8.8
o \; 100.0 153 1.1 14.2 41.0 43.6 34.3 9.3
<HE FYWE HOlRA S) >
<2016>
& = 100.0 9.4 0.9 8.5 28.6 62.0 44.7 17.3
<2018>
o = 100.0 16.7 1.4 153 40.5 42.8 34.7 8.1
S AE =) 100.0 16.6 1.3 153 40.2 432 34.9 8.3
SHE(SHSR) 100.0 17.4 2.2 15.2 41.7 40.9 33.7 7.2
=4 \; 100.0 19.3 1.9 17.4 40.9 39.8 323 7.5
o \; 100.0 14.1 1.0 13.2 40.1 45.8 37.0 8.7
SEJETPVR
<2016>
S = 100.0 9.2 0.9 8.3 23.7 67.1 42.2 249
<2018>
s = 100.0 17.2 1.8 15.4 32.0 50.8 38.0 12.8
S AE =) 100.0 17.3 1.8 15.5 31.7 51.0 37.8 13.2
SHE(SHS) 100.0 16.6 1.9 14.7 33.7 49.7 38.8 10.9
=4 At 100.0 21.8 2.8 19.0 33.8 44.5 345 10.0
™ Xt 100.0 12.7 0.9 11.8 30.3 57.0 41.4 15.6
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31-1. At2l Q] oHH 2fef $igh(5Ed T 1t ] W 5}0q)

p] OIHHE | oo | o o | HIAUS | FEHE | o o | gy o
<2016>
s = 100.0 12.0 0.9 11.1 37.9 50.1 38.1 12.0
<2018>
o = 100.0 27.7 2.5 25.2 42.5 29.8 254 4.4
S AE =) 100.0 28.3 2.5 25.8 42.4 29.3 24.7 4.6
SHE(SHR) 100.0 24.8 2.1 22.7 42.9 324 28.9 34
=t Xt 100.0 30.5 32 27.3 43.6 25.9 22.4 3.5
O Xt 100.0 25.0 1.8 232 414 33.6 283 53
13 ~ 19 Al 100.0 34.9 5.0 29.9 40.9 24.2 21.1 3.1
20 ~ 29 Al 100.0 26.7 2.6 24.1 45.0 283 232 5.1
30 ~ 39 A 100.0 27.2 2.7 24.5 42.1 30.7 24.6 6.1
40 ~ 49 A 100.0 29.9 2.6 27.4 42.6 27.5 232 43
50 ~ 59 Ml 100.0 26.7 2.0 24.7 43.6 29.7 25.5 4.2
60 Ml O & 100.0 25.1 1.7 23.4 40.9 34.0 30.4 3.5
65 Ml O & 100.0 25.4 1.8 23.6 40.9 33.6 30.4 32
= £ 0l ot 100.0 26.6 2.8 23.8 41.5 31.9 28.9 3.0
= = 100.0 28.4 2.5 26.0 41.0 30.6 27.0 3.6
i £ 100.0 25.5 2.0 23.5 44.6 29.9 25.5 4.4
o £ 0 4 100.0 29.9 2.8 27.1 413 28.8 23.6 5.2
FREOEE

ot = 100.0 34.1 3.5 30.6 38.5 27.5 23.9 3.5
2 = 100.0 24.3 1.8 22.6 46.3 29.3 25.2 4.2
= ot = 100.0 20.4 1.6 18.7 42.4 37.3 29.8 7.4

hpol WA A5
1008+ O] 8¢ 100.0 25.2 23 22.9 413 33.5 29.8 3.7
100 ~ 2008+ 0]t 100.0 26.7 2.3 24.5 41.5 31.7 27.7 4.1
200 ~ 3008+ OJet 100.0 26.9 2.5 24.5 44.4 28.6 23.8 4.8
300 ~ 4000+ 0|2t 100.0 26.4 2.1 24.4 43.1 30.5 25.7 4.8
400 ~ 5008+ 0] gt 100.0 26.5 2.2 24.4 43.7 29.8 25.0 4.8
500 ~ 6008+ O] et 100.0 30.3 3.2 27.1 41.0 28.7 24.7 4.1
6002+ O & 100.0 32.5 3.1 29.4 41.0 26.5 224 4.1
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31-2. A2l 2 2

oE| g (59 =)

Ob N B & Haes | A =)
A gl e | @2 |2 alzn o x| 0 | 2znn
<2016>
Sl = 100.0 15.4 1.3 14.1 38.1 38.5 27.2 11.3 8.0
<2018>
Sl =2 100.0 32.9 3.8 29.1 34.5 25.1 19.4 5.7 7.6
T ANE B 100.0 33.8 3.8 30.0 34.5 24.5 18.7 5.7 7.3
sSHE(SHER) 100.0 28.6 3.6 25.0 345 28.1 22.7 53 8.8
=1 At 100.0 36.2 4.7 31.5 34.7 23.2 18.3 49 5.9
0] \; 100.0 29.7 2.9 26.8 34.2 26.9 20.5 6.4 9.2
13 ~ 19 A 100.0 36.7 5.8 30.8 333 22.6 17.8 4.7 7.4
20 ~ 29 A 100.0 31.1 34 27.7 37.3 24.8 18.2 6.5 6.9
30 ~ 39 Al 100.0 33.1 3.5 29.6 34.8 25.8 19.0 6.7 6.3
40 ~ 49 A 100.0 37.3 4.6 32.6 343 23.0 17.5 5.5 5.5
50 ~ 59 Al 100.0 33.2 3.7 29.6 34.1 24.9 19.9 5.1 7.7
60 M O & 100.0 28.8 2.9 25.9 333 27.5 22.3 5.3 10.4
65 M O & 100.0 28.5 2.8 25.7 33.1 26.7 22.0 4.7 11.6
= & 0| 3ot 100.0 28.3 3.5 24.8 33.6 26.2 21.3 49 11.8
= = 100.0 30.9 3.7 27.2 32.8 26.6 21.1 5.4 9.7
) = 100.0 31.0 33 27.7 36.4 24.8 19.1 5.7 7.8
H & 0 & 100.0 36.9 43 32.6 33.5 24.5 18.6 6.0 5.1
ZRHOEE

[s]3 = 100.0 39.6 5.3 34.3 314 23.2 18.6 4.5 5.8
2 = 100.0 29.3 2.8 26.4 37.4 24.9 19.3 5.6 8.4
= ot = 100.0 254 2.5 22.9 34.2 30.7 22.1 8.6 9.7

i FER AS
1002+ 018t 100.0 26.9 33 23.6 34.8 26.0 21.0 4.9 12.3
100 ~ 20022 08t 100.0 29.5 33 26.2 35.6 254 20.1 5.3 9.5
200 ~ 3002+& 0|8t 100.0 31.8 3.7 28.1 36.1 24.8 18.9 5.9 7.3
300 ~ 4002+& 0|8t 100.0 32.0 34 28.6 35.0 26.7 20.6 6.2 6.2
400 ~ 5008+& 0| ot 100.0 33.2 3.7 29.5 35.2 24.6 18.5 6.0 7.0
500 ~ 6002+& 0|2t 100.0 37.7 4.2 33.5 31.9 24.6 19.1 5.5 5.7
60023 O & 100.0 40.2 49 353 31.0 23.3 17.9 5.4 5.5
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32. Ai2l9] D #E =2 201

20t | ne | w2 an|son| wz | wa | Anz
A Tow | oy | 2o | M gm | e | mw | wa | as
z2s
<2016>
Pl = 100.0 19.3 3.0 5.8 6.5 15.5 9.5 4.9 29.7
<2018>
Sl = 100.0 18.6 6.6 13.5 9.2 12.8 9.5 2.9 20.6
T AME =2) 100.0 18.6 5.9 14.0 8.9 13.2 9.7 2.7 20.7
=HE(SHER) 100.0 18.7 10.2 11.3 10.5 11.1 8.7 3.6 20.4
=4 Xt 100.0 20.9 6.3 12.7 10.0 14.2 11.0 2.5 15.0
o \; 100.0 16.3 7.0 14.3 8.4 11.4 8.1 33 26.1
13 ~ 19 Al 100.0 17.5 5.6 11.6 7.3 6.8 12.1 2.4 31.5
20 ~ 29 Al 100.0 15.5 5.4 10.3 8.6 13.7 10.4 2.4 27.7
30 ~ 39 Al 100.0 12.9 5.0 15.4 9.9 13.4 10.4 2.4 24.8
40 ~ 49 Al 100.0 16.2 5.6 15.7 9.9 15.5 10.4 2.2 18.1
50 ~ 59 Al 100.0 20.4 7.4 15.2 8.5 14.6 8.9 3.0 15.1
60 M O & 100.0 25.2 9.2 11.8 9.7 10.4 7.4 4.2 16.1
65 Al O & 100.0 26.3 9.5 10.8 10.4 9.6 7.0 4.2 16.2
x £ 0| ot 100.0 21.9 11.1 9.5 11.1 9.1 6.3 4.1 21.3
= = 100.0 19.7 8.0 12.3 8.0 11.3 8.3 2.8 22.9
ni = 100.0 18.8 6.5 13.0 9.0 14.4 9.2 2.8 20.3
o £ 0 & 100.0 16.8 4.8 15.8 9.1 13.0 11.4 2.5 20.0
& 2 2 2 100.0 15.7 43 16.7 9.6 13.1 13.0 2.1 19.2
At = 100.0 16.8 5.1 14.5 10.5 12.9 10.6 2.2 21.0
A "l A = O 100.0 15.8 6.4 13.5 8.8 15.6 8.2 2.8 22.8
=5 O o) 100.0 21.3 15.6 9.0 12.9 8.8 6.4 4.0 16.8
Jd s & B 100.0 18.5 7.5 11.6 9.9 15.5 8.9 3.2 17.8
Jimel YEE 45
1002+ 0O et 100.0 20.8 10.6 9.6 11.0 11.6 7.3 3.8 18.6
100 ~ 2002+& O]8t 100.0 19.5 7.6 11.3 9.2 12.6 8.4 3.7 21.2
200 ~ 3008+ Ojet 100.0 18.9 6.7 12.4 8.8 14.1 8.3 3.1 21.0
300 ~ 4008+ Ojet 100.0 17.2 6.1 14.9 9.0 13.2 8.4 2.5 22.4
400 ~ 5008t& 0O]8t 100.0 17.9 6.1 15.7 9.0 12.6 11.3 23 19.9
500 ~ 6002HA O] ct 100.0 19.1 6.2 14.4 9.1 12.9 10.2 2.9 19.8
6002HA O & 100.0 17.5 4.1 16.0 9.0 11.7 13.4 2.1 19.9

=:1) 20168 0l= 'MHR(MUX)DZ' =&, 20184 0l= HEE =S AtHIE
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33. 02t 230 et ot =&
(&2 %)
S22 R - coe
Jtzso0l | ewxe | ol ® o] | CCTVI ==X
Ao T G| aw | AESOERSAA] A A O oo e o
SSHAM |0 B &2 | ESUHA| A
<2016>
x = 100.0 409 1000 317 7.7 59.9 - 07 59.1
<2018>

x = 100.0 365 100.0 25.9 5.3 513 165 1.0 63.5
T AE B) 100.0 370 100.0 245 5.7 524 166 09 63.0
=o|E(2S0 =) 100.0 340 100.0 33.0 3.4 46.1 16.1 1.4 66.0
o Xt 100.0 257 100.0 28.4 5.9 453 196 08 743
o Xt 100.0 470 1000 245 5.0 545 148 1.1 53.0
o = = oo 100.0 361 100.0 275 6.4 48.1 164 16 63.9
o W E 100.0 359 100.0 25.1 45 545 150 08 64.1
| Ef 100.0 389 100.0 255 5.9 473 207 06 61.1
13 ~ 19 Al 100.0 415 1000 27.0 47 533 138 12 58.5
20 ~ 29 Al 100.0 425 1000 27.9 5.3 50.8 146 14 575
30 ~ 39 Al 100.0 445 1000 27.0 47 528 146 08 55.5
40 ~ 49 A 100.0 402 1000 25.5 47 525 167 06 59.8
50 ~ 59 Al 100.0 337 100.0 241 5.5 50.1 197 06 66.3
60 M O & 100.0 247 1000 24.0 6.9 48.7 188 17 753
65 M O & 100.0 231 1000 229 7.6 48.9 186 2.1 76.9

FHHOEE
or = 100.0 360 100.0 25.6 47 53.6 151 11 64.0
=] = 100.0 362 100.0 26.4 5.0 50.4 17.1 1.0 63.8
g o = 100.0 387 100.0 25.1 7.4 48.4 182 08 613

= :11) 20184 A2 FItE &

ol
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34-1. SSEM &
Rl %)
INEIPN
| HE
Al X21C of = b o= BE0ICH orery e X 5
<XHAIXI2121>
<2016>
Pl = 100.0 60.2 13.5 46.8 30.0 9.8 8.8 1.0
<2018>
Pl = 100.0 66.7 16.4 50.3 26.0 7.2 6.5 0.7
S ANE =2B) 100.0 66.7 16.1 50.5 26.0 7.3 6.6 0.7
sSHE(SHER) 100.0 67.1 17.8 493 26.0 6.9 6.2 0.7
=1 Xk 100.0 66.0 16.1 49.9 26.4 7.6 6.7 0.9
o Xk 100.0 67.4 16.7 50.7 25.6 6.9 6.4 0.6
13 ~ 19 A 100.0 64.3 21.5 42.8 26.7 9.0 8.1 0.9
20 ~ 29 A 100.0 63.8 17.4 46.4 27.3 9.0 7.6 1.3
30 ~ 39 A 100.0 66.2 15.1 51.1 26.1 7.7 6.9 0.8
40 ~ 49 A 100.0 70.6 16.7 53.9 24.3 5.1 4.6 0.5
50 ~ 59 A 100.0 68.6 17.4 51.2 25.5 5.9 5.4 0.5
60 A O & 100.0 65.2 13.9 51.3 26.7 8.1 7.5 0.5
65 M O & 100.0 64.4 13.5 50.9 26.9 8.7 8.1 0.5
felsd 2A>
<2016>
& = 100.0 31.8 9.5 22.2 32.7 35.6 28.2 7.3
<2018>
S| = 100.0 36.0 9.8 26.2 32.5 31.5 25.3 6.2
S ANE =2B) 100.0 35.3 9.5 25.8 324 324 25.9 6.5
sHE(ESHER) 100.0 39.6 11.3 28.3 332 27.2 22.7 4.5
=1 \; 100.0 35.1 8.5 26.6 34.0 30.9 25.0 5.9
o At 100.0 36.9 11.1 25.8 31.0 32.1 25.6 6.4
13 ~ 19 A 100.0 33.7 11.6 22.1 25.9 40.4 27.1 13.3
20 ~ 29 Al 100.0 31.9 9.2 22.7 30.3 37.8 26.7 11.1
30 ~ 39 A 100.0 33.6 8.9 24.7 31.9 34.6 28.3 6.3
40 ~ 49 A 100.0 36.9 10.2 26.7 35.7 27.4 23.6 3.8
50 ~ 59 A 100.0 38.4 10.9 27.4 34.8 26.8 22.7 4.1
60 ANl O & 100.0 38.6 8.9 29.6 32.2 29.3 25.2 4.1
65 AN O & 100.0 39.1 9.2 29.9 32.0 28.9 25.1 3.8
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34-1. SSEM FE-AS
£l %)
NEIPY
I I N N T R 1 TE T T E T B
<BBIN>
<2016>
o = 100.0 37.6 7.4 30.2 40.3 22.1 19.3 2.8
<2018>
& = 100.0 43.1 8.8 343 39.0 17.9 15.8 2.1
S AE =) 100.0 42.8 8.5 344 39.2 18.0 15.9 2.1
SHE(SUHR) 100.0 44.4 10.2 342 38.1 17.5 15.3 2.1
= At 100.0 42.6 8.4 34.1 39.0 18.4 16.0 2.4
o 3 100.0 43.6 9.1 34.6 38.9 17.4 15.6 1.8
13 ~ 19 Al 100.0 39.5 11.2 28.3 36.7 23.8 19.8 4.1
20 ~ 29 A 100.0 39.3 8.0 313 38.1 22.7 18.6 4.1
30 ~ 39 A 100.0 40.4 7.2 332 38.2 21.4 18.6 2.8
40 ~ 49 A 100.0 44.5 8.6 35.9 40.4 15.2 13.8 1.4
50 ~ 59 A 100.0 45.1 9.9 353 40.3 14.5 13.2 1.3
60 M O & 100.0 459 8.7 37.2 38.7 15.4 14.3 1.1
65 M O & 100.0 46.7 8.9 37.7 38.6 14.8 13.9 0.9
<2TX DEFA>
<2016>
o = 100.0 30.3 6.4 23.9 44.2 25.6 22.7 2.9
<2018>
H = 100.0 323 7.2 25.1 40.5 27.1 23.9 3.2
S ANE B) 100.0 31.9 7.1 24.8 40.6 27.5 243 32
SHE(SHE) 100.0 342 7.8 26.4 40.5 253 22.1 3.2
= At 100.0 32.6 7.1 25.5 39.5 27.9 242 3.6
O Xt 100.0 32.1 7.4 24.7 41.5 26.4 23.6 2.8
13 ~ 19 Al 100.0 33.0 11.0 22.0 40.8 26.1 22.2 4.0
20 ~ 29 Al 100.0 30.7 7.9 22.8 37.5 31.8 26.2 5.5
30 ~ 39 Al 100.0 29.3 6.2 23.0 38.0 32.8 28.5 43
40 ~ 49 Al 100.0 323 73 24.9 42.4 254 23.0 24
50 ~ 59 Al 100.0 34.7 7.1 27.7 42.2 23.1 21.1 2.0
60 Al O & 100.0 334 6.3 27.1 41.3 253 22.8 24
65 Al O & 100.0 32.5 6.2 26.3 42.6 24.9 22.6 2.3
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e e AN /S
34-1. SSEM FE-AS
T %)
NEIPY
I I N N T R 1 TE T T E T B
<2334 2>
<2016>
o = 100.0 37.8 11.9 259 333 29.0 23.0 6.0
<2018>
& = 100.0 432 13.8 29.4 325 242 19.2 5.0
T ANE B 100.0 42.1 13.4 28.7 32.6 253 20.0 5.4
SOHE(SHE) 100.0 48.8 16.1 32.7 32.4 18.8 15.4 3.5
=4 \; 100.0 44.6 13.9 30.8 333 22.1 17.8 4.3
o \; 100.0 419 13.8 28.1 31.8 26.3 20.5 5.8
13 ~ 19 Al 100.0 38.7 17.0 21.6 29.7 31.6 21.1 10.5
20 ~ 29 Al 100.0 38.2 15.5 22.6 31.5 30.3 21.4 9.0
30 ~ 39 Al 100.0 39.6 13.3 26.3 322 28.2 214 6.8
40 ~ 49 Al 100.0 46.1 14.6 31.5 32.7 212 17.7 3.6
50 ~ 59 Al 100.0 46.9 14.1 32.8 34.0 19.1 16.3 2.8
60 Al O & 100.0 45.4 11.3 34.1 33.1 21.5 19.1 24
65 Al O & 100.0 45.0 10.8 342 332 21.8 19.6 2.2
<2BEA I
<2016>
& = 100.0 29.5 8.0 21.5 37.0 334 27.0 6.4
<2018>
o = 100.0 352 9.6 25.5 37.3 27.5 23.1 4.4
S ANE =2) 100.0 345 9.4 25.1 37.1 28.4 23.7 4.6
SHE(SHS) 100.0 384 10.8 27.6 38.4 232 20.1 3.1
=4 Xt 100.0 36.5 10.2 26.3 37.6 259 21.7 4.1
o At 100.0 33.9 9.1 24.8 37.1 29.0 24.5 4.6
13 ~ 19 Al 100.0 36.9 12.9 239 36.8 26.3 20.8 5.5
20 ~ 29 Al 100.0 343 10.5 23.8 35.1 30.7 24.7 6.0
30 ~ 39 Al 100.0 329 8.8 24.1 36.8 30.3 24.5 5.7
40 ~ 49 Al 100.0 36.7 10.0 26.7 37.3 26.0 22.0 3.9
50 ~ 59 Al 100.0 35.6 9.8 25.8 39.2 25.2 21.6 3.6
60 Al O & 100.0 352 8.1 27.1 37.8 26.9 24.0 2.9
65 Al O & 100.0 35.7 7.7 27.9 38.1 26.3 23.6 2.7
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34-1. SSEM FE=-AS
EH9l: %)
A NAC | gz | wam | 2200 o0 | wam | as
<DEAX ESA X301V >
<2018>

S| = 100.0 51.3 15.0 36.2 32.1 16.7 13.2 3.5
T AME 2) 100.0 50.5 14.6 35.8 31.9 17.6 13.8 3.8
sHE(SHE) 100.0 55.1 17.0 38.1 32.7 12.2 10.4 1.8
=4 '\ 100.0 53.5 16.1 37.4 32.3 14.2 11.5 2.7
o4 N 100.0 49.0 14.0 35.1 31.9 19.1 14.9 4.2
13 ~ 19 A 100.0 51.8 18.5 333 28.3 19.9 14.1 5.8
20 ~ 29 Al 100.0 50.2 15.7 34.5 30.8 19.0 13.3 5.7
30 ~ 39 A 100.0 47.4 14.0 334 31.8 20.8 15.8 5.1
40 ~ 49 Al 100.0 52.7 15.6 37.2 33.1 14.2 11.7 2.4
50 ~ 59 Al 100.0 54.1 15.7 38.5 33.0 12.9 10.8 2.1
60 ANl O & 100.0 51.0 13.1 37.8 32.8 16.3 14.1 2.1
65 Ml O] &f 100.0 51.2 12.8 38.3 33.8 15.0 13.1 1.9

F:1)201848 ARz =Dt

o=
=2 =g

- 115 -



34-2. MLto|Lt 2124t Al A &5V

2 %)
AC | o = z3 ==t & o
2SN E A AD MEHS(119, 112 S)>
<2018>
bS] = 100.0 96.8 65.4 31.4 3.2 2.8 0.4
S NS 2) 100.0 96.9 64.8 32.1 3.1 2.8 0.3
SHE(ESHE) 100.0 96.2 68.3 27.9 3.8 3.1 0.7
= X 100.0 97.9 68.3 29.6 2.1 2.0 0.2
ol Xt 100.0 95.7 62.7 33.1 4.3 3.7 0.6
13 ~ 19 Al 100.0 98.9 68.1 30.9 1.1 1.1 0.0
20 ~ 29 Al 100.0 97.7 66.8 30.9 2.3 2.3 0.1
30 ~ 39 Al 100.0 98.1 69.6 28.5 1.9 1.9 0.1
40 ~ 49 Al 100.0 98.2 68.0 30.1 1.8 1.7 0.1
50 ~ 59 Al 100.0 98.0 67.6 30.3 2.0 1.9 0.2
60 Al O & 100.0 92.7 57.0 35.6 7.3 6.1 1.2
65 Al O & 100.0 90.5 54.5 36.0 9.5 7.9 1.6
H=EQRH (X S S 2 Agtd)>
<2018>

bS] = 100.0 81.0 25.9 55.1 19.0 17.2 1.8
T AME 2) 100.0 81.2 24.7 56.5 18.8 17.3 1.5
SHE(SHE) 100.0 80.1 31.6 48.5 19.9 16.5 3.4
et Xt 100.0 86.0 31.1 54.8 14.0 12.9 1.1
of Xt 100.0 76.1 20.7 55.4 23.9 21.3 2.6
13 ~ 19 Al 100.0 92.7 42.7 50.1 7.3 6.9 0.4
20 ~ 29 Al 100.0 83.8 30.2 53.6 16.2 15.0 1.2
30 ~ 39 Al 100.0 84.3 26.5 57.7 15.7 14.9 0.9
40 ~ 49 Al 100.0 84.5 24.5 60.0 15.5 14.8 0.7
50 ~ 59 Al 100.0 83.1 25.3 57.8 16.9 15.7 1.2
60 Al O & 100.0 68.4 18.4 50.0 31.6 26.7 4.8
65 Al 0 & 100.0 64.2 16.7 475 35.8 29.5 6.2

= 1) 20184 MRR FItE 28

ol
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34-2. MU0|L} ZI2Ars Al IR £V - H1S

Al 2 AL o = x2 SEL = M &
<A AI2E>
<2018>
S| = 100.0 68.9 28.6 40.3 31.1 25.0 6.2
= AE =) 100.0 69.4 27.9 41.4 30.6 253 5.3
sHE(SHE) 100.0 66.4 31.6 349 33.6 23.2 10.3
=1 At 100.0 82.2 39.7 42.5 17.8 15.3 2.5
o \; 100.0 55.8 17.7 38.1 442 34.4 9.8
13 ~ 19 Al 100.0 75.7 35.8 40.0 24.3 21.6 2.7
20 ~ 29 Al 100.0 75.5 333 422 24.5 21.4 3.1
30 ~ 39 Al 100.0 78.4 333 45.0 21.6 19.2 2.5
40 ~ 49 Al 100.0 76.3 30.7 45.6 23.7 20.8 3.0
50 ~ 59 Al 100.0 71.8 29.4 42.4 28.2 23.9 4.3
60 A O] & 100.0 47.6 17.6 30.0 52.4 36.5 159
65 A O] & 100.0 41.1 14.6 26.5 58.9 38.7 20.2
<RIBS E JH 24 >
<2018>
bS] = 100.0 54.0 17.4 36.6 46.0 32.0 14.0
T A(Es B 100.0 54.6 17.1 37.5 454 32.4 12.9
sH=E(SHER) 100.0 51.1 18.6 32.5 48.9 29.6 19.3
= Xt 100.0 65.0 22.5 42.4 35.0 26.9 8.1
o4 Xt 100.0 433 12.4 31.0 56.7 36.9 19.8
13 ~ 19 Al 100.0 74.5 299 44.5 25.5 20.0 5.6
20 ~ 29 Al 100.0 66.7 27.8 38.9 333 24.8 8.5
30 ~ 39 Al 100.0 63.4 21.2 42.2 36.6 27.8 8.9
40 ~ 49 Al 100.0 58.6 15.9 42.7 41.4 32.1 9.3
50 ~ 59 Al 100.0 51.9 14.7 37.1 48.1 35.6 12.5
60 A O] & 100.0 30.8 7.4 234 69.2 40.4 28.9
65 M O] & 100.0 24.8 5.7 19.2 75.2 41.3 33.9

=:1)20188 ARz FIt

23t¢l

- 117 -



35-1. &M A& &34
=2 %)
Al = =) oF 2t 8 & LIB8Ch or 2} o e
<HEErmol MasAl>
<2018>
b = 100.0 35.8 75 28.3 48.0 16.2 14.0 2.1
T AE B 100.0 323 52 27.1 50.5 17.2 15.1 22
=) E(SHE) 100.0 525 18.2 343 36.5 11.1 9.2 1.9
<H JI>
<2016>
bS] 2 100.0 31.7 8.7 23.0 40.4 28.0 214 6.6
<2018>
b = 100.0 28.6 72 21.4 35.3 36.0 245 11.6
T AE B 100.0 242 4.7 19.5 37.0 38.8 26.2 12.5
=) E(SHE) 100.0 49.4 19.0 30.5 274 232 16.1 7.0
<5t &>
<2016>
bS] 2 100.0 33.2 7.9 25.2 51.3 15.5 13.2 2.4
<2018>
b = 100.0 293 6.4 229 48.8 21.9 18.0 3.9
T AE B 100.0 25.9 4.4 21.4 51.3 229 18.8 4.0
=) E(SHE) 100.0 45.4 15.6 29.8 373 17.3 13.9 34
<KE  Z(MYJl, HIISR QIE 24)>
<2016>
bS] 2 100.0 29.4 6.7 22.6 50.5 20.1 16.8 32
<2018>
b = 100.0 29.4 6.4 23.0 48.6 22.0 18.1 3.8
T AE B 100.0 26.2 4.6 21.6 50.8 23.0 19.0 4.0
=) E(SHE) 100.0 447 15.1 29.6 38.3 17.0 14.1 2.9
<A S>>
<2016>
bS] 2 100.0 275 7.1 20.4 39.7 32.8 25.2 7.6
<2018>
b = 100.0 29.9 75 22.4 403 29.8 229 6.9
T AE B 100.0 26.1 52 20.9 42.0 31.9 24.6 72
=) E(SHE) 100.0 47.8 18.6 29.2 323 19.9 14.8 5.1
<SXEH(ZBH, 124 S>>
<2016>
bS] 2 100.0 413 11.8 29.4 41.1 17.6 13.8 3.8
<2018>
b = 100.0 50.2 14.9 35.3 37.6 12.2 10.0 22
T AE B 100.0 473 12.5 34.8 39.6 13.1 10.7 2.3
=)E(SHE) 100.0 63.6 26.2 374 28.4 8.0 6.4 1.7
F:1)2018E AIRZ Il st=2l
2) 2016E 0= '$&'2 ZAE
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35-2. 24 g He(5A M1} Ul wSHK)
St %)
Hl Z0tRCh = or o} HSIQICH | LHERICH o 2} =
<2016>
bS] = 100.0 26.4 2.7 23.6 44.0 29.7 24.4 53
<2018>
x =2 100.0 25.4 2.4 23.0 38.2 36.4 28.4 8.1
S AME 2) 100.0 25.9 2.4 23.5 37.6 36.5 28.0 8.5
S E(SHE) 100.0 22.9 25 20.4 41.1 36.0 29.9 6.1
= Xt 100.0 26.1 2.4 23.7 38.8 35.1 28.0 7.1
o4 Xt 100.0 24.7 2.4 22.3 37.6 37.7 28.7 9.0
FANOEG
s = 100.0 30.7 3.5 27.1 33.6 35.7 274 8.3
[l = 100.0 22.7 1.6 21.1 42.1 35.2 28.1 7.1
g o = 100.0 19.1 1.5 17.5 39.0 419 315 10.4
13 ~ 19 Al 100.0 26.4 3.8 22.6 38.5 35.0 27.9 7.1
20 ~ 29 Al 100.0 23.2 22 21.0 383 38.5 27.8 10.7
30 ~ 39 Al 100.0 23.0 22 20.8 34.0 43.0 29.1 13.9
40 ~ 49 Al 100.0 25.1 1.9 23.2 36.2 38.7 303 8.4
50 ~ 59 Al 100.0 26.9 2.4 24.5 39.0 34.1 28.1 6.0
60 Ml O] A 100.0 27.0 25 24.5 41.8 31.2 27.0 42
65 Ml 0] A 100.0 27.4 2.7 24.6 42.1 30.5 26.7 3.9
= ZE 0| &t 100.0 25.7 32 22.5 42.0 323 27.7 46
= = 100.0 27.3 25 24.8 40.0 32.7 27.5 52
inl = 100.0 24.8 23 22.6 40.4 34.8 27.7 7.1
o = o & 100.0 25.2 22 23.0 34.1 40.7 29.5 11.2
bR EEBEA AS
1002H24 O] ot 100.0 24.4 2.4 22.0 43.0 32.6 27.8 4.7
100 ~ 2000+ 0|t 100.0 24.9 25 22.4 41.7 33.4 27.1 6.3
200 ~ 3002+l 0| gt 100.0 25.5 23 23.2 39.9 34.6 26.8 7.8
300 ~ 4000+ 0|8t 100.0 24.8 2.1 22.7 36.6 38.6 29.6 9.0
400 ~ 5000+ 0| gt 100.0 24.2 22 21.9 37.0 38.8 29.6 9.2
500 ~ 6002+ O|ot 100.0 28.6 2.8 25.8 34.7 36.7 28.5 8.2
6000+ 0] At 100.0 26.3 2.7 23.6 33.7 40.0 294 10.6
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35-3. &4 Atat HEH(bY =)
%)
EES o2 | umwz &
Al 2H0ICH 2 | o 2 olctH olcH | o 2 =) A
<2016>
H = 100.0 247 24 23 38.0 315 245 7.0 5.8
<2018>
® = 100.0 28.0 3.1 24.9 29.7 368 2523 115 5.5
= AE 9 100.0 28.8 3.1 25.7 29.4 36.5 246 11.9 5.3
=o|E(2H2) 100.0 245 32 213 310 379 283 9.6 6.6
Lt Xt 100.0 29.1 33 25.9 305 359 25.1 10.8 45
of Xt 100.0 27.0 3.0 24.0 28.9 37.6 255 122 6.5
FREGEC

or = 100.0 333 46 28.7 264 36.1 249 113 42
2 = 100.0 25.1 23 2.8 329 36.0 252 10.8 6.0
2 o = 100.0 25 1.7 2038 29.1 40.5 26.6 14.0 7.9
13 ~ 19 Al 100.0 293 48 246 28.1 368 242 12.6 57
00 ~ 29 Al 100.0 255 3.1 2.4 306 39.1 253 13.9 47
30 ~ 39 Al 100.0 26.5 3.0 235 27.0 415 249 16.7 5.0
40 ~ 49 Al 100.0 205 3.1 264 28.1 388 263 12.0 36
50 ~ 59 Al 100.0 295 3.0 26.6 29.9 353 257 9.5 5.3
60 Kl O A 100.0 27.9 2.9 25.0 325 316 243 72 8.0
65 Kl O A 100.0 275 3.1 244 328 308 245 6.3 8.9
= = 0 3 100.0 25.0 3.1 218 327 322 247 7.5 10.1
= = 100.0 28.0 32 247 315 339 239 10.0 6.6
Il = 100.0 282 32 25.0 308 352 249 10.4 5.8
o= o & 100.0 29.0 3.1 26.0 26.9 40.7 263 14.4 33

Jbpol AEE AS
1000+S! O] ot 100.0 239 29 209 336 318 24.0 7.8 10.7
100 ~ 2009k 0]8F|  100.0 26.9 3.1 238 322 334 239 9.5 7.5
200 ~ 3002+ ]2 100.0 27.9 26 252 308 359 25.0 10.9 54
300 ~ 4009+ OIOH|  100.0 275 3.1 24.4 29.6 38.5 25.9 12.6 44
400 ~ 5002+ OJOF|  100.0 28.7 33 25.4 28.9 37.6 24.9 12.7 48
500 ~ 6000+ OIOF|  100.0 3.1 3.9 28.3 25.8 38.3 259 12.4 3.8
6000+ O At 100.0 302 35 26.7 25.6 413 272 14.1 2.9
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= o= =
36. 2t4 ZH[0] CHet elA
1 %)
20151 X o=
A e s %  we | =5 =9 2 e
< J|ZHEHZEY, & S)>
<2016>
bS] = 100.0 10.9 1.7 9.2 26.3 62.8 48.8 14.0
<2018>
bS] 2 100.0 19.2 2.4 16.7 31.6 49.3 412 8.1
T AE B 100.0 18.7 23 16.4 31.9 49.4 413 8.2
=0 E(SHE) 100.0 21.5 3.0 18.5 30.1 48.4 40.7 7.7
Lt Xt 100.0 21.7 3.1 18.6 32.8 45.6 38.9 6.7
o Xt 100.0 16.7 1.7 15.0 30.4 52.9 43.4 9.5
13 ~ 19 Al 100.0 23.6 48 18.7 333 432 35.1 8.1
20 ~ 29 Al 100.0 20.6 29 17.7 33.5 45.9 37.1 8.8
30 ~ 39 Al 100.0 17.8 23 15.5 29.9 522 41.8 10.4
40 ~ 49 Al 100.0 16.8 1.9 14.9 29.4 53.8 45.0 8.8
50 ~ 59 Al 100.0 17.3 1.8 15.5 315 51.1 43.8 7.3
60 M 0 & 100.0 21.0 22 18.8 327 46.3 40.1 6.2
65 Al O & 100.0 22.1 23 19.8 324 455 39.7 5.9
<S8 st 2150 A2H S) >
<2016>
bS] 2 100.0 8.6 1.3 7.3 26.1 65.3 46.1 19.2
<2018>
bS] 2 100.0 143 1.9 12.4 322 53.5 40.6 12.8
T AMEs 2) 100.0 13.3 1.7 11.7 31.7 54.9 41.7 13.3
=) E(SHE) 100.0 19.1 3.1 16.0 345 46.4 35.7 10.8
- Xt 100.0 16.3 2.4 13.9 342 495 39.2 10.3
o4 Xt 100.0 12.4 1.4 11.0 30.2 573 42.0 15.3
13 ~ 19 Al 100.0 17.6 42 13.4 36.3 46.1 35.4 10.7
20 ~ 29 Al 100.0 14.6 2.3 12.4 33.9 51.5 38.8 12.7
30 ~ 39 Al 100.0 10.8 1.3 9.6 26.1 63.1 24 20.7
40 ~ 49 Al 100.0 11.6 1.3 10.2 283 60.1 44.8 153
50 ~ 59 Al 100.0 13.3 1.3 12.0 32.9 53.8 43.0 10.8
60 M O & 100.0 18.5 22 16.3 36.5 45.0 37.1 7.8
65 M 0 & 100.0 19.8 25 17.2 37.9 423 35.1 72
< BAlsS >
<2018>
b 2 100.0 14.8 2.4 12.3 30.3 54.9 38.4 16.5
T AE B 100.0 13.9 23 11.6 30.5 55.6 39.0 16.7
=) E(SHE) 100.0 18.9 3.3 15.6 29.6 51.5 35.6 15.9
ot Xt 100.0 17.6 32 14.4 322 50.2 36.5 13.7
o Xt 100.0 12.0 1.7 10.3 28.5 59.5 40.2 19.3
13 ~ 19 Al 100.0 17.1 43 12.8 32.1 50.8 33.8 17.0
20 ~ 29 Al 100.0 15.0 3.0 12.0 29.9 55.0 37.2 17.8
30 ~ 39 Al 100.0 12.6 2.0 10.6 26.8 60.6 39.8 20.8
40 ~ 49 Al 100.0 12.3 2.0 10.4 30.9 56.8 39.1 17.7
50 ~ 59 Al 100.0 14.1 1.8 12.3 30.7 55.2 40.8 14.4
60 Al O & 100.0 17.7 26 15.1 31.7 50.6 37.2 13.3
65 Ml O & 100.0 18.8 28 16.0 32.7 48.5 36.2 12.3
= 1) 2016E0s HAIS ST 20| TSI QUACL 2018E2EH A2 2215101 ZAF



36. &4 =0l Ciet 1A - A5
1 %)
= 0k 5} K| Cora
S i 8 | g2 S | =UE oy 2
< DIHIBIX >

<2016>
x = 100.0 45 0.8 3.7 16.2 79.4 447 34.6

<2018>
x = 100.0 45 0.6 3.9 13.0 82.5 37.2 453
= ANE ) 100.0 41 0.6 3.5 123 83.5 36.7 46.8
SO E(SHS) 100.0 6.5 0.9 5.5 16.0 775 39.4 38.1
o Tt 100.0 53 0.9 44 14.6 80.1 393 408
of Xt 100.0 3.8 0.4 3.4 114 84.8 35.1 49.7
13 ~ 19 Al 100.0 5.9 13 4.6 15.8 783 36.8 415
20 ~ 29 Al 100.0 3.9 0.7 3.1 133 82.8 34.8 48.0
30 ~ 39 Al 100.0 32 0.4 2.8 9.9 86.9 327 542
40 ~ 49 M 100.0 3.7 0.6 3.1 113 85.0 35.9 49.1
50 ~ 59 Al 100.0 42 0.5 3.7 12.8 83.0 40.5 25
60 M o & 100.0 6.3 0.7 5.6 15.4 783 40.4 37.8
65 M o & 100.0 7.0 0.7 6.3 16.1 76.9 411 35.7

<sY, 3=t HIE >

<2016>
x = 100.0 9.4 1.4 8.0 36.2 54.4 414 13.1

<2018>
x = 100.0 16.0 23 13.7 38.4 45.6 35.2 10.4
= OAE ) 100.0 15.7 23 13.4 383 46.0 35.4 10.6
=oE(SHE) 100.0 17.5 2.1 15.4 38.8 437 343 9.4
o T 100.0 18.3 2.9 15.4 40.5 412 32.6 8.6
of Xt 100.0 13.7 1.6 12.1 36.3 49.9 37.8 12.1
13 ~ 19 Al 100.0 19.8 44 15.4 42.9 374 292 8.2
20 ~ 29 Al 100.0 19.8 3.1 16.7 44.4 35.8 277 8.2
30 ~ 39 Al 100.0 14.1 1.8 12.4 383 475 34.8 12.8
40 ~ 49 Ml 100.0 14.0 1.8 12.1 35.4 50.6 38.6 12.0
50 ~ 59 Al 100.0 14.4 1.8 12.6 35.4 503 38.9 113
60 M o & 100.0 16.5 2.0 14.5 38.0 455 36.6 8.8
65 K o & 100.0 17.4 23 152 39.0 435 358 7.8

<xxg">

<2018>
x = 100.0 25.7 5.0 207 43.9 304 245 5.8
£ ANE B 100.0 242 46 19.7 447 31.1 25.1 6.0
=0 E(SH=) 100.0 327 6.9 2538 40.4 26.9 219 5.1
o Xt 100.0 282 5.7 25 448 27.0 23 47
of Xt 100.0 233 42 19.1 43.1 33.6 26.7 6.9
13 ~ 19 Al 100.0 275 6.2 213 45.9 26.6 20.8 5.9
20 ~ 29 Al 100.0 254 5.3 20.1 457 29.0 2.7 6.3
30 ~ 39 Al 100.0 20.1 34 16.7 41.0 38.9 29.5 9.4
40 ~ 49 Ml 100.0 219 3.9 18.0 43.6 34.6 276 6.9
50 ~ 59 Al 100.0 253 4.6 20.7 45.9 28.8 245 43
60 M O & 100.0 327 6.6 26.0 28 245 21.1 34
65 M o & 100.0 34.7 7.2 275 425 227 19.6 3.1

1) 20188 AR FIIE &2
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37.2t32YH YAl =Y
(20 %)
A L 245t ==Y 1 DN i
- 0 < oF 2t oF = g 2 & o
<UswsS 0lEgshol >
<2016>
S| = 100.0 71.9 33.6 38.2 28.1 21.7 6.4
<2018>
S| = 100.0 69.4 32.5 36.8 30.6 23.0 7.6
T A(E =B) 100.0 72.1 34.4 37.7 27.9 21.6 6.3
sSHE(SHR) 100.0 56.4 23.7 32.7 43.6 29.6 14.0
=1 Xt 100.0 61.3 26.3 35.1 38.7 28.4 10.2
0] X 100.0 77.2 38.7 38.6 22.8 17.7 5.1
= = = 100.0 69.2 33.1 36.1 30.8 21.9 8.9
Ot ot E 100.0 67.1 29.7 37.3 32.9 25.1 7.8
J| El 100.0 76.8 40.2 36.5 23.2 18.3 4.9
13 ~ 19 A 100.0 89.9 50.4 39.6 10.1 8.7 1.3
20 ~ 29 Al 100.0 80.9 44.2 36.7 19.1 14.7 4.4
30 ~ 39 Al 100.0 58.3 23.8 34.5 41.7 28.8 12.9
40 ~ 49 Al 100.0 56.6 214 35.2 434 333 10.0
50 ~ 59 Al 100.0 63.4 254 38.0 36.6 284 8.2
60 M O] &t 100.0 77.7 39.7 38.0 22.3 16.5 5.7
65 M O] 4t 100.0 80.4 42.7 37.6 19.6 14.6 5.0
<MHEEE =22l &1 >
<2016>
S| = 100.0 91.1 47.8 433 8.9 8.1 0.8
<2018>
S| = 100.0 91.7 48.3 43.5 8.3 7.4 0.8
T A(E B) 100.0 92.5 49.5 43.0 7.5 6.8 0.7
sSHE(SYR) 100.0 88.1 424 45.7 11.9 10.6 1.3
=1 Xt 100.0 88.0 41.2 46.8 12.0 10.8 1.2
o4 Xt 100.0 95.4 55.1 40.3 4.6 4.2 0.4
Ct £ F= 100.0 87.9 39.9 479 12.1 10.8 1.3
O I} E 100.0 93.9 53.0 41.0 6.1 5.5 0.6
J| £t 100.0 91.4 474 44.0 8.6 7.8 0.8
13 ~ 19 A 100.0 83.7 38.1 45.6 16.3 14.8 1.5
20 ~ 29 Al 100.0 88.5 39.3 49.1 11.5 10.2 1.3
30 ~ 39 Al 100.0 92.6 499 42.7 7.4 7.0 0.4
40 ~ 49 Al 100.0 94.0 49.4 44.6 6.0 5.4 0.6
50 ~ 59 Al 100.0 93.5 51.1 42.4 6.5 5.9 0.6
60 M O & 100.0 92.8 53.0 39.8 7.2 6.4 0.9
65 M O & 100.0 91.9 52.3 39.5 8.1 7.0 1.1
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37. 282y YAl =8 - A=

j;” L a4 S —I'_—Eél'xl
=oe o < oF 2t % = ==
< SA=E MI] 0101 >
<2016>
bS] = 100.0 83.3 33.7 49.6 16.7 15.4 1.2
<2018>
bS] =2 100.0 83.6 33.7 499 16.4 15.2 1.2
S AMEs 2) 100.0 83.6 33.6 50.0 16.4 15.3 1.1
SHE(ESHE) 100.0 83.3 34.1 49.2 16.7 15.1 1.6
o Xt 100.0 79.2 28.4 50.8 20.8 19.1 1.7
ol Xt 100.0 87.8 38.8 49.0 12.2 11.5 0.7
= = = 100.0 83.3 34.2 49.1 16.7 15.3 1.4
0 o E 100.0 83.7 32.9 50.8 16.3 15.2 1.1
7 E} 100.0 83.4 35.1 48.3 16.6 15.4 1.1
13 ~ 19 Al 100.0 67.9 22.1 45.8 32.1 29.2 2.9
20 ~ 29 Al 100.0 72.4 21.5 50.9 27.6 25.5 2.1
30 ~ 39 Al 100.0 80.4 26.9 53.5 19.6 18.4 1.2
40 ~ 49 Al 100.0 86.3 29.6 56.7 13.7 12.8 0.9
50 ~ 59 Al 100.0 89.3 38.9 50.3 10.7 10.1 0.6
60 Al O] A 100.0 91.3 48.8 425 8.7 7.9 0.8
65 Al 0O A 100.0 91.1 49.8 41.4 8.9 7.9 1.0
<StAHR A2 £010] >
<2016>
bS] = 100.0 65.0 17.5 475 35.0 31.5 3.5
<2018>
b = 100.0 62.0 16.1 45.9 38.0 34.3 3.6
S ANES =2) 100.0 62.0 16.0 46.0 38.0 34.4 3.6
SHE(SHE) 100.0 62.1 16.7 45.4 37.9 34.0 3.9
o Xt 100.0 56.0 12.6 43.4 44.0 39.5 4.6
X 100.0 67.9 19.6 48.3 32.1 29.3 2.7
¢ = = = 100.0 62.8 18.3 44.4 37.2 33.4 3.9
Ot m  E 100.0 61.6 15.0 46.7 38.4 34.9 3.5
7 E} 100.0 62.0 16.1 45.9 38.0 34.3 3.7
13 ~ 19 Al 100.0 475 10.2 37.3 52.5 46.6 5.9
20 ~ 29 Al 100.0 44.0 8.3 35.8 56.0 49.0 7.0
30 ~ 39 Al 100.0 54.0 11.4 42.6 46.0 41.6 4.4
40 ~ 49 Al 100.0 63.2 12.6 50.6 36.8 34.3 2.5
50 ~ 59 Al 100.0 71.1 19.0 52.1 28.9 26.9 2.0
60 Al O & 100.0 75.6 26.9 48.7 24.4 22.0 2.4
65 Al 0O & 100.0 75.7 28.3 475 24.3 21.4 2.9
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37. 232 YAl = -
1 %)
L 245k FXI i
- 0 < 2t = g 2 e}
< 232Z AIESIX
<2016>
S| = 100.0 71.4 22.8 48.7 28.6 25.7 29
<2018>
S| = 100.0 65.6 18.8 46.9 34.4 30.6 3.7
S AMEs 2) 100.0 66.0 18.7 473 34.0 30.4 3.6
SsHE(SHE) 100.0 64.0 19.2 448 36.0 31.6 4.4
=1 Xt 100.0 57.1 13.6 43.6 429 37.8 5.0
0] X 100.0 73.9 23.9 50.1 26.1 23.6 2.5
9S4 = = = 100.0 63.5 19.6 438 36.5 31.9 4.6
Ot It E 100.0 67.6 18.4 49.2 32.4 29.1 34
Dl Et 100.0 63.2 18.6 44.6 36.8 333 35
13 ~ 19 A 100.0 54.4 13.2 41.2 45.6 39.5 6.2
20 ~ 29 Al 100.0 50.7 10.8 399 493 429 6.4
30 ~ 39 Al 100.0 59.9 13.2 46.7 40.1 36.0 4.2
40 ~ 49 Al 100.0 67.9 15.5 52.4 32.1 294 2.7
50 ~ 59 Al 100.0 72.3 21.8 50.4 27.7 253 2.5
60 M O] &t 100.0 75.7 29.7 46.0 243 21.6 2.8
65 M O] &t 100.0 76.1 31.3 44.8 239 20.9 3.0
<FESZNE 2L-AEEH] >
<2016>
S| = 100.0 50.5 12.0 38.5 49.5 393 10.2
<2018>
S| = 100.0 47.4 11.0 36.4 52.6 41.1 11.5
T AME 2) 100.0 48.9 11.3 37.7 51.1 40.7 10.4
sHE(S8HR) 100.0 40.0 9.8 30.2 60.0 43.2 16.8
= Xk 100.0 44.1 9.3 34.8 55.9 43.2 12.7
o4 At 100.0 50.6 12.7 37.9 49.4 39.1 10.3
9S4 = F= « 100.0 40.8 10.5 30.3 59.2 435 15.7
Of I E 100.0 51.5 11.6 39.9 48.5 39.6 8.9
J| =3 100.0 453 10.0 353 54.7 42.0 12.7
13 ~ 19 Al 100.0 40.1 8.9 31.1 59.9 46.5 13.4
20 ~ 29 Al 100.0 37.5 7.8 29.7 62.5 47.4 15.0
30 ~ 39 Al 100.0 47.8 9.6 38.2 52.2 42.2 10.0
40 ~ 49 A 100.0 54.0 11.4 42.7 46.0 38.8 7.1
50 ~ 59 Al 100.0 53.7 13.0 40.6 46.3 36.3 10.0
60 Al O & 100.0 45.5 12.8 32.7 54.5 40.1 14.4
65 M O & 100.0 42.7 12.0 30.7 57.3 41.2 16.1
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37.

H™
1
o

<2016>

183 ~ 19
20 ~ 29
30 ~ 39
40 ~ 49
50 ~ 59

60 M Ol
65 M Ol

<2016>

<2018>

rz

=

Zo om

O HN
=2}
e

i

2 0C

o
E

13 ~ 19
20 ~ 29
30 ~ 39
40 ~ 49
50 ~ 59

60 M Ol
65 M Ol

W

W

L

333

29.8

29.5
30.9

30.1
294

28.7
30.9
28.0

36.1
23.6
24.4
30.6
34.6
30.6
30.2

73.1

71.6

70.8
75.2

67.3
75.7

74.3
70.9
69.1

61.0
56.7
61.4
71.8
78.3
85.8
86.5

6.5
7.6

6.4
6.9

7.4
6.4
6.1

21.5

21.0
23.6

17.8
25.1

254
19.5
21.2

15.1
11.5
12.4
16.2
24.9
37.6
40.1
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37. 282 YAl £ - A=

” S w251
=58 o < %2 | g s | w2
<IOME W DI®™ S017] >
<2016>
) = 100.0 79.4 28.5 50.8 20.6 18.2
<2018>
) = 100.0 78.3 28.1 50.1 21.7 19.2
S AME =) 100.0 78.2 28.0 50.2 21.8 19.4 2.4
=s0E(SHR) 100.0 78.9 28.8 50.1 21.1 18.1 3.0
=t Xt 100.0 74.1 23.8 50.3 259 22.8 3.1
O N 100.0 82.4 324 50.0 17.6 15.7 1.9
&= = € 100.0 78.8 30.2 48.7 21.2 18.5 2.7
Ot I E 100.0 78.5 27.5 51.0 21.5 19.1 2.4
| Et 100.0 76.7 27.0 49.8 233 20.6 2.6
13 ~ 19 A 100.0 64.6 18.5 46.1 354 31.5 3.9
20 ~ 29 A 100.0 67.4 18.2 49.1 32.6 27.5 5.2
30 ~ 39 A 100.0 74.2 22.0 52.2 25.8 22.9 2.9
40 ~ 49 A 100.0 80.2 26.0 54.2 19.8 18.0 1.8
50 ~ 59 A 100.0 82.8 30.7 52.1 17.2 15.5 1.7
60 Al O & 100.0 87.4 41.4 46.0 12.6 11.2 1.4
65 A O & 100.0 88.0 43.7 443 12.0 10.6 1.4
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38. 2485 H|E 2E o/t
(E421: %)
o 2 E5HK
A BEE | e | x| FS g 2| w= 5
<2016>
o = 100.0 36.2 8.1 28.1 40.1 23.7 18.0 5.8
<2018>

S| = 100.0 50.1 14.4 35.6 33.8 16.2 12.5 3.7
T A(E B) 100.0 50.4 14.3 36.1 33.7 15.9 12.4 3.5
sHE(SHER) 100.0 48.6 15.1 33.6 33.9 17.5 12.8 4.6
= Xt 100.0 50.9 14.6 36.3 32.6 16.4 12.4 4.0
nN; 100.0 49.2 14.3 34.9 34.8 15.9 12.6 33
94 =& = = 100.0 479 12.8 35.1 34.7 17.4 13.4 4.1
ot ot E 100.0 51.9 15.2 36.7 32.6 15.5 12.1 34
J| Et 100.0 48.0 14.7 334 35.7 16.3 12.5 3.8
13 ~ 19 A 100.0 48.1 12.0 36.1 38.5 13.3 9.5 39
20 ~ 29 Al 100.0 48.3 12.4 359 36.5 15.2 12.0 33
30 ~ 39 A 100.0 51.0 15.6 35.5 32.9 16.0 11.6 4.4
40 ~ 49 A 100.0 52.3 159 36.5 32.0 15.7 12.0 3.7
50 ~ 59 Al 100.0 49.7 14.8 34.9 32.5 17.8 14.4 3.4
60 M Ol & 100.0 49.6 14.3 353 333 17.0 13.5 3.5
65 M O & 100.0 48.9 13.9 35.0 33.9 17.1 13.4 3.7
= £ 0| o 100.0 43.0 11.0 32.0 38.5 18.5 14.4 4.1
= = 100.0 46.6 12.5 34.0 355 17.9 13.8 4.2
1 = 100.0 479 13.2 34.7 35.0 17.0 13.2 3.8
CH & 0 & 100.0 55.7 17.4 38.3 30.3 14.0 10.7 33
8 2 2 2 100.0 57.0 18.7 38.2 29.0 14.1 11.2 2.9
At 2 100.0 56.4 17.4 39.1 29.7 13.9 10.8 3.0
N Hl A T Df 100.0 48.9 13.0 36.0 34.6 16.5 13.1 3.3
= 6] o 100.0 49.6 16.1 33.5 33.8 16.6 13.9 2.7
Jl s & =2 100.0 473 12.8 34.5 34.1 18.6 14.0 4.6

RO BHYR AS
1008+ O gt 100.0 45.6 12.7 32.9 35.5 18.9 14.2 4.7
100 ~ 200Q+& 0| 8* 100.0 46.9 12.3 34.5 35.6 17.5 13.4 4.1
200 ~ 3002+ Dot 100.0 45.8 12.0 33.8 36.2 18.0 13.9 4.2
300 ~ 4000+& 0|8t 100.0 49.2 13.6 35.6 34.9 15.9 12.7 3.2
400 ~ 5002+& DGt 100.0 51.1 16.5 34.7 33.5 15.4 11.8 3.6
500 ~ 6000+ 0] 8F 100.0 54.5 16.1 38.4 31.8 13.8 10.9 29
6008+ Of At 100.0 59.8 19.3 40.5 272 13.0 9.9 3.0
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39-1. AEY 27 ST(194 014)
" R & 5tHK|
=5 0 < o 2 | o g | o
<SHsS, 28 okl 2401 >
<2016>
= 2 100.0 93.2 45.0 48.1 6.8
<2018>
S| 2 100.0 93.6 46.6 47.0 6.4 6.1 03
T ANEs ®) 100.0 93.8 46.3 475 6.2 5.9 03
EIEED) 100.0 92.7 477 45.1 7.3 6.9 0.4
Lt Xt 100.0 93.1 457 473 6.9 6.6 0.4
ol Xt 100.0 94.7 483 46.4 5.3 5.2 0.1
19 ~ 29 Al 100.0 92.0 41.0 51.0 8.0 7.8 0.2
30 ~ 39 Al 100.0 923 438 484 7.7 7.4 03
40 ~ 49 Al 100.0 93.8 45.6 482 6.2 5.9 0.2
50 ~ 59 Al 100.0 94.3 477 46.6 5.7 5.3 03
60 M Ol A 100.0 94.7 53.4 413 5.3 4.9 0.4
65 M 0l A 100.0 95.3 54.8 40.6 47 44 03
<EH =8 X6 >
<2016>
bS] 2 100.0 91.3 38.7 525 8.7 8.2 0.5
<2018>
bS] 2 100.0 91.1 40.8 50.3 8.9 8.6 03
T AE ) 100.0 91.2 405 50.7 8.8 8.5 0.3
NEICEE) 100.0 90.7 42.1 48.6 9.3 9.0 0.3
Lt Xt 100.0 89.8 38.7 51.1 102 9.8 0.4
o Xt 100.0 93.7 45.1 48.6 6.3 6.1 02
19 ~ 29 Al 100.0 88.3 37.9 50.4 11.7 10.9 0.8
30 ~ 39 Al 100.0 89.1 36.8 523 10.9 10.5 0.4
40 ~ 49 Al 100.0 91.7 40.0 51.7 8.3 8.1 02
50 ~ 59 Al 100.0 91.8 415 50.2 8.2 8.0 02
60 Al O & 100.0 93.7 48.6 45.1 6.3 6.2 02
65 A O & 100.0 94.0 51.0 43.1 6.0 5.8 02
<EQRS B3N 2435 51 >
<2016>
= 2 100.0 92.6 438 487 7.4 6.9 0.6
<2018>
] 2 100.0 93.1 453 478 6.9 6.6 03
T AE ) 100.0 93.5 457 478 6.5 6.3 02
SOHE(SHL) 100.0 91.6 437 479 8.4 8.1 0.3
Lt Xt 100.0 92.6 433 493 74 72 0.3
o Xt 100.0 94.2 493 449 5.8 5.5 0.3
19 ~ 29 Al 100.0 91.0 414 495 9.0 8.7 0.3
30 ~ 39 Al 100.0 91.2 404 50.8 8.8 8.4 0.4
40 ~ 49 Al 100.0 93.5 453 482 6.5 6.3 02
50 ~ 59 Al 100.0 94.5 46.7 478 5.5 53 02
60 Al O & 100.0 94.3 52.1 422 5.7 5.5 02
65 A O & 100.0 94.4 53.8 40.6 5.6 5.4 02
F1)'BANSHE SHSHD S8 1Y
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39-1. detd 27 S2(19A o|&h) - A5
(&2 %)
- N 25X )
-e 0 < ok 2t o = 84 2 PG
< ElOI0] 201 F=II18o=2 HHo6D| >
<2016>
A =2 100.0 81.0 34.2 46.8 19.0 17.2 1.8
<2018>
b 2 100.0 82.3 35.9 46.4 17.7 16.4 1.3
T AE 8 100.0 82.3 35.7 46.6 17.7 16.4 1.3
=0 E(SHE) 100.0 82.1 36.8 453 17.9 16.3 1.6
o Xt 100.0 85.2 38.1 47.1 14.8 13.7 1.1
o4 Xt 100.0 76.3 31.6 44.8 23.7 21.8 1.9
19 ~ 29 Al 100.0 76.9 31.8 45.1 23.1 20.8 2.4
30 ~ 39 Al 100.0 78.7 31.9 46.8 213 19.4 2.0
40 ~ 49 Al 100.0 81.8 34.1 47.8 18.2 16.9 1.3
50 ~ 59 Al 100.0 84.5 38.4 46.1 15.5 14.6 1.0
60 Al O &t 100.0 87.8 435 44.4 12.2 11.6 0.5
65 Ml 0] & 100.0 88.6 45.6 43.0 11.4 10.7 0.7
<& EQRSHX &2 & MX 2| >
<2016>
b 2 100.0 81.2 323 48.9 18.8 17.3 1.4
<2018>
A =2 100.0 79.7 32.9 46.8 20.3 18.6 1.7
T OAE 8 100.0 79.6 325 47.1 20.4 18.6 1.8
=SHEESHE) 100.0 80.2 34.4 45.8 19.8 18.6 1.2
et Xt 100.0 79.3 32.4 46.9 20.7 18.9 1.8
of Xt 100.0 80.6 33.9 46.7 19.4 18.0 1.4
19 ~ 29 A 100.0 76.5 33.0 435 23.5 21.4 2.1
30 ~ 39 Al 100.0 75.1 27.5 47.6 24.9 222 2.6
40 ~ 49 A 100.0 80.0 31.8 483 20.0 18.3 1.6
50 ~ 59 Al 100.0 81.5 33.8 47.8 18.5 17.5 1.0
60 Ml O] & 100.0 84.4 40.9 435 15.6 143 1.3
65 Ml O] & 100.0 85.6 43.9 41.7 14.4 12.9 1.5
F 1) 'EA UISKE 2D SEs 1Y
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39-2. LEA EHH &

(EH2I: %)
Al NSXUS | goumao | eumome | MNSUES
<2016>
bS] = 100.0 59.1 16.4 83.6 40.9
<2018>

bS] = 100.0 59.8 15.8 84.2 40.2
S ANE =2B) 100.0 59.9 17.1 82.9 40.1
EVESCEEE)) 100.0 59.7 9.6 90.4 40.3
ot Xt 100.0 69.6 15.4 84.6 30.4
Xt 100.0 31.6 18.3 81.7 68.4
o = = e 100.0 47.2 13.6 86.4 52.8
o m E 100.0 72.2 16.5 83.5 27.8
b E} 100.0 49.6 17.0 83.0 50.4
19 ~ 29 Al 100.0 29.2 23.9 76.1 70.8
30 ~ 39 Al 100.0 72.4 15.1 84.9 27.6
40 ~ 49 Al 100.0 74.4 14.6 85.4 25.6
50 ~ 59 Al 100.0 70.0 16.3 83.7 30.0
60 Al O & 100.0 42.8 16.1 83.9 57.2
65 Ml 0 & 100.0 34.0 16.8 83.2 66.0
X = 0 & 100.0 23.1 11.0 89.0 76.9
= = 100.0 50.8 13.4 86.6 492
il = 100.0 61.2 14.3 85.7 38.8
= o 4 100.0 74.1 17.9 82.1 25.9
H o2 2 2 100.0 75.4 16.7 83.3 24.6
Ab = 100.0 76.9 18.8 81.2 23.1
A Hl A EoOf 100.0 63.6 14.0 86.0 36.4
= o o 100.0 62.6 7.2 92.8 37.4
s & = 100.0 66.0 13.0 87.0 34.0

b7 HER AS
1002t 0|8t 100.0 14.9 16.2 83.8 85.1
100 ~ 2008+ 0| et 100.0 442 14.3 85.7 55.8
200 ~ 3008+ 0|8t 100.0 65.4 15.8 84.2 34.6
300 ~ 4008+ 0|8t 100.0 75.4 15.2 84.8 24.6
400 ~ 5008+ 0|t 100.0 82.8 16.5 83.5 17.2
500 ~ 6008+ 0|8t 100.0 83.0 14.1 85.9 17.0
6002t O A 100.0 84.3 18.2 81.8 15.7
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